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.REM X

IDENTIFICATION

PRODUCT CODE: AC-8218B-MC

PRODUCT NAME: CVKAJBO DIS DECMAL INSTR TST
PRODUCT DATE: JANUARY 1982

MAINTAINER: DIAGNOSTIC ENGINEERING

COPYRIGHT (C) 1977, 1v¥82 BY
DIGITAL. EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS
ALL RIGHTS RESERVED

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY
BE USED AND COPIED ONLY IN ACCORDANCE WITH THE TERMS
OF SUCH LICENSE AND WITH THE INCLUSION OF THE ABOVE
COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER COPIES
THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAIL-
ABLE TO ANY OTMER PERSON. NO TITLE TO AND OWNERSHIP
OF THE SOFTWARE 1S HEREBY TRANSFERRED.

THE INFORMATION IN THIS SOFTWARE 1S SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED AS A (OM-
MITTMENT BY DIGITAL EQUIPMENT CORPORATION.

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR
RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS
NOT SUPPLIED BY DIGITAL.

THE FOLLOWING ARE TRADEMARKS OF DIGITAL EQUIPMENT CORPORATION:

DEC PDP UNIBUS MASSBUS
DECUS DECTAPE VAX
[} L4 T v v T T ]

ipipiegipiviaigd
[ ] [] [] 1 [} ] ] $

SEQ 0001
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33
gg 1.0 GENERAL INFORMATION
60
61
g% 1.7 ABSTRACT
64 THIS DIAGNOSTIC VERIFIES THE OPERATION OF THE DIBOL DECIMAL
65 INSTRUCTIONS OF THE LSI-11 {ADDN,SUBN CMPN,CVTNL].
66 THE PROGRAM CHECKS THAT EACH INSTRUCTION IS INTERRUPTABLE
67 USING THE CONSOLE SLU INTERFACE(SEE PARA 2.3.4) AND RUNS ALTERNATE
- 68 PASSES WITH THE TRACE TRAP_EMABLED, UNLESS INMIBITED
69 8Y THE SWITCH REGISTER (2.%.1).
70 THE PROGRAM IS DESIGNED TO RUN ON AN LSI-11 WITH 4K OF MEMORY AND
71 THE DIS MICROMS. IT CAN BE RUN UNDER XXDP+, APT, AND ACT MONITORS.
;% THE SOFTWARE SWITCH REGISTER IS AT LOCATION 176.
74 TO FULLY TEST THE LSI-11 DIBOL INSTRUCTION SET MICROMS, THE
;g FOLLOWING DIAGNOSTICS MUST BE RUN:
77 CVKAI* DIS MOVE & STRING INSTRUCTION TEST
78 CVKAJ* [THIS DIAGNOSTIC]
gg CVKAB* LSI-11 EIS INSTRUCTION TEST
g} WHERE ''¢*' IS THE LASTED REVISION
83
84
gg 1.2 SYSTEM REQUIREMENTS
87
88
gg 1.2.1  EQUIPMENT
9N LSI=11(KD11=P) WITH A SERIAL LINE INTERFACE AND
92 4K OF MEMORY
93
94
gg 1.2.2  STORAGE
zg THE PROGRAM USES MEMORY FROM 000000 TO 017104.
99
%8? 1.2.3  PRELIMINARY PROGRAMS
}8% IT IS ASSUMED THAT THE FOLLOWING DIAGNOSTICS HAVE BEEN RUN:
104 LSI-11 BASIC CPU TEST CVKAA®
}82 LSI-11 TRAPS TEST CVKAD*
}8; WHERE '+’ IS THE LASTED REVISION
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2

2.0 OPERATING INSTRUCTIONS

2.1 LOADING PROCEDURES

CAN BE LOADED UNDER XXDP+ OR
USE STANDARD PROCEDURE FOR PDP=11 ABSOLUTE BINARY FORMATTED TAPES

2.2 STARTING PROCEDURE

LOAD THE SWITCH REGISTER WITH THE DESIRED SETTING
(SOF TWARE SWITCH REGISTER LOCATION = 176)

THE PROGRAM SHOULD ALWAYS BE STARTED AT 200.

STARTING AT 200, THE PROGRAM CLEARS ALL PROGRAM PARAMETERS AND
THEN PRINTS ITS MAINDEC IDENTIFICATION. 'END PAS>'’' 1S PRINTED
AT THE END OF EACH FULL PASS OF THE DIAGNOSTIC.

2.3 OPERATING PROCEDURES

2.3.1 OPERATIONAL SWITCH REGISTER

LN N NN NN PO NN POPO NI NINON) b b b od b d b b b
OIS NN =O OO NP NS WNI=O OB NOVSWNIN—=O

NOTE: Q%EHTVPEOUTS CAN BE SUPPRESSED BY MAKING BITS OF BYTE SENVM

e D oD e i e o e comd e omd D D e b b b D b b D D d D rd e D vd d D D e oD o o d D e oD b omd D b

37 LOCATION 176 IS USED FOR THE SOF TWARE SWITCH REGISTER AND
38 THE FOLLOWING OPTIONS MAY BE SELECTED BY INSERTING A 1 IN THEIR
28 RESPECTIVE BIT POSITIONS.
41 8IT15 = HALT ON ERROR
42 BIT14 - SCOPE LoOOP
43 BIT13 = INHIBIT ERROR TYPEOUT
44 BIT12 = INHIBIT TRACE TRAP
45 BITI = UNUSED
46 BIT10 = UNUSED
47 81709 - LOOP ON ERROR
48 81708 - LOOP ON TEST IN SWR<05:00>
gg 81107 ~ INMIBIT INTERRUPTABILITY TESTS
51
2
3

Nddval
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RUNNING UNDER APT
THE APT MAILBOX-ETABLE IS LOCATED AT LOCATION 566.

USING THE CONSOLE INTERFACE AS THE INTERRUPTING DEVICE,

THE INTERRUPTABILTIY TESTS WILL BE RUN ON ONLY THE FIRST PASS TO

AVOID INTERFERENCE WITH THE APT INTERFACE. IF INTERRUPTABILITY

TESTS ARE DESIRED ON ALL PASSES, ANOTHER SLU MUST BE SUPPLIED

AND 1TS RECEIVER STATUS REGISTER ADDRZSS , ITS INTERRUPT VECTOR MUST

BE PLACED IN THE APT E~TABLE AT LOCATIONS ‘‘SBASE'' & ‘‘SVECT1'* RESPECTIVELY.

RUN WITH ALTERNATE CONSOLE ADDRESS

TO USE A CONSOLE ADDRESS OTHER THAN 177560, THE OPERATOR
MUST SUPPLY THE PROSRAM WITH THE CORRECT ADDRESSES BY INSERTING THEM
AT THE LOCATIONS LABELED:

$7KS:  RCSR ADDRESS
$TKB:  RBUF ADDRESS
$TPS:  TCSR ADDRESS
$TPB:  TBUF ADDRESS

RUN INTERRUPT TESTS WITH ALTERNATE SLU

TO USE A SERIAL LINE INTERFACE ADDRESS OTHER THAN THE STANDARD
CONSOLE ADDRESS (177560), THE OPERATOR MUST SUPPLY THE CORRECT ADDRESS
AND INTERRUPT VECTOR BY INSERTING THEM IN THE LOCATIONS LABELED:

$BASE: *RCSR ADDRESS*
SVECT1: =RECEIVER INTERRUPT VECTOR®




MAIN. MACY11 30(1046) 22~JAN-82 08:50 PAGE 6
CVKAJB.P11 22=-JAN-82 08:49 SEQ 0C05

188

Py
o0
0

2.4 EXECUTION TIMES

THE GIVEN EXECUTION TIMES TAKE INTO ACCOUNT THE RANDOM CHARACTERISTIC

OF THE INTERRUPT TESTS. THE EXECUTION TIME OF THE FIRST PASS 1S APPROXIMATELY
10 SECONDS; BUT SUBSEGUENT PASSES WITH INTERRUPT TESTS ENABLED COULD

TAKE AS LONG AS 32 SECONDS. THEREFORE THE 32 SECOND EXECUTION TIME IS USED.
THE PASS TIME WITHCJT INTERRUPTS IS APPROXIMATELY 2 SECONDS.

N b e d b e s b b d b
B LR2RLE2S

Q
Q

%8]? 3.0 ERROR REPORTING

203 IF A ROUTINE FAILS AND THE INHIBIT ERROR TYPEOUT (BIT13) OF THE SWR

204 IS NOT SET, THE PC OF THE ERROR IS PRINTED. THE OPERATOR CAN FIND

205 THE ERROR REPOR7 IN THE COMMENT FIELD OF THAT PC LOCATION IN

206 THE PROGRAM LISTING. IF HALT ON ERROR (BIT15) OF THE SWR IS SET

207 THE PROGRAM WILL HALT AFTER PRINTING THE ERROR PC AND ENTER THE

588 MACHINE ODT.

210 E.G. XXXXXX <==PC OF THE ERROR
XXXXXX <~=PC+2 OF THE HALT ON ERROR LOCATION
] <=-0DT ENTERED

WHERE *“XXXXXX'' IS AN OCTAL VALUE

NN NN
b ek od b b d b
NN N =
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4.0

61

4.2

4.3

4.4

SEQ 0006

SUBROJTINE ABSTRACTS

TRAPCATCHER

A "'.+2 = HALT'' SEQUENCE IS REPEATED FROM 0-776 TO CATCH ALL UNEXPECTED
TRAPS. THUS ALL UNEXPECTED TRAPS OR INTERRUPTS WILL HALT

AT THE VECTOR+2, EXCEPT TRAPS TO LOCATION 0,4, & 10 WHICH GO_TO

THEIR RESPECTIVE REPORTING ROUTINES “TZERQ’",'‘TIMTRP'’, & "'ILLTRP''.

THE OTHER EXCEPTION IS LOCATION 100 (RTC INTERRUPT VECTOR)

WHICH CONTAINS A ‘.42 = RTI'® SEQUENCE (RETURNS FROM THE INTERRUPT).

THIS ROUTINE CALL IS PLACED BETWEEN EACH SUBTEST. IT RECORDS THE
STARTING ADDRESS OF EACH SUBTEST AS IT IS BEING ENTERED & UPDATES
THE TEST NUMBER. IF A SCOPE LOOP IS REQUES D IT WILL JUWP

TO THE START OF THE SUBTEST AT WHICH TH™ SCOPE LOOP IS REQUESTED.

ERROR

THIS ROUTINE CALL IS PLACED WHEREEVER AN ERROR REPORT IS VESIRED. THE

LOWER BYTE OF TH1S CALL IS USED AS THE ERROR NUMBER. THIS ROUTINE

REPORTS ERRORS TO APT USING SAPTYPE'', TYPES ERRORS TO THE CONSOLE USING THE
"STYPE" £ 'STYPOCT'® ROUTINES, AND HANDLES ERROR RESPONSES VIA SWR SETTINGS.

THIS ROUTINE SAVES ALL GENERAL REGISTERS DURING POJER-DOWN AND
RESTORES THEM AT POWER-UP. IF A POWER FAILURE OCCURS °'POMWER'’ IS
PRINTED AT THE CONSOLE AFTER POWER IS RESTORED AND THE PROGRAM
IS RESTARTED AT TEST# 1.
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4.5

4.6

4.7

4.5

SE% 0007

THIS ROUTIN

E IS USED TO STORE A COPY OF THE INSTRUCTION TEST
ARGUMENTS TO BE

STORED IN RO-->RS5.

GENR

THIS ROUTINE IS USED TO TRANSFER INSTRUCTION TEST ARGUMENTS
TO THE GENERAL REGISTERS AND TO COPY THE STACK POINTER BEFORE THE
TEST INSTRUCTION EXECUTION.

XPSW

THIS ROUTINE 1S USED TO STORED THE EXPECTED PSW OF THE INSTRUCTION
TEST AND TO SET THE T-BIT IN THE EXPECTED PSW ON PASSES USING
THE TRACE TRAP.

INTR

THIS ROUTINE 1S USED TO DETECT WHEN THE TEST INSTRUCTION HAS
BEEN INTERRUPTED AND TO CONTINUE THE INTERRUPY STREAM UNTIL THE
INSTRUCTION IS INTERRUPTED.
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288
289
290 5.0  MISCELLANEOUS
291
292
293
29 5.1  STACK POINTER
29 STACK POINTER IS INITIALLY SET TO 500 (OCTAL).
298
299 5.2  PASS COUNT
301 A 16 BIT LOCATION 'SPASS'' IS USED TO KEEP THE PASS COUNT. IT IS
302 CLEARED BY STARTING AT 200.
303
304
305 5.3  TEST NUMBER
307 A 16 BIT LOCATION "STSTNM'' IS USED TO KEEP TSACK OF THE SUBTEST
308 NUMBER. THIS NUMBER IS ALSO PLACED IN THE APT E-TABLE AT 'STESTN
309 WHEN UNDER APT.
310
m
e 5.4  POMER FAIL
314 THE DIAGNOSTIC CAN BE POWER FAILED WITH NO ERRORS. AFTER POWERING
315 DOWN AND THEN UP AGAIN, THE PROGRAM WILL RESTAR FROM TESTA 1
31y (1.E., RESTARTS THE PASS THAT WAS INTERRUPTED) AFTER TYPING 'POWER"
317 T0 THE CONSOLE, HOWEVER IF THE PROGRAM IS STORED IN MOS MEMORY
318 THAT CAN NOT HOLD DATA WITH POMER DOWN, THEN THE PROGRAM WILL NOT
319 RECOVER FROM A POWER FAIL.
321
322
323 5.5  EVENT INTERRUPTS
325 THIS DIAGNOSTIC CAN BE RUN WITH THE REAL TIME CLOCK ACTIVE
326 CINTERRUPT = 100). LOCATION 100 POINTS TO LOCATION 102
327 WHICH CONTAINS AN 'RTI** INSTRUCTION. THUS ON CLOCK INTERRUPTS,
3¢8 AN RTI IS EXECUTED TO HANDLED IT.
330
331 X
332
333 .ENABLE ABS
334 TLIST  ME
335 CNLIST MC.MD,CND
336
337
338
339
340
341
342
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.SBTTL BASIC DEFINITIONS

:'lNlTIA%1sgbRE$$ OF THE STACK POINTER ##* 1100 ##+

;sBASIC DEFINITION OF ERROR CALL
+:BASIC DEFINITION OF SCOPE CALL

ONS
:;CODE FOR HORIZONTAL TAB

:;CODE FOR LINE FEED

;:CODE FOR CARRIAGE RETURN

:;CODE FOR CARRIAGE RETURN-LINE FEED
:;PROCESSOR STATUS WORD

3sSTACK LIMIT REGISTER

: ;PROGRAM INTERRUPT REQUEST REGISTER
s HARDWARE SWITCH REGISTER

s HARDWARE DISPLAY REGISTER

STACK=
.EQUIV EMT,ERROR
.EQUIV I0T,sCOPc

s*MISCELLANEOUS DEFINITI
HT= 11

LF= 12
CR= 15

CRLF
PS= 177776
.EQUIV PS,PSW
STKLMT= 177776
PIRQ= 177772
DSWR= 177570
pDISP= 177570

aaﬁENERA%OPURPOSE REGISTER DEF INITIONS

R1= X1

R2= X2
R3= X3
Ré= X4
R5= x5
Ré= {:]
R7= X7
SP= 26
PC= X7

:*PRIORITY LEVEL DEFINIT
PRO= 0

:.GENERAL REGISTER

;s STACK POINTER
: ;PROGRAM COUNTER

IONS
:;PRIORITY LEVEL O

SEQ 0009
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400 000040 PR1= 40 s:PRIORITY LEVEL 1
401 000100 PR2= 100 ;;PRIORITY LEVEL i
402 000140 PR3= 140 ;sPRIORITY LEVEL
403 000200 PR4= 200 ;sPRIORITY LEVEL &
404 000240 PRS= 240 :sPRIORITY LEVEL 5
405 000300 PR6= 300 s ;PRIORITY LEVEL 6
289 000340 PR7= 340 ssPRIORITY LEVEL 7
408 ;' 'SWITCH REGISTER'' SWITCH DEFINITIONS
409 100000 swi5= 100000

410 040000 swWi4= 40000

411 020000 Swi3= 20000

412 010000 swi2= 10000

613 004000 sWwil= 4000

414 002000 Swi0= 2000

415 001000 sw09= 1000

416 000400 swo8= 400

417 000200 swo7= 200

418 000100 swoé= 100

419 000040 SWo5= 40

420 000020 SWo4= 20

621 000010 swo3= 10

422 000004 SWo2= &

423 000002 swoil= 2

424 000001 SWo0= 1

425 .EQUIV SW09,SW9

426 .EQUIV SW08,Sw8

427 .EQUIV SW07,SW7

428 .EQUIV SWO06,SW6

429 .EQUIV  SWO05,SW5

430 .EQUIV SW04,SWé4

431 EQUIV SW03,SwW3

432 .EQUIV SW02,Swe

433 EQUIV SWO01,sw1

2;2 EQUIV SW00,SW0

436 :*DATA BIT DEFINITIONS (BITOO TO BIT15)
437 100000 BI1T15= 10000

438 040000 BIT14= 40000

439 020000 8I1T13= 20000

440 010000 BIT12= 10000

441 004000 8IT11= 4000

442 002000 1T10= 2000

443 001000 81709= 1000

444 000400 BI1708= 400

445 000200 81707= 200

446 000100 BIT06= 100

447 000040 BIT05=

448 000020 BITO4= 20

449 000010 B8I1703= 10

450 000004 BIT02= 4

651 000002 BIT01= 2

452 000001 817T00= 1

453 .EQulv BIT09,BIT9

454 .EQUIV B1T108,81T8

455 .EQulv 81T707,8I1T7
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456 .EQUIV BIT06,BIT6
457 -EQUIV BIT05.BITS |
458 -EQUIV BIT04.BIT4
459 "EQUIV BIT03.81T3
460 .EQUIV BIT02.BIT2 |
461 -EQUIV BITO1.BIT1
46 .EQUIV BIT00,BITO
464 ;#4BASIC ''CPU'* TRAP VECTOR ADDRESSES
465 000004 ERRVEC= & TIME OUT AND OTHER ERRORS
468 000010 RESVEC= 10 ,.R’SERVED AND ILLEGAL INSTRUCTIONS
467 000014 TBITVEC=14 ST BIT
468 000014 TRIVEC= 14 : 1 TRACE TRAP
469 000014 BPTVEC= 14 : :BREAKPOINT TRAP (BPT)
470 000020 I0TVEC= 20 ..INPUT/OUTPUT TRAP (IOT) *#SCOPE*+
471 00004 PWRVEC= 24 : :POWER FAIL
472 000030 EMTVEC= 30 : 3EMULATOR TRAP (EMT) #+ERRORws
473 000034 TRAPVEC=34 : "TRAP"* TRAP
474 000060 TKVEC= 60 :3TTY KEYBOARD VECTOR
475 000064 TPVEC= 64 :3TTY PRINTER VECTOR
476 000240 PIRQVE (=240 *PROGRAM INTERRUPT REQUEST VECTOR ;
477 000200 APTS1ZE= 560
478 000001 APTENV= (01
479 000100 APTSPOOL = 100
480 000040 APTCSUP= 0
481 171400 SSWR= 171400
482 000300 SSWRMK= 300
483 000020 18IT= 20
484 000001 STN= 1
485 000001 N= 1
486 000000 X= SIN-1
487 122777 NXM=_ 177777
488 177560 ABASE= 177560
489 000060 AVECT1= 60
490 000000 .=0
491
492
493
494
49 .SBTTL TRAP CATCHER
497 000000 =0
498 ;*ALL UNUSED LOCATIONS FROM & = 776 CONTAIN A ‘. +2 HALT"
499 :«SEGUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
200 000174 *LOCA110~19 CONTAINS O TO CATCH IMPROPERLY LOADED VECTORS
502 000174 000000 DISPREG: .WORD 0 : :SOFTWARE DISPLAY REGISTER
503 000176 000000 SWREG: . .WORD O ::SOFTWARE SWITCH REGISTER
505
506 000000 .=0
507 000000 014702 TZER0 ;SET LOCATIONS 0,4.6 TO ERROR REPORTS
508 000002 000340 340

509 000004 014712 TIMTRP
510 0CGu06 000340 340
511 000010 014722 ILLTRP




.MAIN,

(VKAJB.

w
-
N

(A %1V, IV 1V IV, [V, ]V, 1V ]

PIOPON) = b b e b a0
N = O 000 ~NO N

523

MACY11_30(1046)

P
000012

000100

000102

000200

000046
000052

000024
000044

000400

22-JAN-82 08:50 PAGE_13

22-JAN-82 08:4

000340

000002

000200
000167

000400

000400

000400

000400

000400

000000

000027

000512

TRAP CATCHER
= 340

.=100
WORD 102 sHANDLE EVENT LINE INTERRUPTS
.WORD 2

.=200
JMP START ;STARTING LOCATION FOR PROGRAM

=400
.SBTTL ACT11 HOOKS

tttttttﬁiﬁtttttititﬁttttttttitttttttttttttttttttttttttttttttttt

HOOKS REQUIRED BY ACTI
$SVPC=. sSAVE PC

b 4
SEggAD :s1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP

MORD O ..Z)SET LOC. 52 TO ZERO
=$SVPC :: RESTORE P
.SBTTL APT PARAMETER BLOCK

ttttttttttttitttttttttttttttttttttttttttttttttttttttttttttttttt

SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
TRRARRRARARRR RN RRNANAANRNNANNARANARN AN AR A RN RN RNRRNRRNNRNR
K=, ..SAVE CURRENT LOCATION
.=24 sSET POWER FAIL TO POINT TO START OF PROGRAM
200 ..FOR APT START UP
.44 ;POINT TO APT INDIRECT ADDRESS PNTR.
$APTHDR ::POINT TO APT HEADER BLOCK
.=.8X  ;;RESET LOCATION COUNTER
AR RARNRARARRNNNNRRARAARANANAAAAANRAARARAAARRRNNRAANRRRRR AR RN S
§5¥g£rﬁgg gsgeHETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC

$APTHD :

SEQ 0012

SHIBTS' WORD O :;TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

SMBADR: .WORD SMAIL  ;;ADDRESS OF APT MAILBOX (BITS 0-15)

$TSTM: _WORD 30 :sRUN TIM OF LONGEST TEST

SPASTM: .WORD 40 :2RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
SUNITM: .WORD : :ADD TIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT

.WORD SETEND-SﬁAI 2 ;;LENGTH MAILS0X-ETABLE (WORDS)
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gg? .SBTTL COMMON TAGS
56 'tt'tt't't'tttttttttt't'ttttttitttttttiitttttttittittttt.tt..t.
56 tTHIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
ggls. +*USED IN THE PROGRAM.
566 000500 .=500
%7 000500 SCMTAG: ;:START OF COMMON TAGS
568 000500 000000 WORD 0
269 00050% 000 $TSTNM: .BYTE O :;CONTAINS THE TEST NUMBER
570 00050 000 SERFLG: .BYTE O :CONTAINS ERROR FLAG
571 888504 000000 SICNT: .WORD O :sCONTAINS SUBTEST ITERATION COUNT
572 506 000000 SLPADR: .WORD 0 ..CONTAINS SCOPE LOOP ADDRESS
573 000510 000000 SLPERR: .WORD 0 s :CONTAINS SCOPE RETURN FOR ERRORS
574 000512 000000 SERTTL: .WORD ( ..CONTAINS TOTAL ERRORS DETECTED
575 000514 000 SITEMB: .BYTE O s s CONTAINS ITEH CONTROL BYTE
576 000515 001 SERMAX: .BYTE 1 :;CONTAINS MAX. ERRORS PER TEST
577 000516 000000 SERRPC: .WORD 0 ::CONTAINS PC OF LAST ERROR INSTRUCTION
578 000520 000000 $SGDADR: .WORD 0 :CONTAINS ADDRESS OF 'GOOD® DATA
579 0005%2 000000 $BDADR: .WORD O :CONTAINS ADDRESS OF °BAD® DATA
580 000524 000000 $GDDAT: .WORD 0 ;s CONTAINS 'G00D* DATA
581 0005%6 000000 $8DDAT: .WORD O s CONTAINS 'BAD® DATA
582 000530 000000 JWORD 0 : ;RESERVED==NOT TO BE USED
583 000532 000000 LMWORD O
584 000534 00 SAUTOB: .BYTE 0 ssAUTOMATIC MODE INDICATOR
585 000535 SINTAG: .BYTE 0 ;s INTERRUPT MODE INDICATOR
586 000536 000000 JMORD 0
587 000540 177570 SWR: WORD  DSWR : :ADDRESS OF SWITCH REGISTER
S88 000542 177570 DISPLAY: .WORD DDISP : ;ADDRESS OF DISPLAY REGISTER
S89 000544 177560 $TKS: 177560 ..TT Y KBD STATUS
590 000546 177562 $TKB: 177562 2TTY KBD BUFFER
591 000550 177564 $TPS: 177564 $3TTY PRINTER STATUS REG. ADDRESS
592 000552 177566 $TPB: 177566 s:TTY PRINTER BUFFER REG. ADDRESS
593 000554 000 SNULL: .BYTE O :2CONTAINS NULL CHARACTER FOR FILLS
594 000555 002 $SFILLS: .BYTE 2 ..CMTAINS # OF FILLER CHARACTERS REQUIRED
595 000556 012 $FILLC: .BYTE 12 & NSERT FILL CHARS. AFTER A 'LINE FEED''
596 000557 000 $TPFLG: .BYTE O :'TERMINAL AVAILABLE'® FLAG (BIT<07>=0=YES)
597 888560 000000 SESCAPE:0 :ESCAPE ON_ERROR ADDRESS
598 Sbi 077 SQUES: .ASCII /%/ ; 3QUESTION MARK
599 00056 015 SCRLF: .ASCII <15 ..CARRIAGE RETURN
600 000564 000012 SLF ASCIZ <1 ¢ sLINE FEED
601 ttttttttttttttttttttttttttttttt-:ttttttttttttttttttttttttttttttt
28 "SBTTL APT MAILBOX-ETABLE
604 ;;nunnnttnn"nnntntnnnnnnnnnnnnnnnnnnn
605 .EVEN
609 SMAIL: T _MAILBOX
60 SMSGTY: .WORD  AMSGTY ..HESSAGE TYPE CODE
608 SFATAL: .WORD  AFATAL ; FATAL ERROR NUMBER
609 STESIN: .WORD ATESIN ..TEST NUMBER
610 $PASS: .WORD  APASS PASS COUNT
611 $DEVCT: .WORD  ADEVCT ..DEVICE COUNT
61§ IT: .WORD  AUNIT 170 UNIT NUMBER
61 SMSGAD: .WORD  AMSGAD ..*SSAGE ADDRESS
614 SMSGLG: .WORD AMSGLG ;;MESSAGE LENG
615 SETABLE: ;s APT ENVIRMNT TABLE
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APT MAILBOX-ETABLE

SENV:
SENVM:

$SWREG: .

SUSWR:

»

$CPUOP: .

.BYTE

: .BYTE
: .BYTE

AENV
AENVM
ASWREG
AUSWR
ACPUOP

; sENVIRONMENT BYTE
*{ENVIRONMENT MODE B1TS
*IAPT SWITCH REGISTER
PSUSER SWITCHES
1*CPU TYPE.OPTIONS
8iTS 15-11=CPU TYPE
11704=01,11/05=02,11/20=03,11/40=04 ,11/45=05
11770=06.PD0=07.0=10
0=REAL TIME CLOCK
9=FLOATING POINT PROCESSOR
8=MEMORY MANAGEMENT
1GH ADDRESS.M.S. BYTE
MEM. TYPE,BLKAI
EM.TYPE BYTE =~ (HIGM BYTE)
900 NSEC CORE=00"
300 NSEC BIPOLAR .02
500 NSEC M05=0032
::HIGH ADDRESS,BLKA
MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF '‘TYPE'® ABOVE
::HIGH ADDRESS,M.S. BYTE
*iMEM. TYPE ,BLKN2
*SMEM.LAST ADDRESS ,3LKA2
1:HIGH ADDRESS,M.S.BYTE
* IMEM. TYPE ,BLKA3
* {MEM.LAST ADDRESS,BLKN3
tSMIGH ADDRESS,M.S.BYTE
*SMEM. TYPE ,BLKNS
LSMEM.LAST ADDRESS.BLK#4
SINTERRUPT VECTOR#1,BUS PRIORITY#
L INTERRUPT VECTORN2BUS PRIORITYA2
*:BASE ADDRESS OF EQUIPMENT UNDER TEST

8l
8l
BI
ﬁ'

SEQ 0014
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(VKAJB. P11 22~JAN-82 08:49 ERROR POINTER TABLE SEQ 0015
gl_.g .SBTTL ERROR POINTER TABLE

J
651 :*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCW
652 tTHE INFORMATION 1S OBTAINED BY USING THE INDEX NUMBER FOUND 1
653 tLOCATI(N SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT,
654 tNOTE‘I IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
ggz tNOTEZ EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
657 o EM ::POINTS TO THE ERROR MESSAGE
658 % DH ;:POINTS TO THE DATA HEADER
659 i DT ::POINTS TO THE DATA
&? b DF ;:POINTS TO THE DATA FORMAT
662
&2 000644 $ERRTB
665 000644 000000 SI1LN: .WORD 0 ;SOURCEY LENGTH
666 000646 000000 S1ADR: .WORD *SOURCE1 ADDRESS
667 000650 000000 S2LN: .WORD O *SOURDE2 LENGTH
668 (00652 000000 S2ADR: .WORD 0 SOU!CEZ ADDRESS
669 000656 000000 DSTLN: .WORD *DESTINATION LENGTH
670 000656 017044 DSTAD: .WORD  BUF *DESTINATION ADDRESS
671 000660 000000 FILL: .WORD FILL CHARACTER
672 000662 000000 TABLE: .WwORD O *TRANSLATION TABLE ADDRESS
673 000064 177564 TCSR: 177564 TCSR ADDRESS OF SLU USED FOR INTERRUPTS
674 000666 177566 TBUF: 177566 *TBUF ADDRESS
675 000670 000064 TVECT: 64 TRANSHIT INTERRUPT VECTOR
676 000672 000066 TPSW 66 s AND PSW LOCATION
677 000674 000000 PCI: O *ADDRESS OF TEST INSTRUCTION TO INTERRUPT
678 000676 000000 CCODES: 0 SCONDITION CODES AFTER EXECUTION OF TEST INSTRUCTION
679 000700 000000 EXPPSW: 0 *EXPECTED PSW
000702 000000 SAVRG6: 0 STACK POINTER VALUE BEFORE TEST INSTRUCTION EXECUTION
681 000704 000000 BADR6: O ‘BAD STACK POINTER VALUE
682 000706 000000 OLDPC: O *ADDRESS WHERE UNEXPECTED TRAP OR INTERRUPT OCCURRED
683 000710 000000 TEMP: O
684 000712 000000 TEMP1: O
685 000714 000000 TEMP2: 0
686
687
e
690 000716 005067 177646 START: CLR SFATAL ;CLEAR ERROR NO.
691 000722 005067 177640 CLR SMSGTYP :CLEAR MESSAGE TYPE
692 000726 005067 177640 CLR STESTN SCLEAR TEST NO.
&9 .SBTTL INITIALIZE THE COMMON YA 6S
£9% ;CLEAR THE COMMON TAGS (SCMTAG) AREA
695 000732 012706 000500 MOV #SCMTAG,R6 *FIRST LOCATION TO BE CLEARED
69 000736 005026 CLR (R6)+ C EAR MEMORY LOCATION
697 000740 022706 000540 P #SWUR,R6 ;DONE?
698 000744 001374 BNE .- ;LOOP BACK IF NO
699 000746 012706 000500 MoV #500,SP ;SETUP THE STACK POINTER
700 SINITIALIZE A FEW VECTORS
701 000752 012737 015150 000020 MoV #3SCOPE ,a# IOTVEC ;10T v;croa FOR SCOPE ROUTINE
702 001760 015737 000340 ooooiz MOV #340,a#iGTVEC+2 :LEVEL
703 000766 012737 015546 000030 Mov lSERROR NEHTVEC JEMT V;CTOR FOR ERROR ROUTINE
000774 012737 000340 000032 MOV #3460, aPERTVEC+2 :LEVEL
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2828228
SLSVNSIS

—
[=4
O
»H
N
~

016764
000340

SLARY
S~ocoo

001130
001120
000006
000010
177550
013510
001146
001154

000176
000174

177372
000200

000610
013360
017032
000642
000004
000664
000666

000034

013500
177443

000014

000010

013522

000010

177332
177326

177350
177344
177377
177320
000042

INITIALIZE THE COMMON TAGS

MoV #STRAP ,a#TRAPVEC :TRAP VECTOR FOR TRAP CALLS

MOV #340, ¥ TRAPVEC+2; LEVEL 7

MOV #3PUARDN , 3#PWRVEC ;POWER FAILURE VECTOR

MOV #3640, a#PURVEC+2 ;LEVEL 7

MOV SENDCT.SEOPCT  :SETUP END=-OF-PROGRAM COUNTER

CLR $ESCAPE SCLEAR THE ESCAPE ON ERROR ADDRESS

MOVE  #1,SERMAX :ALLOW ONE_ERROR PER TEST
SINITIALIZE THE '‘T-BIT

:THE “END-OF -PASS'’ ($EOP) ROUTINE, WITH A "RTI' OR

MOV #SRTAN,@#TBITVEC ;SET "'T'' BIT VECTOR TO $SRTRN

MOV #3460, @4TBITVEC+2 ;LEVEL 7

MOV #RTI, SRTRN sSET _SRTRN TO A RTI

MOV NRESVEC,TEMP  :SAVE ILLEGAL INSTRUCTION TRAP VECTOR
MoV #28 ,3NRESVEC sTRY TO DO A RTT

CLR ~(SP) ‘puMMy PS
MOV n$,~(SP) SAND PC
RTT STRY THE RTT
18: ggv ggrr.sarnn RTT IS LEGAL--SET SRTRN TO A RTT
$: ADD 70,5P ;RTT ILLEGAL--CLEAN OFF THE STACK
$: MOV TEMP Q#RESVEC  RESTORE JLLEGAL INSTRUCTION TRAP VECTOR
CLR st81f SCLEAR 'T"* BIT SWITCH
MOV #..SLPADR SINITIALIZE THE LOOP ADDRESS FOR SCOPE
MOV 7. JSLPERR *SETUP THE ERROR LOOP ADDRESS
SSETUP FOR A SOFTWARE SWITCH REGISTER.
mov #SUREG, SUR *POINT TO SOFTWARE SWR
MOV #DISPREG,DISPLAY
CLR SPASS :CLEAR PASS COUNT

8lT8 #APTSIZE ,SENVM TEST USER SIZE UNDER aPT

SEQ 0016

' TRAP VECTOR. THEN LOAD LOCATION

I‘TTO'

BEQ 4 “YES,USE NON-APT SWITC
. MOV #SSWREG, SWR “NO,USE APT SWITCH REGISTER
e SENDAD , 3442 ;UNDER ACT11?
?sge BEGIN :BR, IF YES (SKIP PROGRAM ID TYPEOUT WHEN UNDER AACT)
:SET UP ADDRESSES OF SLU TO USE FOR INTERRUPTABILITY TES
mov SNSBASE RO *GET ADDRESS OF THE SLU
ADD #6,R0 SADJUST TO TCSR ADDRESS
MOV RO @¥TCSR *STORE TCSR ADDRESS
TST (RO)+ :ADJUST TO TBUF ADDRESS
MOV RO, SATBUF *STORE TBUF ADDR
MOV aSVECT1.RO *GET SLU INTERRUPT VECTOR
ADD ¥4 RO *ADJUST TO TRANSMIT INTERRUPT VECTOR
MOV RO SNTVECT *STORE TRANSMIT INTERRUPT VECTOR
TST (RO + *ADJUST TO TRANSMIT INTERRUPT PSW
MOV RO, ¥ TPSW *STORE TRANSMIT INTERRUPT PSW LOCATION

BEGIN: MTPS #200 ;SET PRIORITY TO 7

::"'"'.".'.."Qt"""'.'.""'t"""t""t""'t""t"t'tt'

seTEST 1 TEST ""APON'* WITH SOURCE1 LENGTH =0 & SOURCE2 STRING VALID

;:."..".'.'."'.."t""......'...t"..'..'.'.'..."tt'..ttt'.t




-MAIN.

C(VKAJB.P11
61 001304

162 001
763 00131
764 001314
765 001316
1 $6 001; g
767 001
768 001; 4
769 001
1 81
772 881%?2
773 001360
774 1364
775 001366
776 001372
77?7
778 001374
79
780 001376
781
782
783 001400
784
785 001402
786 001402
787 001406
788 001410
789
790
791 001412
792 001416
793 0014620
794
795
796 001422
797 001426
798 001430
799
800
801 001432
802 001436
803 001440
804
805
806 001442
807 001446
808 001450
809
810
811 001452
812 001456
813 001460
814
815
816 001462

MACYTY 30(1046)

22-JAN-82

020267
001401
104004

020467
001401
104006

020567

SZ ~JAN-82 08: 50 PAGE

013420

013474

013366

177236

177230

177222

177214

177212

177200

177354

000012

TST1:

T1:

T1CONT:

648 :

65$:

66$:

67%:

68$:

69%:

E 2

18
TEST *'ADDN'‘ WITH SOURCE1 LENGTH =0 & SOURCEZ STRING VALID
SCOPE
JSR RS NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
0 SOURCE1 LENGTH
s1m *SOURCE1 ADDRESS
1 s SOURCE2 LENGTH
s$em :SOURCE2 ADDRESS
0 JDESTINATION LENGTH
JSR PC,CLBUF CLEAR BUFFER AREA
MoV 3010 TEMPY SAVE TIMEOUT TRAP VECTOR CONTENTS
mov 3012 TEMP2
:83 071C0g;13#10 :POINT TIMEOUT VECTOR TO TEST CONTINUATI(W
JESRD gS,xﬁSU ;STORE EXPECTED PSW VALUE
g§2 PC,GENR ;SET UP GENERAL REGISTERS
ADDN EXECUTE ‘'ADDN'’ INSTRUCTION
ERROR 1 sennnnananenaaaaTEST 1 - ERROR 1enetenneeerenee
DECIHAL INSTRUCTION DID NOT TRAP ON
A ZERO SOURCE1 LENGTH
BR ENDT1
W RO,S1LN ;CHECK RO UNCHANGED
BEQ 64$
ERROR 2 tttttttttttttttTEST 1 = ERROR 2tttasannnsnrante
RO CHANGED
RO SHOULD STILL EQUAL CONTENTS OF ‘‘S1LN'
ggs 2;§S1ADR :CHECK R1 UNCHANGED
ERROR 3 tttttttttttttttTEST 1 = ERROR 3assnncannsnante
*R1 CHANGED
R1 S D STILL EQUAL CONTENTS Of °‘‘STADR'’
{ R2,S2LN CHEC UNCHANGED
BEQ 668
ERROR 4 tstttttt;;tttttTEST 1 = ERROR 4arcnnntannnnene
RZ S D STILL EQUAL THE CONTENTS OF °'S2LN'’
CHECK UNCHANGED

P R3, S2ADR
BEQ 67§
ERROR
P

ERROR

R4 FILL
68

P RS,DSTAD
BEQ 69§
ERROR 7

« ERROR Statesannasernny

THE CONTENTS OF °'S2ADR'

tttttttttttttttTEST 1

HANGED
Rg SHOULD STILL EQUAL
sCHECK R4 UNCHANGED

sennennnnnsenansTEST 1

1RG4 CHANGED
;R4 SHOULD STILL EQUAL
;CHECK RS UNCHANGED

senasnnnnnneeaasTEST 1

;RS CHANGED
sR5 SHOI™.D STILL EQUAL

= ERRCR 6trtentnanennare

THE CONTENTS OF °*FILL''

= ERROR 7starsstsasantnn

THE CONTENTS Of 'DSTAD'’

SEQ (1
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TEST “ADDN'* WITH SOURCE1 LENGTH =0 & SOURCE2 STRING VALID

MAIN. MACYTI1_30(1046)

CVKAJB.PI 22-4AN-82 08:
817 001462 0N 090002
818 0014 6§§§0 177400
819 001472 020067 177202
820 001476 001401
821 001500 104010
&
82
824
825 001502 021627 001376
826 001506 001403
827 001510 011637 000522
828 001514 104011
829
830
831
832 001516 010600
833 001520 062700 000004
834 001526 020037 000702
835 001530 001401
836 001532 104012
837
838
a39
840 001534 012716 001552
841 001540 013766 000700
842 001546 000002
843
844 001550
845 001550 060
846 001551
847 001551 060
848
849
850 001552 016737 177134
851 001560 016737 177130
852
853
854
855
856
857 001566 4
858 001570 004567 013136
859 001574
860 001576 002032
861 001600
862 001602 002033
863 001604
864 001606 004767 013212
865 001612 013767 000010
866 001620 013767 000012
867 0016;2 012737 001664
868 0016 012737 000340
869 001642 004567 013176
870 001646 000217
871 001650 004767 013104
872 001654 000277

000002

000010
000012

177072
177066
000010
000012

18

2s:

3s:

SITY.
$2T1:

ENDT1:

BEQ
ERROR

MOV
MoV
RTI

.BYTE

.BYTE
.EVEN

MoV
MoV

F 2

2(SP) R
0177460 RO
?g.exppsu

10

5§P).0T102
{§P).acsavon

SP,RO

#4 R0

RO, 3#SAVR6
33

12

#ENDT1, (SP)
SNEXPPSW,2(SP)

60
60

TEMP1, 3410
TEMP2. 3412

;CHECK PSW AT TIME OF TRAP

sesnnnnansnsneraTEST 1 ~ ERROR 10teevassestenens
;PSW_ERROR

:EXPECTED PSW IS STORED AT 'EXPPSW'

:RESULTANT PSW IS IN RO

;CHECK ADDRESS OF TRAP

:STORE BAD ADDRESS

ttttttatttttttalfsr 1 = ERROR 11tacnnneanantann
:TRAP ADDRESS ERROR )

EXPECTED ADDRESS IS 'T142"

RESULIANT ADDRESS IS STORED AT ‘'$BDADR’’

:CHECK SP RESTORATION

sesnnananannttatTEST 1 ~ ERROR 12¢ovsenaneannens
:STACK POINTER WAS NOT RESTORED

:EXPECTED SP VALUE IS STORED AT ‘'SAVRG''
:ERRONEOUS SO VALUE IS AT "BADR6'

:RESTORE SP ¢ PSW

SOURCE1 STRING

MOST SIGNIFXCANT DiGIT
SOURCEZ TRING
:MOST SIGNIFICANT DIGIT

;RESTORE TIMEOUT VECTOR CONTENTS

ttt*t"tt'tttttt'.tt'tt*itttt..ttﬁttt'QQ'Qt.".tﬁ'.'.ﬁt..'ﬁ"'.

tTEST 2

AN AR RN RARA AN AN AR R AN RANANE AN AR AAN AN ANNNNAANAANARANREANAANNNACS

TSTZ

SCOPE
JSR

TEST "ADDN'' WITH A POSITIVE LEADING SIGN SOURCE1,

?S,NPREP

?172

§ere

PC,CLBUF
i

¢ VALID SOURCEZ

;PREPARE ARGUHENTS FOR INSTRUCTION TEST
:SOURCE1 LENGTH

:SOURCE1 ADDRESS

:SOURCE2 LENGTH

;SOURCE2 ADDRESS

;DESTINATION LENGTH

:CLEAR BUFFER AREA

:SAVE TIMEOUT TRAP VECTOR CONTENTS

;POINT TIMEOUT VECTOR TO TEST CONTINUATION
;STORE EXPECTED PSW VALUE
;SET UP GENERAL REGISTERS




JMAIN,
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873
874
875
87

87

878
879

MACY1T_30(1046)
22-JAN-82 0

P

001656
001660

001662
001664
001664
001670
001672

001762

001764

076050
104001

000464

020067
601401
104002

020167

020267

001401
104004

104006

020567
001401
104007

SZ -JAN-82 08: 502 PAGE 20

17675¢

176746

176740

176732

176730

176716

000002
177400
176720

001660
000522

T2:

T2CONT:

64$:

658:

66$:

67%:

68s:

69$:

18:

6 2
TEST “'ADDN'* WITH A POSITIVE LEADING SIGN SOURCE1, & VALID SOURCE2

ADDN
ERROR 1

BR ENDT2

™P RO,STLN
BEQ 64$
ERROR 2

CMP R1,S1ADR
BEQ 65§
ERROR 3

(0, R2,S2LN
BEQ 668
ERROR &

cMP R3,S2ADR
BEQ 678
ERROR S

P R4 FILL
BEQ 68§
ERROR 6

(¥ o RS,DSTAD
BEQ 698
ERROR 7

MoV 2(SP) R

8IC c177460 RO
P ?g.sxppsu

8
ERROR 10

CMP (gP).ITZ*Z
%?P),OISBDADR

MoV SP,RO

sEXECUTE “'ADDN'’ INSTRUCTION

JennennnnnnnnndaTEST 2 = ERROR 1ttresannnnnanee

SDECIMAL INSTRUCTION DID NOT TRAP ON
;A POSITIVE LEADING SIGN SOURCE1

;CHECK RO UNCHANGED

tattttttt-ttttttfst 2 = ERROR 2tanarsnnnnnnnee
R ED

:RO _SHOULD STILL EQUAL CONTENTS OF ‘‘SILN'’
sCHECK R1 UNCHANGED

sannanannrenanasTEST 2 < ERROR Jevenvnanennnnee
:R1 CHANGED

:R1 SHOULD STILL EQUAL CONTENTS OF ‘‘S1ADR''
$CHECK R2 UNCHANGED

tsttttttttttttttEST 2 = ERROR Lrsnnensnnsnanny
:R D

RZ S D STILL EQUAL THE CONTENTS OF ‘S2LN"’

: CHECK UNCHANGED

t;tttttttttttttTEST 2 = ERROR Svasnnsnnnennatwe
:R3 CHANGED

R3 SHOULD STILL EQUAL THE CONTENTS OF °‘S2ADR’’
:CHECK R& UNCHANGED

jennnanesnanasaaTEST 2 - ERROR Geennnenecennnne
:R6 CHANGED

:RG SHOULD STILL EQUAL THE CONTENTS OF "FILL'
:CHECK RS UNCHANGED

shnannanaseasanaTEST 2 -~ ERROR 7eetesneneennene
:R5 CHANGED
;RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD'’

;CHECK PSW AT TIME OF TRAP

.ttt'tttttttttttTESf 2 = ERROR 10reetteeseenenee

:PSW_ERROR . .
SEXPECTED PSW IS STORED AT “EXPPSW’
:RESULTANT PSW 1" IN RO
SCHECK ADDRESS OF TRAP

:STORE BAD ADDRESS

-ttttttottttttttfst 2 = ERROR 11estanansnneeens
:TRAP ADDRESS ERROR N

EXPECIED ADDRESS IS °'‘'T2+42 .
RESULTANT ADDRESS IS STORED AT ‘'$BDADR'’

CHECK SP RESTORATION

SEQ 0019
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52 ~JAN-82 08:50_ PAGE 21 |
P11 22-JAN-82 O T2 TEST "'ADDN’’ WITH A POSITIVE LEADING SIGN SOURCET, & VALID SOURCE?2 SEQ 0020
002002 062700 000004 ADD 4,RO
002006 020037 000702 4, RO . WSAVR6
002012 001401 BEQ 33
002014 104012 ERROR 12 ceneannnaennneaaTEST 2 - ERROR \PATTITITIIZLLR
STACK POINTER WAS NOT RESTORED
EXPECTED SP VALUE IS STORED AT ”SAVR6"
ERRMEWS SO VALUE 1S AT 'BADRG'’
002016 012716 002034 38: MOV #ENDTZ, (SP) *RESTORE SP ¢ PSW
002022 013766 000700 000002 MOV SNEXPPSY,2(SP)
002030 000002 RT]
002032 S1T2: ;SOURCE1 STRING
002032 055 .BYTE 55 .nosr SIGNIFICANT DIGIT
002033 S2r2: :SOURCEZ2 STRING
002033 060 E‘YIES 60 :MST SIGNIFJCANT DIGIT
002034 016737 176652 000010 ENDT2: MOV TEMP1,3410 ;RESTORE TIMEOUT VECTOR CONTENTS
002042 016737 176646 000012 mov TEMP2, 3412
AN ERENARRARAR KR AR AN RN R RN ER AN RN NN AN ARANAREN RN RNAN IR RN
-resr 3 TEST *"ADDN'* WITH A NEGATIVE LEADING SIGN SOURCE1, & VALID SOURCE2
SNARE RN EARR LA AR ARERRACL NN AN EAE RN ERNNORRNNNRERANNNE
002050 000004 TST3 SCOPE
002052 004567 012654 JSR RS ,NPREP :PREPARE ARMNTS FOR INSTRUCTION TEST
002056 1 1 JSOURCE1 LENGTH
002060 002314 S1T73 SOlRCE1 ADDRESS
002062 00000 1 *SOURCE2 LENGTH
2064 002315 s2rT3 :SOURCE2 ADDRESS
0029266 0 DESTINATIW LENGTH
002070 004767 012730 JSR ¢, CLBUF :CLEAR BUFFER AREA
002074 013767 000010 176610 mov "iO.TEﬂP‘I SAVE TIMEOUT TRAP VECTOR CONTENTS
002102 013767 000012 176604 MoV a2, TEMP2
002110 012737 002146 000010 MCV #T3CONT ,a#10 ;POINT TIMEOUT VECTOR TO TEST CONTINUATION
002116 012737 000340 000012 MOV 8340, 012
002124 004567 012714 JSR RS XPSW ;STORE EXPECTED PSW VALUE
002130 000217 LWORD 217
002132 004767 012622 JSR PC,GENR ;SET UP GENERAL REGISTERS
002136 000277 SCC
002140 076050 13: ADDN JEXECUTE ""ADDN'' INSTRUCTION
002142 104001 ERROR 1 t.ttttttituttt"fst 3 =« ERROR 1tesssnssnnvenny
DECIML INSTRUCTION DID NOT TRAP ON
A NEGATIVE LEADING SIGN SOURCE?
002144 000464 BR ENDT3
002146 T3CONT:
002146 020067 176472 (¥, RO,SILN ;CHECK RO UNCHANGED
002152 001401 BEQ 648
002156 104002 ERROR 2 seasennenanenansTEST 3 - ERROR 2eatssnsasennnny
RO CHANGED .
RO SHOULD STILL EQUAL CONTENTS OF °STLN
002156 020167 176464 64%: cmp R1,S1ADR :CHECK R1 UNCHANGED
002162 001401 BEQ 658
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002164 104003

020567
001401
104007

016600

176456
176450
176446

176434

000002
177400
176436

002142
000522

000004
000702

002316
000700 000002

22-JAN-82 08:50_ PAGE
2 03:49 T3

65%:

66$:

67%:

68S$:

69%:

1%:

2s:

3s:

S173:
S2T13:

22

I 2

TEST “ADON'' WITH A NEGATIVE LEADING SIGN SOURCET, ¢ VALID SOURCEZ

ERROR

CMp
8EQ
ERROR

cMP
8tQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

MOV
81C

8EQ
ERROR

(€
BEQ

ERROR

.BYTE

.BYTE
.EVEN

3

R2,S2LN
26£

R3,S2ADR
g?i

R FILL
gai

RS ,DSTAD
99&

2(SP) RO
#177400,R0
qg.exppsu

10

53P).lT3*2
%?P).i’iﬂDADR

SP.RO

#4 RO
RO,3#SAVR6
38

12

#ENDT3, (SP)
SNEXPPSY ,2(SP)

53
60

seensaaneeneneeeTEST 3 = ERROR Jeeeenceenennnes
sR1 CHANGED

JR1 SHOULD STILL EQUAL CONTENTS OF °‘STADR'’
;CHECK R2 UNCHANGED

seeeeennsennseeaTEST 3 = ERROR Loneevecnenennne
;R2 CHANGED

;R2 SHOULD STILL EQUAL THE CONTENTS OF '‘S2LN"

s CHECK UNCHANGED

sevesanannesaedsTEST 3 -~ ERROR Sevennnnannncans
;R3 CHANGED

;R3 SHOULD STILL EQUAL THE CONTENTS OF ‘‘S2ADR'’
sCHECK R& UNCHANGED

setannansanaseesTEST 3 - ERROR Geeencenennnenes
;R4 CHANGED

;R4 SHOULD STILL EQUAL THE CONTENTS OF "FILL"
sCHECK R5 UNCHANGED

canannnannansaddTEST 3 = ERROR 7ettsncntenatnne

*R5 CHANGED
RS SHOULD STILL EQUAL THE CONTENTS OF 'DSTAD'

;CHECK PSW AT TIME OF TRAP

saennnnnnseneassTEST 3 = ERROR 10eveanceaeananer
:PSW_ERROR

;EXPECTED PSW IS STORED AT "EXPPSW'’

SRESULTANT PSW IS IN RO

:CHECK ADDRESS OF TRAP

;STORE BAD ADDRESS

JenennennasasansTEST 3 = ERROR 11tesnnentntnnene
sTRAP ADDRESS ERROR ,

EXPECTED ADDRESS IS 'T3¢2° .
sRESULTANT ADDRESS IS STORED AT '‘$BDADR

JCHECK SP RESTORATION

sunannnneannnaeaTEST 3 - ERROR 12¢tetenceneranar
sSTACK POINTER WAS NOT RESTORED .
sEXPECTED SP VALUE IS STORED AT .§AVR6
;ERRONEOUS SO VALUE IS AT 'BADRG

sRESTORE SP & PSW

ING
ICANT DIGIT
ING
ICANT DIGIT

: SOURCE
:MOST §
s SOURCE
:MOST §

SEQ 0021
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T3

J 2

TEST "ADDN'* WITH A NEGATIVE LEADING SIGN SOURCE1, & VALID SOURCE2

;RESTORE TIMEOUT VECTOR CONTENTS

CANARNRAR AN ARR NN NN AR RN A NN AN RNARNNANANR R AANANANN AN RNACANARAAES

TEST *'ADDN'' WITH SOURCE2 LENGTH = 0, & VALID SOURCE1

CRRAAANRRNANRANNARANANRR AN RAAARRAARRNRNARARAANAANRACAARNANRAONY

ENDT3: MOV TEMP1,a#10
MOV TEMP2., a2
-resr 4
t8T4:  SCOPE
JSR qs,upnsp
S1T4
0
32:4
JSR PC, CLBUF
Y ario, TEMPI
MOV a#12. TEMP2
MOV #T4CONT 3410
MOV #3460, a012
JSR RS, XPSW
LWORD 217
JSR PC.GENR
scC
T4: ADDN
ERROR 1
BR ENDT4
T4CONT:
P RO,STLN
BEQ 4!
ERROR
648:  CMP R1,STADR
8EQ gsi
ERROR
658: (WP R2,S2LN
BEQ 668
ERROR &
668:  (MP R3,S2ADR
BEQ 67§
ERROR S
678:  (MP RG FILL
BEQ 68§
ERROR 6

‘R2

;PREPARE ARGUMENTS FOR INSTRUCTION TEST
;SOURCET LENGTH

:SOURCE1 ADDRESS

;SOURCE2 LENGTH

:SOURCE2 ADDRESS

:DESTINATION LENGTH

:CLEAR BUFFER AREA

:SAVE TIMEOUT TRAP VECTOR CONTENTS

;POINT TIMEOUT VECTOR TO TEST CONTINUATION
;STORE EXPECTED PSW VALUE
sSET UP GENERAL REGISTERS

2EXECUTE '‘ADDN’* INSTRUCTION

sennnnnnnnsnanatTEST 4 ~ ERROR Tettrvvnsenvneny
:DECIMAL INSTRUCTION DID NOT TRAP ON
:A TERO SOURCE2 LENGTH

sCHECK RO UNCHANGED

tattttttttttttthSf 4 = ERROR 2tvannsannsstnsy
;RO CHANGED

RO SHOULD STILL EQUAL CONTENTS OF ‘SILN'
CHECK R1 UNCHANGED

sensnnnanannnstdTEST 4 - ERROR Jewnnnannnenanes
:R1 CHANGED

:R1 SHOULD STILL EQUAL CONTENTS OF ‘‘STADR'’
:CHECK R2 UNCHANGED

sanvannntanatedeTEST 4 = ERROR 4natrexntantenany

CHANGED
JR2 SHOULD STILL EQUAL THE CONTENTS OF ''S2LN'‘
:CHECK R3 UNCHANGED

t;tttttttttttttTEST 4L = ERROR Sexesncnnnnnnner
:R GED

*R3 SHOULD STILL EQUAL THE CONTENTS OF ‘'S2ADR'
sCHECK R& UNCHANGED

sennnnnenenannstaTEST 4 ~ ERROR Greernrrsrenzanee

SEQ 0022
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08:49 T4

(VKAJB.PI1 22~JAN-82 TEST "'ADDN'' WITH SOURCE2 LENGTH = 0, & VALID SOURCE1 SEQ 0023
1097 ;R4 CHANGED
1098 :R4 SHOULD STILL EQUAL THE CONTENTS OF ‘FILL"
1099 002500 020567 176152 68$: CMP RS ,DSTAD JCHECK RS UNCHANGED
1100 002504 001401 BEQ 69$
1101 002506 104007 ERROR 7 satveanannnnsaadTEST 4 = ERROR 7evetnenanenenny
1102 :RS CHANGED '
1103 :R5 SHOULD STILL EQUAL THE CONTENTS OF °‘DSTAD’
1106 002510 698:
1105 002510 016600 000002 MOV 2(SP) .RO sCHECK PSW AT TIME OF TRAP
1106 002514 042700 177400 BIC #177400,RO
1107 002520 020067 176154 CMP RO,EXPPSW
1168 002524 001401 BEQ 1$
1109 002526 104010 ERROR 10 sunannnnennanaseTEST 4 ~ ERROR 10veeecanennnenne
1110 :PSW ERROR
1M1 ;EXPECTED PSW IS STORED AT 'EXPPSW'
1112 sRESULTANT PSW IS IN RO
1113 002530 021627 002424 18: CMP (SP) ,AT4+2 :CHECK ADDRESS OF TRAP
1114 002534 001403 BEQ 2%
1115 002536 011637 000522 MOV (SP) ,a#$BDADR  ;STORE BAD ADDRESS
1116 002542 104011 ERROR 11 JannnannnnnasadaJEST 4 - ERROR 11ttneeaneanennene
1117 s TRAP ADDRESS ERROR
1118 sEXPECTED ADDRESS IS ‘''T4+2'’
1119 ;RESULTANT ADDRESS IS STORED AT ‘‘S8DADR'’
1120 002544 010600 2$: MOV SP.RO JCHECK SP RESTORATION
1121 002546 062700 000004 ADD #4 RO
1122 002552 020037 000702 cmp RO, 8#SAVR6
1123 002556 001401 BEQ 3s
1124 002560 104012 ERROR 12 saennnnnnnnnnnesTEST 4 - ERROR 12¢tsnvenaeneceen
1125 :STACK POINTER WAS NOT RESTORED
1126 ;EXPECTED SP VALUE IS STORED AT '‘SAVR6''
1127 ;ERRONEOUS SO VALUE IS AT "BADR6
1128 002562 012716 002600 3s: MOV #ENDT4, (SP) sRESTORE SP ¢ PSW
1129 002566 013766 000700 000002 MOV SNEXPPSW,2(SP)
}}g? 002574 000002 RTI
1132 002576 S1T4: ;SOURCE1 STRING
1133 002576 060 .BYTE 60 sMOST SIGNIFICANT DIGIT
1134 002577 S2T4: ;SOURCE2 STRING
1135 002577 060 BYTE 60 :MOST SIGNIFICANT DIGIT
}}%9 .EVEN
1138 002600 016737 176106 000010 ENDT4: MOV TEMP1,3410 ;RESTORE TIMEOUT VECTOR CONTENTS
}}28 002606 016737 176102 000012 MOV TEMP2 8412
1141
1142 ::ttttttttttttttttttttttttttttttttttttttttttltttttttttttttttttt't
1143 s*TEST 5 TEST '"ADDN'' BY ADDING TWO ZEROES WITH ZERO DESTINATION LENGTH
1144 -;ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
1145 002614 000004 tS15:  SCOPE
1146 002616 004567 012110 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
1147 2622 000001 1 sSOURCE1 LENGTH
1148 2624 002772 S1T5 ;SOURCE1 ADDRESS
1149 002626 000001 1 ;SOURCE2 LENGTH
1150 002630 002773 s2Ts sSOURCEZ2 ADDRESS
1151 002632 000000 0 JDESTINATION LENGTH
1152 002634 004767 012164 JSR PC,CLBUF :CLEAR BUFFER AREA
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8:49 TS

CVKAJB.PI1 22-uAN-82 0 TEST ‘‘ADDN'' BY ADDING TWO ZEROES WITH ZERO DESTINATION LENGTH SEQ 0024
1153 002640 004567 012200 JSR RS  XPSW
1154 002644 000204 .WORD 204
1155 002646 004767 012106 JSR PC.GENR :SET UP GENERAL REGISTERS
1156 002652 000277 ScC ;SET UP THE COMPLEMENT OF EXPECTED CC'S
1157 002654 000244 cL?
}}gg 002656 076050 ADDN
1160 002660 106767 176012 MFPS CCODES :STORE RESULTANT PSW
1161 002664 042767 177400 176004 8IC #177400,CCODES ;CLEAR UNUSED BITS
116% 002672 023767 000700 175776 CMP ANEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1163 002700 001401 B8EQ 648 :BR, IF EQUAL
1164 002702 104001 ERROR 1 sasnnnnnnnnttetaJEST S ~ ERROR Tesneeesenannene
1165 ;PSW ERROR
1166 :EXPECTED PSW IS STORED AT"SAVR6"
1167 :ERRONEOUS SP VALUE IS AT 'BADRG"’
1168 002704 648
1169 002704 005700 IS8T RO ;CHECK RO=0
1170 002706 001401 8EQ 658
1171 002710 104002 ERROR 2 sennnanaennannnsTEST 5§ = ERROR 2eewannansennene
1172 ;R0 SHOULD BE ZERO
1173 002712 005701 65%: TS7Y R1 ;CHECK R1=0
1174 002714 001601 BEQ 663
1175 002716 104003 ERRGR 2 ;tttttttttttttttTEST S « ERROR Jtsnssansnasnnen
1176 :R1 SHOULD BE ZERO
1177 0027220 005702 66$: I1ST R2 ;CHECK R2=0
1178 002722 001401 BEQ 678
1179 002726 104004 ERROR & senannnannnnanaaTEST 5 ~ ERROR Levnsnncnsnnnany
1180 :R2 SHOULD BE ZERO
1181 002726 005703 678: TS7Y R3 ;CHECK R3=0
1182 002730 001601 BEQ 688
1183 002732 104005 ERROR 5 sanenannannananaJEST 5 ~ ERROR Sneavsnsnannnzen
1184 ;R3 SHOULD BE ZERO
1185 002734 020467 175714 68$: Cmp R4 ,DSTLN ;CHECK Ré&= DESTINATION LENGTH
1186 002740 001401 BEQ 69%
1187 002742 104006 ERROR 6 sevnnnnnnanaseseTEST 5 = ERROR Geennrennsnswnnee
1188 ;R4 SHOULD STILL BE DESTINATI'ON LENGTH
1189 002744 020567 175706 693: CMP RS ,DSTAD :CHECK RS = DESTINATION ADDRESS
1190 002750 001401 BEQ 708
1191 002752 104007 ERROR 7 santnnannnnsanasJEST S = ERROR /tttnsanstvstenyn
1192 :RS SHOULD STILL BE DESTINATION ADDRESS
1193 002754 023706 000702 708: (o, ' SNSAVRG, SP ;VERIFY STACK POINTER IS RESTORED
1194 002760 001403 BEQ 718 :BR IF 0K
1195 002762 010637 000704 Mov SP ,aA#BADRG :COPY BAD SP VALUE
1196 002766 104010 ERROR 10 seannneennnnetneTEST 5 = ERROR 10nntnenereeenaes
1197 :STACK POINTER NOT RESTORED BY lySTRUCTION
1198 EXPECTED SP 1S STORED AT .SAVRb'
1199 :ERRONEOUS SP VALUE IS AT 'BADRé"’
1200 002770 718:
1201 002770 000401 BR TST6 ;BR TO NEXT TEST
1202 002772 S175: ;SOURCE1 STRING
1203 002772 060 .BYTE 60 ;MOST SIGNIFICANT DIGIT
1204 002773 S2715: ;SOURCEZ2 STRING
}sgg 002773 060 BYTE 60 ;MOST SIGNIFJICANT DIGIT
1207 .EVEN
1208
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n 2

TEST ''ADDN'‘ BY ADDING TWO ZEROES WITH ZERO DESTINATION LENGTH SEQ 0025

Y 2222222222223 L2 200000020 R Rl litlaldidisdatdy

S*TEST 6

TEST *‘ADDN'' WITH POSITIVE OPERANDS,SRC1 LENGTH .GT. SRC2 LENGTH, DL = NO

AN RNRANARA RN NN AN NN RN RN AN NN NN AN NEANNRARAANENEAANANANRAEAANOND

TsT6:

64%:

65$:

66$:

67%:

68$:

69%:

708:

SCOPE
JSR

MOV
ERROR

RS ,NPREP sPREPARE ARGUMENTS FOR INSTRUCTION TEST
4 sSOURCE1 LENGTH

S1T6 sSOURCE1 ADDRESS

2 :SOURCE2 LENGTH

$276 sSOURCE2 ADDRESS

2 JDESTINATION LENGTH

PC,CLBUF :CLEAR BUFFER AREA

ggOXPSH

PC,GENR ;SET UP GENERAL REGISTERS

sSET UP THE COMPLEMENT OF EXPECTED CC'S

CCODES :STORE RESULTANT PSW
#177400,CCODES ;CLEAR UNUSED BITS
SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
648 ;BR, IF EQUAL
;tttttttttttttttTEST 6 = ERROR Jaranxsasannntnne
;PSW ERROR
JEXPECTED PSW 1S STORED AT 'SAVR§”
:ERRONEOUS SP VALUE IS AT ‘BADR6'’

ggs ;CHECK RO=0

2 sonnnnnannnneaasTEST 6 = ERROR 2vtenvennanannny
;RO _SHOULD BE ZERO

ggs sCHECK R1=0

3 cananantantaavtaaTEST 6 = ERROR 3Invnannnnnnannen

*R1 SHOULD BE ZERO

2;3 :CHECK R2=0

4 sunanannannananaJEST 6 = ERROR 4nrnnvnnnnnennen
;R2 SHOULD BE ZERO

zgs ;CHECK R3=0

5 sennnnnnranananaTEST 6 ~ ERROR Sweweensannnnnee
:R3 SHOULD BE ZERO

gg‘DSTLN sCHECK R&4= DESTINATION LENGTH

6 sannnnnnanaxeaneTEST 6 = ERROR Grenvnnnsnenensse
;R4 SHOULD STILL BE DESTINATION LENGTH

;g‘DSTAD sCHECK RS = DESTINATION ADDRESS

7 sunnnnananenesasTEST 6 =~ ERROR 7ennnnvnnnnsnnne
sRS SHOULD STILL BE DESTINATION ADDRESS

S#SAVR6, SP sVERIFY STACK POINTER IS RESTORED

718 ;B8R _IF OK

SP,34BADR6 ;COPY BAD SP VALUE

10 sannnanansenttaTEST 6 = ERROR 10nenvancenrnnans
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718:

72%:

73$:

S176:

S2T6:

ANS6:

N 2

TEST ''ADDN'' WITH POSITIVE OPERANDS,SRC1 LENGTH .GT. SR(C2 LENGTH, DL = NO.

MoV
MOV
MOV
CMP8
8EQ
ERROR

DEC
BNE
BR

.BYTE
.BYTE
.BYTE
.BYTE

.BYTE
.BYTE

.BYTE
.BYTE

.EVEN

#ANS6,RO
DSTAD ,R1
DSTLN,R2
(R0)+ (R1)+

11

;STACK POINTER NOT RESTORED BY INSTRUCTION
SEXPECTED SP IS STORED AT ‘'SAVR6''
:ERRONEOUS SP VALUE IS AT 'BADR6''

sCHECK ANSWER

;POINT RO TO EXPECTED ANSWER

:POINT R1 _TO RESULTANT ANSWER

:STORE ANSWER LENGTH IN R1

; COMPARE EACH DIGIT

:BR IF EQUAL

sunannnasanatssaTEST 6 = ERROR 11nawennannannann
:ERRONEOUS ANSWER

‘RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
*R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
:DECREMENT ANSWER LENGTH

:BR IF NOT_FINISHED

:BR TO NEXT TEST

;SOURCE1 STRING

:MOST SIGNIFICANT DIGIT

;SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

sEXPECTED ANSWER

ttttttttttttt.tttttttttttttt.ttttt.tttttttttttttttttttﬁtttttﬁtt

TEST ""ADON'' WITH NEGATIVE OPERANDS, S2L .GT. S1L, NO OVERFLOW

tTEST 7

X 1223222222321 222 2332 T3 1223222212222 3 00222 ddiittiidittidiist)

TST?

SCOPE
JSR

gS.NPREP
S117

4

s217

4

PC,CLBUF
RS  XPSW

21
PC,GENR

CCO?E%
#177400,CCODES
225XPPSU.CCODES

'PREPARE AR&%HSNTS FOR INSTRUCTION TEST

CLEAR BUFFER AREA

sSET UP GENERAL REGISTERS
:SET UP THE COMPLEMENT OF EXPECTED CC'S

;STORE RESULTANT PSW

;CLEAR UNUSED BITS

sCHECK PSW AGAINST EXPECTED VALUE
:8R, IF EQUAL

sennnnnnensneaetTEST 7 = ERROR 1erresvsnsrnnene

;PSW ERROR

SEQ 0026
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(VKAJB.P11 22-JAN-82 08 TEST "ADDN'' WITH NEGATIVE OPERANDS, S2L .GT. STL, NO OVERFLOW SEQ 0027
1321 :EXPECTED PSW IS STORED AT '‘SAVR6''
132 :ERRONEOUS SP VALUE 1S AT 'BADRG'’
1323 003276 648:
1324 00% 76 005700 TST RO :CHECK RO=0
1325 00 001401 8EQ 65%
1326 003302 104002 ERROR P senennnnnnenennssTEST 7 ~ ERROR 2enennsnsennenss
1327 ;RO SHOULD BE ZERO
1328 003304 005701 65%: TST R1 ;CHECK R1=0
1329 003306 001401 8EQ 663
1330 003310 104003 ERROR 3 sunnkasnnnnnnnnsTEST 7 = FRROR Jtnnesnwnanannnns
1331 :R1 SHOULD BE ZERO
133% 003312 005702 66S%: TST R2 ;CHECK R2=0
1333 003314 001401 BEQ 67%
1334 003316 104004 ERROR 4 sunnenennnnantnnTEST 7 = ERROR 4Lrrannnsnastannt
1335 :R2 SHOULD BE ZERO
1336 003320 005703 67%: TST R3 ;CHECK R3=0
1337 003322 001401 8EQ 68%
1338 003324 104005 ERROR S sannannannnnnteeTEST 7 = ERROR Sttnnnnasnesnnnn
1339 :R3 SHOULD BE ZERO
1340 003326 020467 175322 68S$: CMp R4 ,DSTLN :CHECK R&4= DESTINATION LENGTH
1341 003332 001401 BEQ 69%
134% 003334 104006 ERROR 6 ;ennnsnneneenseeTEST 7 - FRROR Grevesnnannnanse
134 ;R4 SHOULD STILL BE DESTINATION LENGTH
1344 003336 020567 175214 698 : (4,4 RS,DSTAD :CHECK RS = DESTINATION ADDRESS
1345 003342 001401 BEQ 708
1346 003344 104007 ERROR 7 senneneesnnesaatTEST 7 - ERROR 7ansnsnneanennne
1347 ;RS SHOULD STILL BE DESTINATION ADDRESS
1348 003346 023706 000702 708 : (W, WSAVRG, SP :VERIFY STACK POINTER 1S RESTORED
1349 003352 001403 8EQ 718 :BR IF 0K
1350 003354 010637 000704 MOV SP,3BADRG ;COPY BAD SP VALUE
1351 003360 104010 ERROR 10 sevnnnnannnnteadJEST 7 = ERROR 10trneenennenener
1352 ;STACK POINTER NOT RESTORED BY IN.STRUCTION
1353 EXPECTED SP 1S STORED AT '‘SAVR6’
1354 ;ERRONEOUS SP VALUE IS AT 'BADRG’’
1355 003362 718:
1356 s CHECK ANSWER
1357 003362 012700 003420 MoV #ANS? RO :POINT RO TO EXPECTED ANSWER
1358 002366 016701 175264 MOV DSTAD .R1 JPOINT R1 TO RESULTANT ANSWER
1359 003372 016702 175256 MoV DSTLN,RZ :STORE ANSWER LENGTH IN R1
1360 003376 122021 72%: CmPB (RO)+,(R1)+ ;COMPARE EACH DIGIT
1361 003400 001401 B8EQ 733 :BR IF EQUAL
136% 003402 104011 ERROR 11 senansnennanenaseTEST 7 = ERROR 11atasnasnntannne
136 ;ERRONEOQUS ANSWER
1364 :RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1365 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
1366 003404 005302 73%: DEC R2 ;DECREMENT ANSWER LENGTH
1367 003406 001373 BNE 728 :BR IF NOT FINISHED
1368 003410 000405 8R TST10 :BR TO NEXT TEST
1369 003412 S117: ;SOURCE1 STRING
1370 00541§ 063 .BYTE 63 ;MOST SIGNIFICANT DJGIT
1371 00341 165 .BYTE 165
137% 003414 $217: :SOURCEZ STRING
1373 002414 060 .BYTE 60 ;JMOST SIGNIFICANT DIGIT
1374 0C(3415 071 BYTE N
1375 003416 066 BYTE 66
1376 003417 165 .BYTE 165
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CVKAJB.P11 22-JAN=82 08:49 TEST "ADDN’' WITH NEGATIVE OPERANDS, S2L .GT. S1L, NO OVERFLOW SEQ 0028
1377 s ANS7 : JEXPECTED ANSWER
1378 gz 0 061 .BYTE 61 HOST SIGNIFICANT DIGIT
1379 060 .BYTE 60
1380 gz g 060 .BYTE 60
1381 00 160 .BYTE 160
138%
138 .EVEN
1385
]386 2123222323 1322222222222 1272222322 3382233233323 223422333232334224;
1387 'TEST 10 TEST ''ADDN'’ WITH NEGATIVE OPERANDS, OVERFLOW
1388 T T T e e e e L e A TR R L g 2 g
1389 003424 000004 TSTIO SCOPE
1390 00%2%6 004567 011300 JSR RS .NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
1391 00 2 000004 4 SOURCET LENGTH
139% 003434 003630 S1T10 SOURCET ADDRESS
1393 003436 000002 2 SOURCEZ LENGTH
1394 003440 003634 2110 SOURCEZ ADDRESS
1395 003442 000002 2 DESTINATION LENGTH
1396 003444 004767 011354 JSR PC.CLBUF CLEAR BUFFER AREA
1397 003450 004567 011370 JSR RS  XPSW
1398 003454 000212 LWORD 212
1399 003456 004767 011276 JSR PC.GENR JSET UP GENERAL REGISTERS
1400 003462 000265 +SEZ!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
16401 003464 000252 +CLN!CLY
}28% 003466 076050 ADDN
16404 003470 106767 175202 MFPS CCODES :STORE RESULTANT PSW
1405 003474 042767 1776400 175174 BIC #177400,CCODES CLEAR UNUSED BITS
1406 003502 023767 000700 175166 (0, 4 SNEXPPSY,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1407 003510 001401 BEQ 648 .BR. IF EQUAL
1408 003512 104001 ERROR 1 tttttttttttttttTEST 10 = ERROR 1tatesssnanannne
1409 ;PSW ERROR
1410 EXPECTED PSW IS STORED AT. SAVR§”
1611 ERRWEWS SP VALUE IS AT ‘BADR6"’
1412 003514 64$:
1413 003514 005700 TST RO :CHECK RO=0
14146 003516 001401 BEQ 658
1415 003520 104002 ERROR 2 snennnanennanaasTEST 10 = ERROR 2tnvanavanstenee
1416 RO SHOULD B8E ZERO
1417 003522 005701 65$: TST R1 sCHECK R1=0
1418 003524 001401 B8EQ 663
1419 003526 104003 ERROR 3 sunnaaannneaneasaJEST 10 = ERROR 3atxsxrraresnetten
1420 Rl SHOULD BE ZERO
1421 003530 005702 66$: TST R2 CHECK R2=0
1422 003532 001401 8EQ 678
1423 003534 104004 ERROR 4 senansnneenanansTEST 10 = ERROR 4ersxxnrnnsnentne
1424 RZ SHOg&D B8E ZERO
1425 003536 005703 67%: TST R3
1426 003540 001401 B8EQ 8$
1427 003542 104005 ERROR sansnnnannnnaaenTEST 10 = ERROR Stexstasnanansnn
1428 R3 SHOULD BE ZERO
14%3 003544 020467 175104 68S$: (4, R4 . DSTLN CHECK Ré= DESTINATION LENGT
1430 003550 001401 BEQ 69%
1431 003552 104006 ERROR 6 sennaanannansandTEST 10 = ERROR Srarrasssannteny
1432 R4 SHOULD STILL BE DESTINATION LENGTH
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(VKAJB.P1 22=JAN-82 08: TEST "ADDN'' W]TH NEGAT]IVE OPERANDS, OVERFLOW SEa 0029
1633 003554 020567 175076 698: (0, RS,.DSTAD ;CHECK RS = DESTINATION ADDRESS
1434 003560 001407 BEQ 708
16435 003562 104007 ERROR 7 seennentntnenevaTEST 10 = ERROR 7etesensnennnany
1436 ;RS SHOULD STILL BE DESTINATION ADDRESS
1437 003564 023706 000702 708: 0, SA#SAVRG, SP JVERJFY STACK POINTER IS RESTORED
1438 003570 001403 BEQ 718 ;BR IF 0K
1439 003572 010637 000704 MOV SP ,a#8ADR6 ;COPY BAD SP VALUE
1440 003576 10010 ERROR 10 sennnneanvaeasaeTEST 10 - ERROR 10ettecnneneeenen
1441 :STACK POINTER NOT RESTORED BY INSTRUCTION
1442 SEXPECTED SP IS STORED AT ''SAVR6
1443 ;ERRONEOUS SP VALUE IS AT 'BADRG''
1444 003600 718:
1445 sCHECK ANSWER
1446 003600 012700 003636 MOV #ANS10,RO :POINT RO TO EXPECTED ANSWER
14647 3604 016701 175046 MOV DSTAD ,R1 ;POINT R1 TO RESULTANT ANSWER
1448 003610 016702 175040 MOV DSTLN.R2 ;STORE ANSWER LENGTH IN R1
1449 0036146 122021 728%: cMP8 (RO +,(R1)+ ;COMPARE EACM DIGIT
1450 003616 001401 8EQ 73% :BR IF EQUAL
1451 003620 10401 ERROR 11 sunnannnnnnntensTEST 10 = ERROR 11¢enntenenesnene
1452 ;ERRONEOUS ANSUWER
1453 ;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1454 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
1455 003622 005302 73s: DEC R2 :DECREMENT ANSWER LENGTH
1456 003624 001373 BNE 72% :BR IF NOT FINISHED
1457 003626 000404 BR ST ;sBR TO NEXT TEST
1458 003630 S1T10: :SOURCE1 STRING
1459 00%230 060 .BYTE 60 JMOST SIGNIFICANT DIGIT
1460 003631 061 BYTE 61
1461 003632 062 BYTE 62
‘Ilobi 0036%13. 163 BYTE 163
1463 0036 $2710: ;SOURCE2 STRING
1464 003634 065 BYTE 65 :MOST SIGNIFICANT DIGIT
1465 003635 164 BYTE 164
14 883636 ANS10: ;EXPECTED ANSWER
146 3636 067 BYTE 67 ;MOST SIGNIFICANT DIGIT
}268 003637 167 BYTE 167
1470 .EVEN
Iped
147 PR Ty L]
1474 JeTEST N TEST “'ADDN'' WITH POSITIVE OPERANDS, S2L=S1L,OVERFLOW
1475 P L L T T T e e T e I T Y
79 w.g 000004 tS111:  score
7 3642 004567 011064 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
78 3648 000002 2 JSOURCET LENGTH
79 3650 004044 SITN sSOURCE1 ADDRESS
80 %52 000002 2 ;SOURCE2 LENGTHM
54 004046 s ;SOURCEZ ADDRESS
2 JDESTINATION LENGTH

011140 JSR PC,CLBUF < CLEAR BUFFER AREA
011154 JSR R(S) 6XPSH

06 2
883 67 011062 JSR PC,GENR sSET UP GENERAL REGISTERS
27 +SEN!SEC ;SET UP THE COMPLEMENT OF EXPECTED CC'S

6
00 000246 +CLZ!ICLY

ég;‘é‘égg:::::
SSITIISSIIIISIS
S
:
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1489
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149

149

1494
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1496
1497
1498

S

SRIRSR

ANINIA) b b e b cad b b b o =D
VB WN = O OR®NO NS WN—=O

AINININININD

dddddd—.—.dddddd—.dd—.dd-‘dddddd—.dd-‘
o~

WV WAVAAV VAWM MWV AV AW

—b ad b cud b cnd b b e b b
\n\nsnuunsnv%z\ntzunuﬁdtd
TENERRINZEY

&880
SN =O

MACY11_30(1046)

003702 076050

003704 106767
003710 042767
003716 023767
003724 001401
003726 104001

003744 005702
003746 001401
003750 104004

003752 005703
003754 001401
003756 104005

003760 020467
003764 001401
003766 104006

003770 020567

22-JAN-82 0

174766
177400 174760
000700 174752

174670
174662

000702
000704

004050
174632
174624

22-JAN~82 08:50 PAGE 31
8:4 ™m

64S:

658:
66$:
678:
68$:
698

708 :

718:

728:

738:

E 3
TEST "'ADDN'’ WITH POSITIVE OPERANDS, S2L=S1L,OVERFLOW
ADDN
MFPS CCCDES ;STORE RESULTANT PoW

8lC #177400,CCODES  :CLEAR UNUSED BITS
cMP SNEXPPSU, CCODES ; CHECK PSW AGAINST EXPECTED VALUE

8EQ 648 :BR, IF EQUAL
ERKOR 1 sees ansnnsaenssdTEST 11 = ERROR 1enennenetenenes
:PSW E

RROR
:EXPECTED PSW IS STORED AT °‘‘SAVR6'
:ERRONEOUS SP VALUE IS AT 'BADR6''

TST RO :CHECK R0=0

8EQ 65

ERROR 2 tttttttttttttttTEST 11 = ERROR 2ttetannsnneeten
RO SHOULD BE ZERO

TST R1 CHECK R1=0

BEQ 66$

ERROR 3 junanansnnntaaesTEST 11 = ERROR 3tttensaannannne
R1 SHOULD BE ZERO

TST R2 CHE K R2=0

BEQ 678

ERROR 4 sesnnannnnnnnaaaJEST 11 = ERROR 4{rtatnennnanent
RZ SHOULD BE ZERO

TST R3 :CHECK R3=0

BEQ 68$

ERROR 5 tttttttttttttttTEST 11 = ERROR Stnrnsanntsnnenne
R3 SHOULD BE ZERO

ggz 23§DSTLN :CHECK R4= DESTINATION LENGTH

ERROR 6 tttttttttttttttTEST 11 = ERROR Ottansansnntnnee
R4 SHOULD STILL BE DESTINATION LENGTH

ggz §g§DSTAD CHECK RS = DESTINATION ADDRESS

ERROR 7 sanennnsennaanasTEST 11 = ERROR 7ttxtsntsantnsense
RS SHOULD STILL BE DESTINATION ADDRESS

CMP a#SAVR6, SP VERIFY STACK POINTER IS RESTORED

BEQ 718 BR IF

MoV SP ,@#BADR6 ; COPY BAD SP VALUE

ERROR 10 tttttttttttttttTEST 11 = ERROR 10tseatasattcannn
STACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED SP IS STORED AT ''SAVR6':
ERR(NEOUS SP VALUE IS AT 'BADRé6
:CHECK ANSWER

MoV #ANS11,RO POINT RO TG EXPECTED ANSWER

MOV DSTAD, R1 POINT R1 TO RESULTANT ANSUER

MoV DSTLN,R2 STORE ANSWER LENGTH IN R1

CMPB (RO)+,(R1)+ COHPARE EACH DIGIT

BEQ 738 .BR IF EQUAL

ERROR 11 sunnansannanneanTEST 11 = ERROR 11tvrsnnantxasnee
*ERRONEOUS ANSWER
RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
R1 CONTAINS THE PC+1 OF THE RESULTAN. JIGIT

DEC R2 DECREHENT ANSWER LENGTH

BNE 72% *BR IF NOT FINISHED

BR TST12 BR TO NEXT TEST

SEQ 0030
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C(VKAJB.P11 22~JAN~-82 08: TEST "ADDN'’ WITH POSITIVE OPERANDS, S2L=S1L,OVERFLOW SEQ 0031
1545 004044 siT1: :SOURCE1 STRING
1546 0046044 063 .BYTE 63 ;MOST SIGNIFICANT DIGIT
1547 004045 062 .BYTE 62
1548 004046 S2T11: ;SOURCE?2 STRING
1549 004049 066 .BYTE 66 :MOST SIGNIFICANT DIGIT
1550 00404 070 .BYTE 70
1551 004050 ANS11: ;EXPECTED ANSWER
155% 004050 060 .BYTE 60
1553 004051 060 .BYTE 60
1554
1555 .EVEN
1333
1558 PR LT L L L L ihieiiuiniiviiiniedniyinbideiuini vt it dduiinieiddinig
1559 seTEST 12 TEST ADDN WITH NEGATIVE OPERANDS, S2L=S1L,OVERFLOW CARRY
1560 e e T e e L S e D R A b A A A A LA i bbb
1561 004052 000004 TST12: SCOPE
1562 004054 004567 010652 JSR RS ,NPREP ;:PREPARE ARGUMENTS FOR INSTRUCTION TEST
1563 004060 000002 2 :SOURCE1 LENGTH
1564 004062 004256 s1T12 ;SOURCE1 ADDRESS
1565 004064 000002 2 :SOURCE2 LENGTH
1566 004066 004260 2112 ;SOURCE2 ADDRESS
1567 004070 000001 1 :DESTINATION LENGTH
1568 004072 004767 010726 JSN PC,CLBUF :CLEAR BUFFER AREA
1569 004076 004567 010742 . JSR RS XPSW
1570 004102 000212 LWORD 212
1571 004104 004767 010650 JSR PC,GENR :SET UP GENERAL REGISTERS
1572 004110 000265 +SEZ!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1573 00464112 000252 +CLN!CLYV
} g;g 004114 076050 ADDN
1576 004116 106767 174554 MFPS CCODES ;STORE RESULTANT PSW
1877 0041%% 042767 177400 174546 81C #177400,CCODES :CLEAR UNUSED BITS
1578 0041 023767 000700 174540 cwp SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1579 004136 001401 8EQ 648 ;BR, IF EQUAL
1580 004140 104001 ERROR 1 ;tttttttttttttttTEST 12 = ERROR 1ttsxnttnnanenner
1581 ;PSW ERROR
158% :EXPECTED PSW IS STORED AT ‘'‘SAVR6''
158 :ERRONEOUS SP VALUE IS AT °'BADRG™’
1584 00414% 648:
1585 004142 005700 TST RO ;CHECK RO=0
1589 006144 0014601 BEQ 658
158 004146 104002 ERROR 2 ;tttttttttttttttTEST 12 = ERROR 2tstxsannntnnenes
1588 ;RO SHOULD BE ZERO
1589 004150 005701 65%: TST R1 ;CHECK R1=0
1590 004152 001401 BEQ 668
1591 004154 104003 ERROR 3 cemnnsnensneranaTEST 12 = ERROR Jrranaennnnenens
159§ :R1 S D BE ZERO
1593 004156 005702 66%: TST R2 ;CHECK R2=0
1594 004160 001401 8EQ 67%
1595 004162 104004 ERROR 4 sennnenansansensTEST 12 = ERROR 4evanrnanaanstnen
1596 :Re SHGU;,D BE ZERO
1597 004164 005703 67%: TST R3 ;CHECK R3=0
1598 0041 001401 BEQ 68$%
1599 004170 104005 FRROR 5 ;tnntntnttntﬁst 12 = ERROR Strrnstteannnnranr
1600 :R3 SHOULD BE ZERO
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TEST ADDN WITH NEGATIVE

R4 DSTLN
69$

6

RS,DSTAD
70§

7
aNSAVRG, SP
718

SP,a#BADR6
10

#ANS12 RO
DSTAD ,R1
DSTLN.RZ
(RO)+,(R1)+
738

1"

R2
728
TST13
66
161
64
165
166

OPERANDS, S2L=S1L,OVERFLOW CARRY
;CHECK R4= DESTINATION LENGTH

JennnnnenvanneaeTEST 12 = ERROR Gtevesennnnvnenny
‘R4 SHOULD STILL BE DESTINATION LENGTH
:CHECK RS = DESTINATION ADDRESS

sennennenennanteTEST 12 = ERROR 7enenennnneneesee

:RS SHOULD STILL BE DESTINATION ADDRESS
ZSRI;V STACK POINTER IS RESTORED

IF 0K
:COPY BAD SP VALUE
tttttttttttttttTEST 12 = ERROR 10t veennnnsnntene
STACK POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED SP IS STORED AT ''SAVRG''
ERRMEOUS SP VALUE IS AT 'BADRG

;CHECK ANSWER
POINT RO TO EXPECTED ANSWER
POINT R1 TO RESULTANT ANSWER
STORE ANSWER LENGTH IN R1
CWARE EACH DIGIT
BR IF EQUAL
tttttttttttttttTEST 12 = ERROR 11teteasasnenanny
ERRONEOUS ANSWER
RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
Rl CONTAINS THE PC+1 OF THE RESULTANT DIGIT
DECRE&NT ANSWER LENGTH
BR IF NOT FINISHED
BR TO KXT TEST
SO\RCE‘I TRING
HOST SIGNIFICANT DIGIT

:SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

;EXPECTED ANSWER

......t.ttt.tt.tttttttttt..t..t.t.ttt.ttt..tt...t...t....tt.tt.

TEST *ADDN'* WITH +SRC1 & -SRC2, ZERO RESULT

...t.....ttt..ttt.ttttt.t..tttt..tttt.tt..tt.t..ttttt.ttttttttt

MACY11 30(1046) SZ-JAN-BZ 08:50 PAGE 33
P11 22-JAN-82 08:49 T12

004172 020467 174456 688: (M
004176 001401 BEQ
004200 104006 ERROR
004202 020567 174450 698:  (MP
004206 001401 BEQ
004210 104007 ERROR
004212 023706 000702 708:  CmP
004216 001403 8E0
ooagzo 010637 000704 MOV
004224 104010 ERROR
004226 718:

004226 012700 004262 MOV
0046232 016701 174420 MOV
004236 016702 174412 MOV
004242 122021 728:  (MPB
004244 001401 BEQ
004246 104011 ERROR
004250 005302 738:  DEC
004252 001373 BNE
004254 000403 B8R
004256 S1T12:

004256 066 .BYTE
004257 161 -BYTE
004260 $2T12:

004260 064 .BYTE
004261 165 .BYTE
004262 ANS12:

004262 166 .BYTE

004264 .EVEN
eTEST 13

004264 $8113:  SCOPE
004366 oo«gor 010440 JSR
004272 000001

004274 004442

004276 000001

% 300 004443

004 304 3829$5 010514 JSR
004310 004567 010530 JSR
004314 ooogOA )
004316 004767 010436 JSR
004322 000277 SCC

I;S.M’REP
?1713
$2T13

0

PC,CLBUF
RS, XPSW

20
PC.GENR

PREPME ARMNTS FOR INSTRUCTION TEST

; SOUR

: SOURCE
:DESTINATION LENGTH
;CLEAR BUFFER AREA

;SET UP GENERAL REGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC'S

SECG 003¢
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CVKAJB.PT
1657 0043264
1658 004326
1659
1660 0043g2
1661 8823
166% 348
1663 00435
1664 004352
1665
1666
1667
1668 004354
1669 004356
1670 004356
1671 004360
167
1673 004362
1674 004364
1675 004366
1676
1677 004370
1678 004372
1679 004374
1680
1681 004376
1682 004400
1683 004402
1684
1685 004404
1686 004410
1687 004412
1688
1689 004414
1690 004420
1691 004422
1692
1693 004426
1694 004430
1695 004632
1696 004436
1697
1698
1699
1700 004440
1701 004440
1702 004442
1703 004442
1704 004443
1705 004443
1706
1707
1708
1709
1710
1711
1712

000244
076050

10?767
042767
023767

020467
0014601
104006

020567
001401
104007
023706
001403

010637
104010

000401
063
163

SZ-JAN-BZ 08: 5013PAGE 36

174244

174236

000702
000704

648:

65%:

66$:

67%:

68S$:

69%:

70$:

71s:

S1T13:
§2T13:

H 3

TEST "ADDN'' WITH +SRCY & -SRC2, ZERO RESULT SEQ 0033

CL2
ADDN

MFPS
BlC
CHpP

BEQ
ERROR

TST
ERROR
TST
ERROR
TST
BEQ
ERROR
TST

8
ERROR
cMP
ERROR
cMp
BEQ
ERROR

cHP
BEQ

ERROR

.BYTE
.BYTE
.EVEN

CCODES

;STORE RESULTANT PSW

#177400,CCODES ;CLEAR UNUSED BITS
@NEXPPSU,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

648

-—

R1
66

3

R2

67

4

R3

688

5

R4 ,DSTLN
69%

6

RS ,DSTAD
70$
7
a#SAVRG, SP
718

SP ,a#BADRS
10

TST14
63
163

:8R, IF EQUAL

JeeannnnnnnnateeTEST 13 = ERROR ttsattnsennnren
PSU ERROR

*EXPECTED PSW IS STORED AT ‘SAVRQ“

:ERRONEOUS SP VALUE IS AT 'BADR6'’

;CHECK RO=0

enennnvnsaanansTEST 13 = ERROR 2tnrennssetneney

:RO_SHOULD BE ZERO
;CHECK R1=0

sannnnnnnanseaaaTEST 13 = ERROR Jenneenenenenens
QLEEQOULD 9t ZERO

JunnteennnnnnneeTEST 13 « ERROR 4rrrennannenttns

:R2 SHOULD BE ZERO
;CHECK R3=0

sannnnnnnnanetsaTEST 13 = ERROR Stenvsensesenene

;R3 SHOULD BE ZERO
sCHECK R4= DESTINATION LENGTH

suennnennnsanaaaaTEST 13 = ERROR Grennnnsnenscnene

‘R4 SHOULD STILL BE DESTINATION LENGTH
:CHECK RS = DESTINATION ADDRESS

sennnnnnnnneaaanaTEST 13 ~ ERROR 7annusnsnevenenc

*RS SHOULD STILL BE DESTINATION ADDRESS
VERIFVOETACK POINTER IS RESTORED

:BR IF

:COPY BAD SP VALUE

ttttaataattttatTESI 13 = ERROR 10rreneannsseracen
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED SP IS STORED AT ’SAVR6

ERRONEOUS SP VALUE IS AT 'BADRG'’

:BR T0 NEXT TEST

;SOURCET STRING
:MOST S%GNIFICANT DIGIT
; SOURCE

TRING
:MOST SIGNIFICANT DIGIT

Qttt.ttt""t"'t'tt't"'t't't"t't't"t't"'tt'ttt"ttttttt't'

TEST *'ADDN'* WITH =SRC1 & ¢SRC2, S1L .LT. S2L, /S2/ .GT. /S1/

tTEST 14

Qtttt'.tttlttt..tl'..'....t'.'.""t"'ttttttt'ttt'ttttttttt.tt
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CVKAJB.P1Y 22-JAN-82 0 TEST "'ADDN'‘ WITH =SRC1 & +SR(2, SIL .LT. S2L, /S2/ .GV, /SV/ SEQ 0034
1713 004444 000004 TST14:  SCOPE
1714 0064646 004567 010260 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
1715 004652 000003 JSOURCET LENGTH
1716 004454 004650 S17T14 ;SOURCE] ADDRESS
1717 004456 000004 4 ;SOURCEQ LENGTH
1718 C04460 004653 2714 .SOURCEZ ADDRESS
1719 004462 (000002 2 ;DESTINATION LENGTH
1720 Q04464 004767 010334 JSR PC.CLBUF ;CLEAR BUFFER AREA
1721 004470 004567 010350 JSR RS XPSW
1722 004476 000210 .WoRD 210
1723 004476 004767 010256 JSR PC,GENR ;SET UP GENERAL REGISTERS
1724 004502 000277 SCC ;SET UP THE COMPLEMENT OF EXPECTED CC'S
1725 004504 000250 CLN
} ;Sg 004506 076050 ADDN
1728 004510 106767 174162 MFPS CCODES :STORE RESULTANT PSW
1729 004514 042767 177400 174154 BIC #177400,CCODES ;CLEAR UNUSED BITS
1730 004522 023767 000700 174146 (o, SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1731 004530 001401 BEQ 648 ;BR, IF EQUAL
1732 004532 104001 ERROR 1 senannnannanvteTEST 14 ~ ERROR T1aannsnneeeenees
1733 :PSW_ERROR .
1734 JEXPECTED PSW 1S STORED AT "SAVR.6.'
1735 :ERRONEOUS SP VALUE IS AT 'BADR6
1736 004534 648:
1737 004534 005700 TST RO ;CHECK RO=0
1738 004536 001401 8EQ 65%
1739 006540 104002 ERROR b4 cennnnnnnnnsannsJEST 14 = ERROR 2eteananennssnss
1740 :RO SHOULD BE ZERO
1741 004542 005701 65%: TST R1 :CHECK R1=0
1742 004544 001401 8EQ 663
1743 004546 104003 ERROR 3 sanannnnnansnnsaJEST 14 - ERROR Inannnaaannnsnee
1744 JR1 S D BE ZERO
1745 004550 005702 66%: 187 R2 sCHECK R2=0
1746 004552 001401 8EQ 67%
1747 004554 104004 ERROR 4 sennnnnnanannansTEST 14 = ERROR 4ernttnnenneneee
1748 :R2 S D BE ZERO
1749 004556 005703 67%: TST R3 ;CHECK R3=0
1750 004560 001401 8EQ 68s
1751 004562 104005 ERROR S sennenennnssssenTEST 14 -~ ERROR Sranatenansranen
1752 :R3 SHOULD BE ZERO
1753 004564 020467 174064 68S$: CHp R4, DSTLN :CHECK R&4= DESTINATION LENGTH
1754 004570 001401 BEQ 69%
1755 004572 104006 ERROR 6 sennanaranannatsaTEST 14 - ERROR Grvntteenncannry
1756 ;R4 SHOULD STILL BE DESTINATION LENGTH
1757 004574 020567 174056 69$: CMP RS ,DSTAD ;CHECK RS = DESTINATION ADDRESS
1758 004600 001401 BEQ 708
1759 004602 104007 ERROR 7 sunnnsneenanexssTEST 14 - ERROR {23213 22 R 2 2N
1760 :R5 SHOULD STILL BE DESTINATION ADDRESS
1761 004606 023706 000702 708 : cHpP a#SAVRG, SP :VERIFY STACK POINTER IS RESTORED
1762 004610 001403 BEQ 718 :BR IF 0K
1763 004612 010637 000704 MoV SP ,#BADRG ;COPY BAD SP VALUE
1764 004616 104010 ERROR 10 sennnnannnnsenasTEST 14 - ERROR 10t sntasenr: scnet
1765 sSTACK _POINTER NOT RESTORED 8Y INSTRUCTION
1766 sEXPECTED SP 1S STORED AT .SAVRbu
1767 ;ERRONECUS SP VALUE IS AT 'BADRéS
1768 004620 718:
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J 3

22~JAN-B2? 08:4 TEST ''ADDN'' WITH
012700 004657 MoV #ANS14 RO
916701 174026 MOV DSTAD R
016702 174020 MOV DSTLN.R2
122021 728: (MP8 (RO)+,(R1)+
001401 BEQ 73%
106011 ERROR 1"
00530 73%: DEC R2
00137 BNE 72%
000405 B8R TST1S
$1T14:
067 .BYTE 67
066 BYTE 66
064 BYTE 64
S2T14:
060 .BYTE 60
070 .BYTE 70
063 .BYTE 63
1m7nm BYTE 17
ANS14:
067 .BYTE 67
165 .BYTE 165
004662 .EVEN

-SRC1 & ¢SRC2, S1L .LT. S2L, /S2/ .GT. /S1/

sCHECK ANSWER

;POINT RO TO EXPECTED ANSWER
:POINT R1 TO RESULTANT ANSWER
;STORE ANSWER LENGTH IN R1

; COMPARE EACH DIGIT
:BR IF EQ

nttttttttttttttTESt 14 - ERROR 11erencennnnnnnne
*ERRONEOUS ANSWER

RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT

R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
DECREHENT ANSWER LENGTH

BR 1F NOT FINISHED

BR TO NEXT TEST

SOURCE1 STRING

HOST SIGNIFICANT DIGIT

:SOURCE2 STRING
;MOST SIGNIFICANT DIGIT

sEXPECTED ANSWER
:MOST SIGNIFICANT DIGIT

't..ttttttttttttttttttt'tt.tttttttttt.tttttttttttttttt'ttttt't'

TEST “"ADDN'* WITH +SRC1 & -SRC2, SIL .GT. S2L, /S2 .GT. /S1/, OVERFLOW

....."'t..'..ttt'."""tt..ttttttttttt.tttttttttttttttttttttt

'TEST 15
TST15 SCOPE
010042 JSR QS.NPREP
sS1T1§
3
EZTIS
010116 JSR PC.CLBUF
010132 JSR RS  XPSW
WORD 2
010040 JSR PC,GENR
+SEN!SEC
+CLZ!CLV
ADDN
173744 MFPS CCODES
177400 173736 8J]C #1776400,CCODES
000700 173730 P alEXPPSU.CCODES
BEQ 648
ERROR 1
648:

PREPARE ARGUMENTS FOR INSTRUCTION TEST

'SOURCE1 LENGTH

sSOURCE1 ADDRESS
:SOURCE2 LENGTH
:SOURCE2 ADDRESS
;DESTINATION LENGTH
;CLEAR BUFFER AREA

sSET UP GENERAL REGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC°S

:STORE RESULTANT PSW

:CLEAR UNUSED BITS

CHECK PSW AGAINST EXPECTED VALUE
IF EQUAL

,tattt-t--tttttttfst 15 = FRROR 1trtecennnnecene

PSW_ERROR
:EXPECTED PSW IS STORED AT °‘SAVRG'
:ERRONEOUS SP VALUE IS AT 'BADRG'
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65%:

66$:

67%:

68S:

69%:

708:

718:

72%:

738:

S1715:

S2T15:

ANS1S:

37

K 3

TEST "'ADDN'‘ WITH +SRC1 & -SRC2, S1L .GT. S2L. /S2 .GV. /S1/, OVERFLOW

TST
BEQ
ERROR
TST

8EQ
ERROR

TST
BEQ
ERROR

TST
8EQ
ERROR

CMP
BEQ
ERROR

CMP
8tQ
ERROR

cMpP
8EQ
MOV

ERROR

DEC

.BYTE
.BYTE
.BYTE

.BYTE
.BYTE

.8YTE

O~
NN On— (V.
w w w

Vo SHOND  WOND
3\#

R4 ,DSTLN
698
3
RS,DSTAD
708

7
¥SAVR6, SP
718

SP, a#8ADR6
10

#ANS15,RC
DSTAD ,R1
DSTLN,R2
(ROY+,(R1)+
738

n

TST16
60

163
6]
63
60

;CHECK RO=0

senannnneenannasTEST 15

;RO SHOULEOBE ZERO

s CHECK R1

sevennsnannnnaasTEST 15

sR1_SHOULD BE ZERO
;CHECK R2=0

aanantnnnnnneasTEST 1§

*R2 SHOULD BE ZERO
1CHECK R3=0

= ERROR 2tntsnvananantene

= ERROR 3Jtnesnantennnren

« ERROR 4rasannnnnannnns

cannnnnsitnasttaTEST 15 = ERROR Stentvnnvensnnns

*R3 SHUULD BE ZERO

JCHECK R4= DESTINATION LENGTH

cansannannsaatastTEST 15 = ERROR Htennnnnnsnnnnry

‘R4 SHOULD STILL BE DESTINATION LENGTH
*CHECK RS = DESTINATION ADDRESS

sunnnanananasnatTEST 15 ~ ERROR 7vantenanensneve

;RS SHOULD STILL BE DESTINATION ADDRESS
:VERIFYOETACK POINTER IS RESTORED

:BR _IF
:COPY BAD SP VALUE

suennnnnnnnensansTEST 15 ~ ERROR 10tennneenneneene

sSTACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED SP IS STORED AT ‘'SAVRG''
;ERRONEOUS SP VALUE IS AT 'BADRG'’

sCHECK ANSWER

sPOINT RO TC EXPECTED ANSWER
sPOINT R1 TO RESULTANT ANSWER
sSTORE ANSWER LENGTH IN R1

; COMPARE EACH DIGIT
;BR IF EQUAL

canvnnnnnsantataTEST 15 « ERROR 11ttnnancennnanen

* ERRONEOUS

WER
;RO CONTAINS THE PC+1 OF THE EXPECTYED DIGIT
sRY CONTAINS THE PC+1 OF THE RESULTANT DIGIY
;DECREMENT ANSWER LENGTH

:BR IF NOT FINISHED

sBR TO NEXT TEST
sSOURCE1 STRING

;MOST SIGNIFICANT DIGIT

sSOURCE2 STRING
;MOST SIGNIFICANT DIGIT

sEXPECTED ANSWER
sMOST SIGNIFICANT DIGIT

SEQ 0036
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8:49 T15

PN 22-JAN-82 0 TEST ""ADDN'* WITH #SRC1 & -SRC2, SIL .GT. S2L, /S2 .GVT. /S1/, QVERFLOW SEQ 0037
005076 060 .BYTE 60 %
005100 .EVEN

AN AN NA RN AN NN R AN NN RN PR NN RN NN RR AN AR R A AR AR AR AN AN AR AA NN RN

;eTEST 16 TEST ADDN WITH =SRC1 & ¢SRCZ2,STL .LT. S2L., /S1/ .GT. 752/ ,0VERFLOW
R e L e e L e L L LD LA R A AR AL DAL ALl

005100 000004 TST16: SCOPE

005102 004567 007624 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

005106 000003 3 :SOURCE1 LENGTH

005110 005304 S1T16 :SOURCE1 ADDRESS

005112 000004 4 :SOURCE2 LENGTH

005114 005307 S2T16 ;SOURCEZ ADDRESS

005116 000002 2 ;DESTINATION LENGTH

005120 004767 007700 JSR PC,CLBUF ;CLEAR BUFFER AREA

005124 004567 007714 JSR RS ,XPSW

005130 000206 .WORD 206

005132 004767 007622 JSR PC.GENR :SET UP GENERAL REGISTERS

005136 000271 +SEN!SEC :SET UP THE COMPLEMENT OF EXPECTED (C'S

005140 000246 +CLZ!CLYV

005142 076050 ADDN

005144 106767 173526 MFPS CCODES :STORE RESULTANT PSW

005150 042767 177400 173520 BIC #177400,CCODES ;CLEAR UNUSED BITS

005156 023767 000700 173512 CMP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

005164 001401 BEQ 649 ;BR, IF EQUAL

005166 104001 ERROR 1 sunnnneennnevaanTEST 16 = ERROR 1ntrnanesssvtnnee
;PSW ERROR
JEXPECTED PSW ]S STORED AT.'SAVRb"
:ERRONEOUS SP VALUE IS AT °BADRG'’

005170 648:

005170 005700 TST RO :CHECK RO=0

005172 001401 8€EQ 65%

005174 104002 ERROR 2 JusnnnnnnaannaanTEST 16 = ERROR 2rtnxsexnstnnney
;RO SHOULD BE ZERO

005176 005701 65$%: TST R1 ;CHECK R1=0

005200 001401 BEQ 66%

005202 104003 ERROR 3 sennnnnasneanaxsTEST 16 ~ ERROR Jaannanenananene
:R1 SHOULD BE ZERO

005204 005702 66$: TST R2 :CHECK R2=0

005206 001401 BEQ 67%

005210 104004 ERROR & sannanannnnasesaaTEST 16 = ERROR 4reevnnentnnanes
:R2 Sﬂogsb BE ZERO

005212 005703 67%: TST R3 :CHECK R3=0

005214 001401 BEQ 68

005216 104005 ERROR 5 ;ttttttttttttttttfst 16 = ERROR Sasnrannsssxnnnee
:R3 SHOULD BE ZERO

005220 020467 173430 68%: CMpP R4 ,DSTLN ;CHECK Ré4= DESTINATION LENGTH

005226 001401 BEQ 69§

005226 104006 ERROR é sunsanannanasaanTEST 16 ~ ERROR Ottxnatansanrteyn
;R4 SHOULD STILL BE DESTINATION LENGTH

005230 020567 173422 69$: CMpP RS,DSTAD ;CHECK RS = DESTINATION ADDRESS

005234 001401 BEQ 708

005236 104007 ERROR 7 ;tttttttttttttttTEST 16 = ERROR 7rsansnssenntnse
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MAIN.  MACY11 30(1046) 22- JAN-82 08: so PAGE 39
VKAJB. P11 22-JAN~82 08:49 T16 TEST ADDN WITH -SP71 & +SRC2,.StL .LT. S2L, /S1/ .GT. /S2/,0VERFLOW SEQ 0038

1937 :RS SHOULD STILL BE DESTINATION ADDRESS

1938 005240 023706 000702 708:  CMP MNSAVRG, SP vealrv STACK POINTER 1S RESTORED

1939 005244 001403 BEQ 71% BR IF O

1940 Q05246 010637 0GG704 MOV SP,a#BADRG ;COPY BAD SP VALUE

1941 005252 104010 ERROR 10 "t"""""'tTEST 16 = ERROR 10t wsnanesnanntanse

1942 :STACK _POINTER NOT RESTORED BY INSTRUCTION

1943 :EXPECTED SP IS STORED AT ''SAVRG'’

1944 :ERRONEOUS SP VALUE IS AT ‘BADR6'’

1945 005254 ”$:

1946 ;CHECK ANSWER

1947 005254 012700 005313 MOV #ANS16 RO POINT RO TO EXPECTED ANSWER

1948 €260 016701 173372 MoV DSTAD.R] ;POINT R1 TO RESULTANT ANSWER

1949 005264 016702 173364 MOV DSTLN.R2 *STORE ANSWER LENGTH IN R1

1950 005270 122021 728:  CMPB  (RO)+.(R1)+ *COMPARE EACH DIGIT

1951 005272 001401 BEQ 73$ :BR IF EQUAL

1952 005274 104011 ERROR 1 sunnnnannnnneaasTEST 16 = ERROR 11vennannnsntnanee

1953 *ERRONEOUS ANSWER

1954 ‘RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT

1955 R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT

1956 005276 005302 738:  DEC R2 *DECREMENT ANSWER LENGTH

1957 005300 001373 BNE 728 *BR IF NOT FINISHED

1958 005302 000405 B8R TST17 ‘BR TO NEXT TEST

1959 005304 $1T16: *SOURCE1 STRING

1960 005304 061 .BYTE 61 ‘MOST SIGNIFICANT DIGIT

1961 005305 067 .BYTE 67

1962 005306 162 .BYTE 162

1963 005307 $2T16: ;SOURCE2 STRING

1964 005307 060 .BYTE 60 *MOST SIGNIFICANT DIGIT

1965 005310 060 BYTE 60

1966 005311 067 .BYTE 67

1967 005312 062 .BYTE 62

1968 005313 ANS16: ;EXPECTED ANSWER

1969 005313 060 .BYTE 60 ‘MOST SIGNIFICANT DIGIT

}3;1 005314 060 ‘BYTE 60

1972 005316 .EVEN

199

1975 122232 282222222222233223333 3222332123233 23433422323332 282333223 323+443;

1976 -rssr 17 TEST ADDN WITH +SRC1 & =SRC2, S1L=S2L, /S1/ .GT./S2/,OVERFLOW

]977 Y 222228322 222322222282 2233232322228 3223 2822332833233 3¢81333228 332323228443/

1978 005316 000004 $8717:  SCOPE

1979 005320 004567 007406 JSR RS ,NPREP : PREPARE ARGUHENTS FOR INSTRUCTION TEST

1980 005324 000003 3 *SOURCET LENGTH

1981 005326 005522 S1T17 *SOURCE1 ADDRESS

1982 005330 000003 3 *SOURCE2 LENGTH

1983 005332 005525 $2T17 *SOURCES ADDRESS

1984 005334 000002 2 *DESTINATION LENGTH

1985 005336 004767 007462 JSR PC, CLBUF *CLEAR BUFFER AREA

1986 005342 004567 007476 JSR RS XPSW

1987 005346 000202 LWORD 202

1988 005350 004767 0074064 JSR PC,GENR ;SET UP GENERAL REGISTERS

1989 005354 000277 SCC *SET UP THE COMPLEMENT OF EXPECTED CC'S

1990 005356 000242 LV

1991 005360 076050 ADDN
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(VKAJB . P11 22-JAN-82 08:49 Ti7 TEST ADDN WITH +SRC1 & -SRC2, S1L=S2L, /S1/ .GT./S2/.OVERFLOW SEQ 0039
1993 005362 106767 173310 MFPS cCo ;STORE RESULTANT PSU
1994 005366 042767 177400 173302 8iC 177400.CCODES ;CLEAR UNUSED B8I1TS
1995 005374 023767 000700 173274 (o, aNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1996 005402 001401 8EQ 648 *BR, IF EQUAL
}ggg 005404 104001 ERROR 1 ;;;t;;tttttttttTEST 17 = ERROR 1xtacesrengtnene
1999 EXPECTED PSW 1S STORED AT ‘'SAVRG''
2000 ERRONEOUS SP VALUE IS AT 'BADRé'
2001 005406 643
2002 005406 005700 TST RO ;CHECK R0=0
2003 005410 001401 8EQ 65$
2004 005412 104002 ERROR 2 senannennnnnns 2TEST 17 = ERROR 2nvtnennannteten
2005 *RO SHOULD BE ZERO
2006 005414 005701 65%: TST R1 ;CHECK R1=0
2007 005416 0014601 BEQ 663
2008 005420 104003 ERROR 3 snnnnananananeaaTEST 17 « ERROR Jnentnnnnwnneene
2009 *R1 SHOULD BE ZERO
2010 005422 005702 668%: TST R2 *CHECK R2=0
2017 005426 001401 BEQ 67%
2012 005426 104004 ERROR 4 sankkkknkkaakaaTEST 17 = ERROR 4rnannnnagentnne
2013 *R2 SHOULD BE ZERO
2014 005430 005703 67%: TST R3 *CHECK R3=0
2015 005432 001401 B8EQ 68%
016 0056434 104005 ERROR 5 sennnnnnnntanastTEST 17 = ERROR Seentnnnananwran
017 *R3 SHOULD BE 2ERO
2018 005436 020467 173212 68$: (MP R4 ,DSTLN ;CHECK Ré4= DESTINATION LENGTH
2019 005442 001401 BEQ 69%
2020 005444 104006 ERROR 6 sunennnnnanattaxTEST 17 = ERROR Grtrnnnsnsnnaenan
2021 *RG SHOULD STILL BE DESTINATION LENGTH
2022 005446 020567 173204 69%: CMp RS ,DSTAD SCHECK RS = DESTINATION ADDRESS
2023 005452 001401 BEQ 70§
2024 005454 104007 ERROR 7 sanannanannnatadaTEST 17 = ERROR 7ntnnaneasaanans
2025 *RS SHOULD STILL BE DESTINATION ADDRESS
2026 005456 023706 000702 708: CMP SASAVRG, SP -VERIFY STACK POINTER 1S RESTORED
2027 005462 001403 8EQ 71% ;BR IF OK
2028 005464 010637 000704 MOV SP,a#BADR6 :COPY BAD SP VALUE
2029 005470 104010 ERROR 10 .-....o....-n..rssr 17 = ERROR 10tnstneannennnny
2030 *STACK POINTER NOT RESTORED BY INSTRUCTION
2031 EXPECTED SP IS STORED AT ‘‘SAVR6'®
2032 *ERRONEOUS SP VALUE IS AT °*BADRG'
2033 005472 718%:
2034 :CHECK ANSWER
2035 005472 012700 005530 MOV #ANS17 RO SPOINT RO TO EXPECTED ANSWER
2036 005476 016701 173154 MOV DSTAD.R1 POINT R1 TO RESULTANT ANSWER
2037 005502 016702 173146 MOV DSTLN,R2 *STORE ANSWER LENGTH IN R1
2038 005506 122021 72$: CMPB (RO)+,(R1)+ *COMPARE EACM DIGIT
2039 005510 001401 BEQ 738 .BR IF EQUAL
2040 005512 104011 ERROR 11 *t't**t**t**tt*TEST 17 ~ ERROR 11essannnananenny
2041 RRONEOUS ANSWER
204 RO CONTAINS THE PC+1 OF THE EXPECTED DIGITY
204 RT CONTAINS THE PC+1 OF THE RESULTANT DIGIT
2044 5514 539§ 738: DEC R% DECREHENT ANSWER LENGTH
2045 551 13 BNE 72% .BR IF NOT FINISHED
504 5S 04 BR TST20 BR TO NEXT TEST
04 55 S1T17: SOURCET STRING
2048 5SS 063 .BYTE 63 *MOST SIGNIFICANT DIGIT
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(VKAJB.PI11 22-JAN-82 08:4 TEST ADDN WITH +SRC1 & -SRC2, S1L=S2L, /S1/ .GT./S2/,0VERFLOW SEQ 0040
2049 005523 065 BYTE 65
2050 005524 067 .BYTE 67
2051 005525 S2eT17: ;SOURCE2 STRING
2052 005525 060 .BYTE 60 HOST SIGNIFICANT DIGIT
20535 005526 063 .BYTE 63
2054 005527 165 .BYTE 165
2055 005530 ANS17: :EXPECTED ANSWER
2056 005530 062 BYTE 62 HOST SIGNIFICANT DIGIT
2057 005531 062 .BYTE 62
2058
2059 .EVEN
2067
¢ )62 AR AANE NN R AR A AREEANNAANARARTA AR EAARERRER AR RRR R AR R AR
2063 'TEST 20 TEST ADDN WITH POSITIVE OPERANDS, OVERFLOW, NO CARRY OUT OF OVERFLOW
2064 vt I s e e I LR R R LR DA AR A AL AL g )]
2065 005532 000004 TSTZO SCOPE
2266 005534 004567 007172 JSR RS .NPREP : PREPARE ARGUHENTS FOr. INSTRUCTION TEST
2067 005540 000003 3 SOURCE1 LENGTH
2068 005542 005736 S1T20 SOURCE1 ADDRESS
2069 005544 000003 3 *SOURCE2 LENGTH
2070 005546 005741 S2T12. 'SOURCEZ ADDRESS
2071 005550 000002 2 ;DESTINATION LENGTH
2072 005552 004767 007246 JSR PC.CLBUF CLEAR BUFFER AREA
2073 005556 004567 007262 JSR RS XPSW
2074 005562 000202 WORD 20
2075 005564 004767 007170 JSR PC.GENR E UP GENERAL REGISTERS
2076 005570 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
2077 005572 000242 CLV
58;3 005574 076050 ADDN
2080 005576 106767 173074 MFPS CCODES :STORE RESULTANT PSW
2081 005602 042767 177400 173066 BIC #1774600,CCODES ;CLEAR UNUSED BITS
2082 005610 023767 000700 173060 CMP SNEXPPSW,CCODES ; SCHECK PSW AGAINST EXPECTED VALUE
2083 005616 001401 BEQ 643 .BR. IF EQUAL
2084 005620 104001 ERROR 1 tttttttttttttttTESf 20 = ERROR 1rannsrennsnnttnn
2085 :PSW ERROR ,
2086 EXPECTED PSW 1S STORED AT 'SAVR§'
2087 ERRMEOUS SP VALUE IS AT 'BADR6'’
2088 005622 648 :
2089 005622 005700 TST RO :CHECK RO=0
2090 (005624 (001401 BEQ 65%
2091 005626 104002 ERROR 2 canennnnnnseswneJEST 20 = ERROR 2ttannnssensnnese
2092 RO SHOULD BE ZERO
2093 005630 005701 65%: TST R1 CHECK R1=0
20946 005632 001401 BEQ 663
2095 005634 104003 ERROR 3 senennnsnnnnenesTEST 20 =~ ERROR 3trwwannsnseeanans
2096 R1 SHOULD BE ZERO
2097 005636 005702 66%: TST R2 :CHECK R2=0
2098 005640 001401 BEQ 67%
2099 005642 104004 ERROR 4 sennnnnnnnsaanaaTEST 20 - ERROR 4entanssnnrenens
2100 RZ SHOULD BE ZERO
2101 005644 005703 67$: TST R3 CHECK R3=0
2102 005646 001401 BEQ 68$
2103 005650 104005 ERROR 5 tttttttl'ttttttTEST 20 - ERROR Stretstsnsneneer
2104 R3 SHOULD BE ZERO
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(VKAJB.P11 22-JAN-82 08:49 120 TEST ADDN WITH POSITIVE OPERANDS, OVERFLOW, NO CARRY OUT OF OVERFLOW SEQ 0041
105 005652 020467 172776 68$: cMp R4 DSTLN ;CHECK R4= DESTINATION LENGTH
106 005656 001401 BEQ 69§
2107 005660 104006 ERROR 6 sanennnnnnannentTEST 20 = ERROR Orvrvnnrennnnene
2108 ;R4 SHOULD STILL BE DESTINATION LENGTH
2109 005662 020567 172770 69%: MP RS, DSTAD ;CHECK RS = DESTINATION ADDRESS
2110 005666 001401 BEQ 708
2111 005670 104007 ERROR 7 sannannnnnnnssxsTEST 20 - ERROR JRERRRRRRRRR RN
2112 ;RS SHOULD STILL BE DESTINATION ADDRESS
2113 005672 023706 000702 708 : cMP @#SAVRG, SP JVERIFY STACK POINTER IS RESTORED
2114 005676 001403 BEQ 718 ;BR IF 0K
2115 005700 010637 000704 MOV SP,a#BADRS ;COPY BAD SP VALUE
2116 005704 104010 ERROR 10 sennnanannaxe v e aTEST 20 = ERROR 10twennnenannnneyn
2117 ;STACK POINTER NOT RESTOREP BY INSTRUCTION
2118 JEXPECTED SP IS STORED AT :SAVR6"
2119 +ERRONEOUS SP VALUE IS AT 'BADR6
2120 005706 718:
2121 ;CHECK ANSWER
2122 005706 012700 005744 MOV #ANS20 ,RO sPOINT RO TO EXPECTED ANSWER
2123 005712 016701 172740 MOV DSTAD ,R1 JPOINT R1 TO RESULTANT ANSWER
2126 005716 016702 172732 MOV DSTLN,R?2 ;STORE ANSWER LENGTH IN R1
2125 005722 122021 72%: CMPB (RO)+,(R1)+ ;COMPARE EACH DIGIT
2126 005724 001401 BEQ 738 ;sBR IF EQUAL
2127 005726 104011 ERROR 11 senenanannenenatTEST 20 = ERROR 11nannnnnavnenene
2128 s ERRONEOUS ANSMWER
21%9 ;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
2130 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
2131 005730 005302 73s: DEC R2 :DECREMENT ANSWER LENGTH
2132 005732 001373 BNE 728 :BR IF NOT FINISHED
2133 005734 000404 B8R TST21 :BR TO NEXT TESY
2134 005736 $1720: ;SOURCE! STRING
2135 005736 070 .BYTE 70 ;MOST SIGNIFICANT DIGIT
2136 005737 062 BYTE 62
2137 005740 064 BYTE 64
2138 005741 $2T120: :SOURCEZ2 STRING
2139 005741 061 BYTE 61 :MOST SIGNIFICANT DIGIT
2140 005742 070 BYTE 70
2141 005743 065 .BYTE 65
2142 005744 ANS20: ;EXPECTED ANSUWER
2143 005744 060 .BYTE 60 :MOST SIGNIFICANT DIGIT
2144 005745 071 BYTE N
2145
2146 .EVEN
4
2149 JINRARARARARRAERANRRRANRREAARARARARAAAAARAANANRARARERRANANRARRARRY
2150 J*TEST 21 TEST INTERRUPTABILITY OF ‘ADDN'’
2151 s AR AR NN AR AR RN RN AR AR RN AR RAAN R AR AR R AR RAAR AN RRR AR AR RAASN
215¢ 005746 000004 T§121:  Scope
2153 005750 105777 172564 1818 SSWR :TEST BIT 7 OF SWR
2154 005754 100555 amMl 1ST22 JSKIP TO NEXT TEST IF SET
2155 005756 026767 172566 172700 P $TPS,TCSR ;IS SLU USED FOR INTERRUPTS THE CONSOLE:
2156 005764 0g1907 BNE TZIC&JT :BR, IF NOT € PERFORM INTERRUPTABILITY TEST
157 005796 032767 000001 172612 BIT lgITO.SENV sIF YES, IS PROGRAM UNDER APT?
158 5774 881403 BEQ T21CONT ;BR, IF NOT
159 5773 §767 172572 TST $PASS J1F YES,.CHECK IF NOT ON FIRST PASS
160 001142 BNE 1ST22 ;IF NOT, BR & SKIP TEST
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MAIN. MACYTT 30(1046) 22-JAN-B2 08:50. PAGE 43 L
'CVKAJB.P11 22~JAN=-82 08:49 121 TEST INTERRUPTABILITY OF ''ADDN SEQ 0042
2161 006004 T21CONT:
216§ 006004 0064567 006722 JSR RS _NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
2163 006010 000004 4 JSOURCET LENGTH
2164 006012 006260 S1T21 ;SOURCE1 ADDRESS
2165 006014 000206 4 sSOURCE2 LENGTH
2169 006016 006264 §2T21 ;SOURCE2 ADDRESS
2167 006020 000905 3 sDESTINATION LENGTH
2168 006022 004767 006776 JSR PC,CLBUF JCLEAR BUFFER AREA
2169 006026 012767 006106 172640 MOV #ADDNPC ,PC] STORE PC OF TEST INSTRUCTION
5170 0060 012777 015114 172626 MOV #INTR,QTVECT POINT TTY VECTOR TO INTERRUPT ROUTINE
171 006042 005077 172624 CLR OTPSH ALLOU INTERRUPTS AFTER TTY INTERRUPT
217§ 006042 004767 007016 JSR TDONE JWAIT FOR SLU READY
217 00605 013777 000554 172606 MoV GJ‘NULL STBUF :SEND NULL CHARACTER
2174 (06060 004567 006760 JSR RS ,XPSW :STORE EXPECTED PSW
2175 000000 .WORD O
2179 006063 106427 000000 MTPS #0 JALLOW INTERRUPTS
217 00607 052777 000100 172564 BIS #100,8TCSR JENABLE TTY INTERRUPTS
2178 006100 004767 006654 READDN: JSR PC.GENR .SET UP GENERAL REGISTERS
2179 006104 000277 SCC ;SET UP THE COMPLEMENT OF EXPECTED CC'S
g;g? 006106 076050 ADDNPC: ADDN
2182 006110 106767 172562 MFPS CCODES ;STORE RESULTANT PSW
2183 006114 032777 000100 172542 BIT #100,3TCSR ;IF INTERRUPTS ARE DISABLED, INSTRUCTION WAS INTERRUPTED
2184 006122 001366 BNE READDN BR £ DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED
2185 006126 042767 1776400 172544 BIC #177600,CCODES ;CLEAR UNUSED BITS
2186 006132 023767 000700 172536 mp S¥EXPPSW,CCODES CHECK PSW AGAINST EXPECTED VALUE
2187 006140 001401 BEQ 648 .BR. IF EQUAL
2188 006142 104001 ERROR sannnenenntensesTEST 21 = ERROR Jretntnvanenenee
2189 PSU ERROR .
2190 EXPECTED PSW IS STORED AT 'SAVR§
219N ;ERRONEOUS SP VALUE IS AT 'BADRG’’
2192 006144 648:
2193 006144 005700 TST RO :CHECK RO=0
2194 006146 001401 BEQ 65%
2195 006150 104002 ERROR 2 JennnnaannnstansTEST 21 « ERROR 2ntevntnnnnennny
2196 ;RO SHOULD BE ZERO
2197 006152 005701 65$: TST R1 :CHECK R1=0
2198 006154 001401 8EQ 66$
2199 006156 104003 ERROR 3 sanananennanseadTEST 21 =~ ERROR 3nentenvennnenee
2200 ¢R1 SHOULD BE ZERO
2201 006160 005702 66$: TST R2 sCHECK R2=
220; 006162 001401 B8EQ 67%
220 006164 104004 ERROR 4 seannnnannnaetatsTEST 21 - ERROR 4esnntannnnnnnese
2204 :R2 SHO%D B8E ZERO
2205 006166 005703 67%: TST R3 :CHECK R3=0
2206 006170 001401 B8EQ 683
2207 006172 104005 ERROR s sennnnnannnannsasTEST 21 = ERROR Stetetavanennnes
2208 ;RY SHOULD BE ZERO
2209 006174 020467 172454 68S$: CmHP R4 ,DSTLN ;CHECK Ré4= DESTINATION LENGTH
2210 006200 001401 BEQ 69%
2211 006202 104006 ERROR 6 cnnnnannnantnensTEST 21 = ERROR Orsassantasssnny
2212 R4 SHOU D STILL BE DESTINATION LENGTH
2213 0062 020567 172446 69%: CHP RS,DSTAD CHECK = DESTINATION ADDRESS
2214 006210 001401 BEQ 708
2215 006212 104007 ERROR 7 sannennnsenwnaeTEST 21 = ERROR 7asstatunannnanes
2216 RS SHOULD STILL BE DESTINATION ADDRESS
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JMAIN.  MACY11_30(1046) 22-JAN-82 08:50_ PAGE &

CVKAJB.P11 22-JAN-82 08:4 121 TEST INTERRUPTABILITY OF '‘ADDN'' SEQ 0043
%g‘l? 006514 023706 000702 708: CMP S#SAVR6, SP VERIFY STACK POINTER IS RESTORED
18 006220 001403 BEQ 718 :BR_IF OK
2219 006222 010637 000704 L SP,a#BADR6 ;COPY BAD SP VALUE
2220 006226 104010 ERROR 10 ;eeanevevesneataTEST 21 = ERROR 10teeeevevevavaee
2221 :STACK POINTER NOT RESTORED BY INSTRUCTION
222 :EXPECTED SP_IS STORED AT 'SAVR6''
222 ;ERRONEOUS SP VALUE IS AT 'BADRS'
2224 006230 718:
2225 sCHECK ANSUER
2226 006230 012700 006270 MoV #ANS21,RO :POINT RO TO EXPECTED ANSWER
2227 006234 016701 172416 mov DSTAD,R1 :POINT R1 TO RESULTANT ANSWER
2228 006240 016702 172410 MoV DSTLN,R2 ;STORE ANSWER LENGTH IN R1
2229 006244 122021 728: CMP8 (RO)+,(R1)+ : COMPARE EACH DIGIT
2230 006246 001401 BEQ 73$ :BR IF EQUAL
2231 006250 104011 ERROR 11 setnnentenananetJEST 21 = ERROR 11nwwnwannnnnnnen
2232 : ERRONEOUS ANSWER
2233 *RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
2234 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
2235 006252 005302 738: DEC R2 :DECREMENT ANSWER (ENGTH
2236 006254 001373 BNE 72$ :BR IF NOT FINISHED
2237 006256 000407 BR ENDT21 :BR T0 END OF THIS TEST
2238 006260 sit21: :SOURCET STRING
2239 006260 061 .BYTE 61 :MOST SIGNIFICANT DIGIT
22640 006261 062 .BYTE 62
2241 006262 063 .BYTE 63
2242 006263 064 BYTE 66
2243 006264 S2121: SOLRC E2 STRI
2244 006264 065 .BYTE 65 SIGNIF ICANT DIGIT
2245 006265 066 BYTE 66
2246 006266 067 .BYTE 67
2247 006267 070 BYTE 70
2248 006270 ANS21: JEXPECTED ANSWER
2249 006270 060 .BYTE 60 :MOST SIGNIFICANT DIGIT
2250 006271 066 .BYTE 66
2251 006272 on BYTE 71
2252 006273 061 BYTE 61
g%gz 006274 062 BYTE 62
2255 006276 .EVEN
2256 006276 016777 172370 172364 ENDT21: MOV TPSW, QTVECT
2257 006304 106427 000200 MTPS #200
2260 ttﬁQttttﬁttt'tt"tttﬁt'ﬁt'ﬁtiQ't.'t"t""ttﬁ"t'ﬁt'ﬁ"tt't"'t
2261 *TEST 22 TEST *'SUBN'' WITH POSITIVE OPERANDS,SRC1 .GT. SRC2
2262 t'ttttttﬁttttttttttt't'ﬁtt'ttttﬁttt't't"ttttt'ttt't'ﬁ't'ttﬁttt
2263 006310 000004 TSTZZ SCOPE
2264 006312 004567 006414 JSR R5 ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
2265 006316 000004 4 :SOURCET LENGTH
2266 006320 006514 S1T122 :SOURCE1 ADDRESS
2¢67 006322 000003 3 ;SOURCE2 LENGTH
2268 006324 006520 ser22 : SOURCE2_ ADDRESS
2269 006326 000003 3 :DESTINATION LENGTH
2270 006330 004767 006470 JSR PC,CLBUF :CLEAR BUFFER AREA

2271 00633¢ 004567 006504 JSR RS XPSW
2272 006340 000210 .WORD 210
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w@ N, MaTri) 30(1046) 22~JAN-82 08:50 PAGE 45 v .
vEAJB . P 22-JAN-82 08:49 122 TEST '‘SUBN'' WITH POSITIVE OPERANDS,SRC? .GT. SRCZ2 SEQG 0044
2273 006342 004767 006412 JSR PC,GENR ;SET UP GENERAL REGISTERS
2274 006346 000277 SCC SET UP THE COMPLEMENT OF EXPECTED (CC*'S
2275 006350 000250 (LN
g%;? 006352 076051 SUBN
2278 006354 106767 ~72316 MFPS CCODES ;STORE RESULTANT PSH
2279 006360 (42767 177400 1723 BIC #177400,CCODES CLEAR UNUSED BITS
2280 0063?6 023767 000700 1723 P SFEXPPSW,CCODES ; CHECK PSW AGAINST EXPECTED VALUE
2281 006374 001600 BEQ 643 BR. IF EQUAL
2282 006376 104001 ERROR 1 saananannssaneseTEST 22 = ERROR 1nnnssenntennnny
2283 :PSW_ERROR .
2284 EXPECTED PSW IS STORED AT "SAVR.6'
2285 ERRONEOUS SP VALUE IS AT 'BADRG’
2c86 (00400 648:
2287 006400 005700 TST RO :CHECK RO=0
2288 006402 001401 8EQ 65%
2289 006404 104002 ERROR 2 senennnnnnannensTEST 22 ~ ERROR 2RERRARARRNNRAASS
2290 RO SHOULD BE ZERO
2291 006406 005701 65%: TST R1 ;CHECK R1=0
2292 006410 001401 8EQ 663
2293 006412 104003 ERROR 3 sernnnnananananaTEST 22 = ERROR 3tvennnnnnsnenss
2294 R1 SHOULD BE 2ERO
2295 006414 005702 66$: TST R2 ;CHECK R2=0
2296 006416 001401 B8EQ 678
2297 006420 104004 ERROR 4 conannnnannanaasTEST 22 = ERROR Lursnntssnnsenst
2298 R2 SHOULD BE ZERO
2299 006422 005703 67%: TST R3 ;CHECK R3=0
2300 006424 (01401 8EQ 68$
2301 006426 104005 ERROR 5 sunnnsnknnnaeataTEST 22 = ERROR Sassnnsaansennen
2302 R3 SHOULD BE 2EROD
2303 006430 020467 172220 68$: cMpP R4 ,DSTLN ;CHECK R4= DESTINATION LENGTH
2304 006434 001401 BEQ 69%
2305 006436 104006 ERROR é rensannnnnnnsaaaTEST 22 = ERROR Orensnnsnnngnnee
2306 R4 SHOULD STILL BE DESTINATION LENGTH
2307 006440 020567 172212 69$: CMP RS ,DSTAD CHECK RS = DESTINATION ADDRESS
2308 006444 001401 8EQ 708
2309 006446 104007 ERROR 7 tttttttttttttttTEST 22 = ERROR 7otnnnnantattnns
2310 RS SHOULD STILL BE DESTINATION ADDRESS
2511 006450 023706 000702 70$: CMp @#SAVRG, SP VERIFY STACK POINTER IS RESTORED
2312 006454 001403 BEQ 71% ‘BR IF OK
2313 006456 010637 000704 MOV SP,a#BADRG :COPY BAD SP VALUE
2314 006462 104010 ERROR 10 tt"t"t"t""TEST 22 = ERROR 10ertsnannnannnee
2315 STACK POINTER NOT RESTMED 8Y INSTRUCTION
2316 :EXPECTED SP IS STORED AT .'SAVR6''
2317 ERR(NEOUS SP VALUE 1S AT 'BADRG
2318 006464 718:
2319 :CHECK ANSWER
2320 006464 012700 006523 MOV #ANS22 ,RO *POINT RO TO EXPECTED ANSWER
2351 006470 016701 172162 MOV DSTAD, R1 POINT R1 TO RESULTANT ANSWER
23 i 006474 016702 172154 MoV DSTLN,R2 *STORE ANSWER LENGTH IN R1
2323 006500 122021 72%: (NP8 (RO)+,(R1)+ CMPARE €ACH DIGIT
2324 006502 001401 8EQ 738 *BR IF EQUAL
2325 006504 104011 ERROR 11 sennnennananenedTEST 22 = ERROR 11nsnvenntcenannt
3%6 *ERRONEOUS ANSWER
327 RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
328 R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
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(VKAJB.P1T  22-JAN-82 08:49 T22 " TEST “SUBN'' WITH POSITIVE OPERANDS,SRC1 .GT. SRC2

23§3 006506 005;0% 73$: DEC R2 :DECREMENT ANSWER LENGTH

23 006510 00137 BNE 728 :BR IF NOT FINISHED

2331 006512 000405 BR TSTZ23 :BR TO NEXT TEST

2%3; 006514 s1122: ;SOURCE1 STRING

233 006514 060 .BYTE 60 :MOST SIGNIFICANT DIGIT

2334 006515 on .BYTE Ial

2335 006516 066 .BYTE 66

2336 006517 062 .BYTE 62

2337 006520 $2122: :SOURCE2 STRING

2338 006520 067 .BYTE 67 :MOST SIGNIFICANT DIGIT

2339 006521 065 .BYTE 65

2340 006522 064 .BYTE 64

2361 006523 ANS22: :EXPECTED ANSWER

2342 006523 062 .BYTE 62 :MOST SIGNIFICANT DIGIT

/343 006524 060 .BYTE 60

2344 006525 170 .BYTE 170

2345

%%29 .EVEN

2348 P LT L i ioiviaioiriniuiinibbiobiviiiidaiuivintiainiini i iababebieiaiaiodd

2349 ;«TEST 23 TEST *"SUBN'® WITH NEGATIVE OPERANDS, SRC1 .GTT. SRC2
2350 AR RN AR AR AR RARRE R AR AR AR RNV E AN EAAAACRARRRRRANS

2351 006526 000004 TS123: SCOPE

2352 006530 004567 006176 JSR RS _NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
2353 006534 000003 3 ;SOURCE1 LENGTH

2354 006536 006730 S1T23 :SOURCE1 ADDRESS

2355 006540 000004 4 :SOURCE2 LENGTH

2356 006542 006733 $2T23 :SOURCE2 ADDRESS

2357 006544 000003 3 :DESTINATION LENGTH

2358 006546 004767 006252 JSR PC,CLBUF :CLEAR BUFFER AREA

2359 006552 004567 006266 JSR RS XPSW

2360 006556 000200 .WORD 200

2361 006560 004767 006174 JSR PC.GENR :SET UP GENERAL REGISTERS

2362 006564 000277 SCL :SET UP THE COMPLEMENT OF EXPECTED CC'S
33322 006566 076051 SUBN

2365 006570 106767 172102 MFPS CCODES :STORE RESULTANT PSUW

2366 006574 042767 177400 172074 BIC #177400,CCODES ;CLEAR UNUSED BITS

2367 006602 023767 000700 172066 NP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

2368 006610 001401 BEQ 649 :BR, IF EQUAL

2369 006612 104001 ERROR 1 JanneaeannenenanaTEST 23 - ERROR 1trssssnscnsnanee
2370 :PSW ERROR

2371 JEXPECTED PSW IS STORED AT."SAVR6"
237% :ERRONEOUS SP VALUE IS AT 'BADR6'’

2373 006614 648:

2374 006614 005700 TST RO ;CHECK RO=0

2375 006616 001401 BEQ 65%

2376 006620 104002 ERROR 2 senntnnensennansJEST 23 = ERROR 2nranatsstattnne
2377 ;RO SHOULD BE ZERO

2378 006622 005701 658%: TST R? ;CHECK R1=0

2379 006624 001401 BEQ 663

2380 006626 104003 ERROR 3 sasennnennanananTEST 23 = ERROR 3tnennnanenannny
238] ;R1 SH b BE ZERO

2382 006630 005702 66$: TST R2 s CHECK R2=0

2383 006632 001401 BEQ 67%

2384 006634 104004 ERROR A sanennennnsceeasTEST 23 = ERROR 4rentnennntanenn
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006636
006640
006642

006644
006650
006652

006654
006660
006662

22-JAN-82 08: 5023PAGE 47

22-JAN-82 08:49

005703
001401
104005

020467
0014601
104006
020567
001401

104007
023706
001403
010637
104010

012700

104011

005302

172004

171776

000702
000704

006737
171746
171740

171570

67%:

68%:

69%:

708 :

718:

72%:

738:

S1723:

§2T723:

ANS23:

1ST
BEQ
ERROR

cMP
BEQ
ERROR

(4,
BEQ
ERROR

CMP
8EQ
MOV
ERROR

H &

TEST ''SUBN'' WITH NEGATIVE OPERANDS, SR(1
:RZ SHOULD BE ZERO
s CHECK R3=0

R3

688

S

R4 ,DSTLN
g9£

RS,DSTAD
708
7
NSAVRG, SP
718

SP, 3#BADRG
10

#ANS23 RO
DSTAD ,R1
DSTLN,R2
(ROY+,(R1)+
738

n

728
TST24
4

66
162

60
70
63
161
6]

63
61

.GTT. SRC2

-ntt-tttttttttttfst 23 = ERROR Sressnnsnnnnnnny

;R3_SHOULD BE ZERO
$CHECK R&= DESTINATION LENGTH

senasnnenssanaeeTEST 23 « ERROR OHnnntnasnntnanns

:RG SHOULD STILL BE DESTINATION LENGTH
:CHECK RS = DESTINATION ADDRESS

JunnannnannenansTEST 23 «~ FRROR 7tttnanannannnny

tRS SHOULD STILL BE DESTINATION ADDRESS
;VERIFY STACK POINTER IS RESTORED

BR IF 0K

;COPY BAD SP VALUE

ttttttttttttttttfs T 23 = ERROR 10vsnesnnsneesnne
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECIED SP IS STORED AT °'‘SAVRG'’

:ERRONEOUS SP VALUE IS AT ‘BADRG'*

sCHECK ANSWER

:POINT RO TO EXPECTED ANSWER
sPOINT R1 TO RESULTANT ANSWER
;STORE ANSWER LENGTH IN R1
:COMPARE EACH DIGIT

:BR IF EQUAL

;tttttttttttttttTEST 23 = ERROR 11tassnnnssnnnnen
ERRONEOUS ANSWE

;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT

:R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
;DECREMENT ANSWER LENGTH

;BR IF NOT FINISHED

BR TO NEXT TEST

SOURCE1 STRING

HOST SIGNIFICANT DIGIT

sSOURCE2 STRING
:MOST SIGNIFICANT DIGIT

SEXPECTED ANSWER
;MOST SIGNIFICANT DIGIT

ttttt'tttt'ttt'tttt'ttttt'ttttt't'tttttt'ttttt'tttttttttt".ttt

TEST INTERRUPTABILITY OF ‘‘SUBN'’

tTEST 24

CANAEAANANREAAN AN AR R AAREARAANARR AR RAAANRARRRA AR AN AANRAN

t§124:

8MI

aSWR
18125

;TEST BIT 7 OF SWR
:SKIP TO NEXT TEST IF SET

SEQ 0046
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104001

005700

005701
001401
104003

005702
001401
104004

005703
001401
104005

020467

SZ-JAN-BZ 08: 50 PAGE 48
124 TEST INTERRUPTABILITY CF '‘SUBN''

171572
000001
171576

005726

000000
000100
005660

171564
000100

177400
000700

171456

171704
171616

71644
71632
171612

171570

171544

171546
171540

T24CONT:

RESUBN:

SUBNPC:

648:

65$:

66$:

678:

68$:

1

$TPS, TCSR

T24CONT

#8IT0, SENV
ONT

25.NPREP
S1T2¢4

4

$2T24

5

PC,CLBUF
#SUBNPC ,PC]
#INTR,STVECT
STPSY N
at§~0LL.ateur
?3 L XPSW

#0
#100,aTCSR
PC.GENR

ccop
0100 arcsa

4

RESUBN
#177400,CCODES

@VEXPPSW, CCODES

648
1

RO
65%
2
R1
66$
3
R
67%
4
R3
68$
5

R4 ,DSTLN

;1S SLU USED FOR INTERRUPTS THE CONSOLE?
:BR, IF NOT & PERFORM INTERRUPTABILITY TEST
;IF YES, IS PROGRAM UNDER APT?

«BR, IF NOT
sIF YES,CHECK IF NOT ON FIRST PASS
:IF NOT, BR & SKIP TESY

; PREPARE ARGUHENTS FOR INSTRUCTION TEST

EA
STORE PC OF TEST INSTRUCTION
sPOINT TTY VECTOR TO INTERRUPT ROUTINE
$ALLOW INTERRUPTS AFTER TTY INTERRUPT
;WAIT FOR SLU READY
sSEND NULL CHARACTER
:STORE EXPECTED PSW

sALLOW INTERRUPTS

sENABLE TTY INTERRUPTS

:SET UP GENERAL REGIST

;SET UP THE COHPLEHENT OF EXPECTED CC'S

;STORE RESULTANT PSW

:IF INTERRUPTS ARE DISABLED, INSTRUCTION WAS INTERRUPTED
*BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED
sCLEAR UNUSED BITS

.CHECK PSW AGAINST EXPECTEV VALUE

0 L4

QUAL
JunnnancanentanaTEST 24 =~ ERROR 1axexesseneeennn
PSU ERROR
EXPECTED PSW IS STORED AT ‘‘SAVR6''
ERRONEOLS SP VALUE IS AT 'BADR6'’

s CHECK RO=0

senanannnnnanaanJEST 24

;RO SHOULD 8E ZERO
:CHECK R1=0

cunnnnnasnnenanaTEST 24

:R1 _SHOULD BE ZERO
:CHECK Re=0

sannnnneannaaneTEST 24
:R2 SHOULD BE ZERO
:CHECK R3=0

cevnnnnnnnnnnensTEST 24

:R3 SHOULD BE ZERO
;CHECK Ré4= DESTINATION LENGTH

ERROR 2vttenesesenentn

ERROR 3rtesnannnnennne

ERROR 4Lrrsvisennanenne

ERROR Seesnsnssannnene

SEQ@ 0047
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CVKAJB.P1T 22-JAN-82 0 TEST INTERRUPTABILITY OF ''SUBN'’ SEQ DOLB
2697 007176 001401 BEQ 698
2498 007200 104006 ERROR 6 suneanannnennsesTEST 24 = ERROR Grovennnaneeenee
26499 :R4 SHOULD STILL BE DESTINATION LENGTH
2500 007202 020567 171450 69%: (Mp RS,DSTAD ;CHECK RS = DESTINATION ADDRESS
2501 007206 001401 BEQ 708
250 007210 104007 ERROR 7 ;tttttttttttttttTEST 24 = ERROR 7#ansanssnnnunne
250 ;RS SHOULD STILL BE DESTiNATION ADDRESS
2504 007212 023706 000702 708: CMP NSAVRG, SP :VERIFY STACK POINTER IS RESTORED
2505 007216 001403 8EQ 718 JBR IF 0K
2506 007220 010637 000704 MoV SP,aBADRG :COPY BAD SP VALUE
2507 007224 104010 ERROR 10 snnannannannsasaTEST 24 =~ ERROR 10nsnnsasnnnantas
2508 sSTACK POINTER NOT RESTORED 8Y INSTRUCTION
2509 JEXPECTED SP IS STORED AT .SAVRé“
2510 :ERRONEOUS SP VALUE IS AT 'BADRé"’
2511 007226 718:
251§ ;CHECK ANSWER
251 007226 012700 007266 MoV #ANS24 RO :POINT RO TO EXPECTED ANSWER
2514 007232 016701 171420 MoV DSTAD ,R1 ;POINT R1 TO RESULTANT ANSWER
2515 007236 016702 171412 MoV DSTLN,R2 ;STORE ANSWER LENGTH IN R1
516 007242 122021 72%: CMPB (RO)+,(R1)+ ;COMPARE SACH DIGIT
2517 007244 001401 BEQ 738 :BR IF EQUAL
2518 007246 104011 ERROR 1 ;tttttttttttttttTEST 24 = ERROR 11stsnssnnsntntnn
2519 :ERRONEQUS ANSWER
2520 ;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
2521 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
2522 007250 005302 738: DEC R2 ;DECREMENT ANSWER LENGTH
2523 007252 001373 BNE 72% :BR IF NOT FINISHED
2524 007254 000407 BR ENDT24 :BR TO END OF THIS TEST
2525 007256 S1T24: ;SOURCE1 STRING
2526 007256 061 BYTE 61 :MOST SIGNIFICANT DIGIT
2527 007257 062 BYTE 62
2528 007260 063 .BYTE 63
2529 007261 064 BYTE 64
2530 007262 S2T24: ;SOURCEZ STRING
2531 007262 065 BYTE 65 :MOST SIGNIFICANT DIGIT
2532 007263 666 BYTE 66
2533 007264 067 BYTE 67
2534 007265 170 .BYTE 170
2535 007266 ANS24: ;EXPECTED ANSWER
2536 007266 060 .BYTE 60 ;MOST SIGNIFICANT DIGIT
2537 007267 066 .BYTE 66
2538 007270 071 BYTE 7N
2539 00721 061 .BYTE 61
%gz? 007272 162 BYTE 162
2542 007274 .EVEN
2543 007274 016777 171372 171366 ENDT24: MOV TPSW,@TVECT
2544 007302 106427 000200 miPs #200
2328
2547 ;;ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
2548 ;«TEST 25 TEST *‘CMPN'’ WITH ALL ZEROES IN BOTH SOURCE STRINGS
2549 ;;ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
2550 007306 000004 TST25: SCOPE
2551 007310 004567 005416 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
2552 007314 000003 3 :SOURCE1 LENGTH
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007316
007320
007322
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007460

005700
001401
104002

005701
001401
104003

005702

005703
001401
104005

020467

001401
104006

000403

SZ-JAN-BZ 08:50 PAGE 50
08:49 125 E

005512
005420

171324
177400
000700

171226

171220

000702
000704

648:

65%:

66%:

67%:

68$:

69%:

70$:

718:

K 4

TEST ‘‘CMPN'‘ WITH ALL ZEROES IN BOTH SOURLE STRINGS SEQ 0049

TST
8EQ
ERROR
TST

8
ERROR
TST
ERROR
TST
ERROR
CMP

8EQ
ERROR

CMP
8EQ
ERROR

CMP
8tQ
MOV
ERROR

B8R

S17T25  ;SOURCE1 ADDRESS

3 ;SOURCE2 LENGTH

$2725 :SOURCEZ ADDRESS

377 :STCRE NON-ZERO VALUE TO TEST R& UNAFFECTED BY '‘CMPN'' IN
RngPSU

PC.GENR ;SET UP GENERAL REGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC'S

CCODES :STORE RESULTANT PSW
#1776400,CCODES ;CLEAR UNUSED BITS
SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
643 sBR, IF EQUAL
sannnanannaaanasTEST 25 =~ ERROR Ietencntnntnensn
;PSW_ERROR
sEXPECTED PSW 1S STORED AT ‘‘SAVR6'’
;ERRONEOUS SP VALUE 1S AT °'BADR6"

ggs s CHECK RO=0

2 sunsseeennseeswaJEST 25 ~ ERROR 2tttsxnttennnnney
:RO SHOULD BE ZERO

213 ;CHECK R1=0

3 Jananannnannanas[EST 25 = ERROR 3Jrtantntsentnvenyw
:R1 SHOULD BE ZERO

ggs :CHECK R2=0

4 ;tttttttttttttttTEST 25 = ERROR 4ssaxtnnnnennnny
:R2 SHOULD BE ZERO

ggs ;CHECK R3=0

5 ;tttttttttttttttTEST 25 = ERROR Stttnstanttnnesw
:R3 SHOULD BE ZERO

R4 ,DSTLN ;CHECK R4 UNCHANGED

69$ :BR IF OK

6 ;tttttttttttttttTEST 25 = ERROR Grrasnnannetnten
;R4 CHANGED
;R6 SHOULD STILL EQUAL CONTENTS OF 'FILL"'

gg§DSTAD ;CHECK RS UNCHANGED

7 sannnnannenenasTEST 25 = ERROR 7rtasanstsanenns
;RS CHANGED
:RS SHOULD STILL EQUAL CONTENTS OF "DSTAD'

@#SAVR6, SP :VERIFY STACK POINTER IS RESTORED

718 :BR IF 0K

SP,84BADRG :COPY BAD SP VALUE

10 ;tttttttttttttttTEST 25 = ERROR 10xvtxnesannsnneyr
:STACK POINTER NOT RESTORED 8Y INSTRUCTION
JEXPECTED SP 1S STORED AT SAVRbf
:ERRONEOUS SP VALUE IS AT 'BADR6"’

TST26 :BR TO NEXT TEST
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CVKAJBR.P'1 22~JAN=-82 08:49 TEST ''CMPN'* WITH ALL ZEROES IN BOTH SOURCE STRINGS SFL 0050

2 007460 S1T25: :SOURCE1 STRING

2610 007460 c60 BYTE 60 HOST SIGNIFICANT DIGIT

2611 007461 060 .BYTE 60

261§ 007462 060 .BYTE 60

261 007463 §2T125: :SOURCE? STR]

2614 007463 060 .BYTE 60 ;MOST SIGNIF ICANT DIGIT

2615 007464 060 .BYTE 60

2616 007465 060 .BYTE 60

2617

2618 .EVEN

s

2621 tttt'tttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

2622 'TEST 26 TEST ''CMPN'’ WITH SRC1 = SR(C2

2623 tttttt'ttttttttttttttttttttttt:tttttttttttttttttttttttttttttttt

2624 007466 000004 TST26 SCOPE

2625 007470 004567 005236 JSR R5 .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

2626 007474 000004 4 SOURCE1 LENGTH

2627 007476 007640 S1T26 :SOURCE1 ADDRESS

2628 007520 000004 4 URCE2 LENGTH

2629 007502 007644 §$2T26 SOURCEZ ADDRESS

2630 007504 000377 377 STORE NON=ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN'' IN

2631 007506 004567 005332 JSR RS ,XPSW

2632 007512 000204 WORD 204

2633 007514 004767 005240 JSR PC,GENR :SET UP GENERAL REGISTERS

2634 007520 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S

gg%g 007522 000244 Lz

gggg 007524 076052 CMPN

2639 007526 106767 171144 MFPS CCODES ;STORE RESULTANT PSW

2640 007532 042767 177400 171136 BIC #177400,CCODES CLEAR UNUSED BITS

2661 007540 023767 000700 171130 CMP SAEXPPSW,CCODES ; CHECK PSW AGAINST EXPECTED VALUE

2642 007546 001401 BEQ 643 BR. IF EQUAL

2643 007550 104001 ERROR 1 sanenenannantsssTEST 26 = ERROR ananansecnnnnnne

2644 PS ERROR

2645 EXPECTED PSW 1S STORED AT *'SAVR6"’

2646 ERRONEOUS SP VALUE IS AT 'BADRé'’

2647 J07552 64$:

2648 007552 005700 TST RO :CHECK RO=0

2649 007554 001401 8EQ 658

2650 007556 104002 ERROR 2 sunannnnnnnassaadJEST 26 = ERROR 2¢rnvanenvnnvnes

2651 RO SHOULD BE ZERO

2652 007560 005701 65%: TST R1 *CHECK R1=0

2653 007562 001401 BEQ 663

2654 007564 104003 ERROR 3 senannsnnsnsananTEST 26 -~ ERROR Jannnannnenrnney

2655 R1 SHOULD BE ZERO

2656 007566 005702 66%: TST R2 CHECK R2=0

2657 007570 001401 8EQ 67%

2658 007572 104004 ERROR & sunnnnnnnentananaTEST 26 = ERROR frrrexnennnnenns

2659 *R2 SHOULD BE ZERO

2660 007574 005703 67%: TST R3 :CHECK R3=0

2661 007576 001401 8EQ 68$

2662 007600 104005 ERROR S sennnnnennennensTEST 26 = ERROR Sttraxssssnnenest
%63 R3 SHOULD BE ZERO

2664 007602 020467 171046 68s$: cmp R&4,5STLN :CHECK R4 UNCHANGED
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MAIN. MACYT1 30(1046) 22-JAN-B2 08:50_ PAGE 52 , |
C(VKAJB.P1T 22-JAN-82 08:49 T26  TEST "CMPN"' WITH SRC1 = SRC2 SEQ 0051

2665 007606 001401 BEQ 69% ;BR IF O

2666 007610 104006 ERROR 6 tttttttttttttttTEST 26 = ERROR Gvtestasantnnnny !
2667 ‘R4 CHANGED

2668 ‘R4 SHOULD STILL EQUAL CONTENTS OF ‘FILL'

2669 007612 020567 171040 69s: (MP R5,DSTAD CHECK R5 UNCHANGED

2670 007616 001401 BEQ 708

2671 007620 104007 ERROR 7 cenenannnnnannnaTEST 26 - ERROR rA231322313122 2221
2672 :RS CHANGED

2573 *R5 SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'

2676 007622 023706 000702 708 : (Mp a#SAVR6, SP ;VERIFY STACK POINTER IS RESTORED

2675 007626 001403 BEQ 718 :BR IF 0K

2676 007630 010637 000704 MOV SP ,a#BADR6 ;COPY BAD SP VALUE

2677 007634 104010 ERROR 10 iwennneneneesnesTEST 26 - ERROR 10%ewnsanennnnnee
2678 STACK POINTER NOT RESTORED BY INSTRUCTION

2679 EXPECTED SP 1S STORED AT ''SAVRG''

2680 *ERRONEOUS SP VALUE IS AT 'BADRG'

2681 007636 718:

2682 007636 000404 B8R 187127 ;BR TO NEXT TEST

2683 007640 S1126: ;SOURCET STRING

2684 007640 071 BYTE 71 :MOST SIGNIFICANT DIGIT

2685 007641 066 BYTE 66

2686 007642 062 BYTE 62

2687 007643 063 .BYTE 63

2688 007644 $2T26: s SOURCE2 STRING

2689 007644 071 BYTE 71 :MOST SIGNIFICANT DIGIT

2690 007645 066 BYTE 66

2691 007646 062 BYTE 62

2692 007647 063 .BYTE 63

2693

2694 .EVEN

i

2697 JARAAARAARARARA AR R AR RN ARR AR RAAARARARRRAAARARRARARCARRAACANS

2698 -resr 27 TEST *'CMPN'* WITH IDENTICAL NON-ZERO MAGNITUDES, NEGATIVE SOURCE2, POSIT!
2699 SRR RA AN SRR AR AN SR TR NN RN AR NAARAAAAARGARARRAARRARERAANS

<700 007650 000004 TSTZ? SCOPE

2701 007652 004567 005054 JSR RS ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST

2702 007656 000004 4 :SOURCET LENGTH

2703 007660 010020 S1T27  ;SOURCE1  ADDRESS

2704 007662 000004 4 ;SOURCE2 LENGTH

2705 007664 010024 s2r127 ;SOURCE2 ADDRESS

2706 007666 000377 377 *STORE NON=-ZERO VALUE TO TEST R4 UNAFFECTED BY "‘CMPN'’ IN
2707 007670 004567 005150 JSR RS XPSW

2708 007674 000200 .worp 200

2709 007676 004767 005056 JSR PC,GENR :SET UP GENERAL REGISTERS

5;}? 007702 000277 SCC SSET UP THE COMPLEMENT OF EXPECTED CC'S

S?}g 007704 076052 CMPN

z714 007706 106767 170764 MFPS CCODES sSTORE RESULTANT PSW

2715 007712 0462767 177400 170756 8IC #177400,CCODES :CLEAR UNUSED BITS

2716 007720 023767 000700 170750 (MP SNEXPPSW,CCODES ; CHECK PSW AGAINST EXPECTED VALUE

2717 007726 001401 648 IF EQUAL

2718 007730 104001 ERROR 1 ‘tttttttltttttttTEST 27 = ERROR 1ensnaansannener
2719 :PSW_ERROR .

2720 SEXPECTED PSW 1S STORED AT '‘SAVR6
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SV XY NT.NT.NT NT N1, STNY N1, V1.8
SNNSN NN N SNNN NSNS N
NN AN LN N PO RO N N
VP VT SRePoL T I NT. SV. F 5

007760

007762
007766
007770

005700
001401
104002

005701
001401
104003

005702
001401
104004

005703
001401
104005
020467

001401
104006

020567
001401
104007

023706

104010

000404

22-JAN-82 08: SO2 PAGE 53

170666

170660

000702
000704

648

65%:

66$%:

67%:

68S$:

698 :

708:

718:

S1T27:

§$2127:

N &
TEST ‘'CMPN'' WITH IDENTICAL NON-ZERO MAGNITUDES, NEGATIVE SOURCE2, POSITIV
;ERRONEOUS SP VALUE IS AT 'BADR6'’

TST RO ;CHECK RO=0

BEQ 658

ERROR P ttttttttttttttthSf 27 = ERROR 2ttttttttttttttt
RO SHOULD BE ZERO

TST R1 JCHECK R1=0

B8EQ 663

ERROR 3 sanenennnwnnanesTEST 27 = ERROR 3Jnwnanwnnnnennee
R1 SHOULD BE ZERO

78T R2 CHECK R2=0

BEQ 678

ERROR 4 sunnannnnnaaananTEST 27 = ERROR 4uneteneennnnene
RZ SHOULD BE ZERO

TST R3 :CHECK R3=0

BEQ 688

ERROR 5 sennnnnnnnnnnnnsTEST 27 -~ ERROR b 22222322222 L 2
R3 SHOULD BE ZERO

CMpP R4 ,DSTLN ;CHECK R4 UNCHANGED

BEQ 69$ :BR IF OK

ERROR é suntannnnnnneaasTEST 27 = ERROR Otvwaswantennes .o
R4 CHANGED

:R4 SHOULD STILL CQUAL CONTENTS OF 'FILL™
ggg §3§DSTAD ;CHECK RS UNCHANGED

ERROR 7 sensansnnnateadaTEST 27 = ERROR 7wnenennnennneee

:R5 CHANGED
¢RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'
ggg ?#SAVR6.SP :VERIFY STACK POINTER IS RESTORED

18 BR IF K
MOV SP,a#BADRS :COPY BAD SP VALUE
ERROR 10 ttttttttttttttttfst 27 ~ ERROR 10treananannnenes
STACK POINTER NOT RESTORED 8y INSTRUCTION
EXPECTED SP IS STORED AT °'‘SAVR6'’
ERRONEOUS SP VALUE IS AT 'BADRéG'’

BR TST30 :BR TO NEXT TEST
:SOURCE1 STRING
BYTE 71 :MOST SIGNIFICANT DIGIT
BYTE 67
.BYTE 65
BYTE 63
:SOURCE2 STRING
BYTE 71 :MOST SIGNIFICANT DIGIT
.BYTE 67
BYTIE 65
BYTE 163
.EVEN

AR AANRRAN AR RERRAREE AR RN RN AR RRARRRRANRN AR CARARARANCRAANRS

SEQ 0052

tTEST 30 TEST *‘CMPN'' WITH IDENTICAL NON-ZERO MAGNITUDES, POSITIVE SOURCE2, NEGATI
fg;iattttttttttttttttttt!t.ttt!ttt!!ttt!..!t!t.!tt!t.tt!ttt!ttttt

SCOPE
JSR R5 ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
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LVKAJB.P11 22-JAN-82 08:49 130 TEST ''CMPN’' WiTH IDENTI AL NON-2ERO MAGNITUDES, POSITIVE SOURCEZ2, NEGATIV SEC 0053
2777 010036 0004 4 :SOURCE1 LENGTH
2778 010040 10202 S1T30 : SOURCE1 " ADDRESS
2779 010042 000004 4 ;SOURCE2 LENGTH
2780 010044 010206 $2130 SOUR E2 ADDRESS
2781 010046 000377 377 STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN'’ [N
2782 010050 004567 004770 JSR RS ,XPSW
2783 010054 000210 .WORD 210
2784 (‘10052 00464767 004676 JSR PC,GENR :SET UP GENERAL REGISTERS
2785 010062 000277 SCC S[ UP THE COMPLEMENT OF EXPECTED CC'S
g;g? 010064 000250 CLN
g;gg 010066 076052 CMPN
2790 010070 106767 170602 MFPS CCODES :STORE RESULTANT PSU
2791 010074 04276; 177400 170574 BIC #177600,CCODES CLEAR UNUSED BITS
2792 010102 023767 000700 170566 (MpP “EXPP.;-.LLUDES *CHECK PSW AGAINST EXPECTED VALUE
2793 0i0110 001607 BEQ (73 4 .BR. IF EQUAL
2794 010112 104001 ERROR 1 ttttt'ﬁ'tt'ttttTEST 30 = ERROR 1reetnsvessenene
2795 :PSW ERROR
2796 EXPECTED PSW IS STORED AT. 3AVR§"
2797 ERRWSOUS SP VALUE IS AT 'BADR6"’
2798 210114 648:
2799 010114 005700 TST RO ;CHECK RO=0
2800 010116 001401 BEQ 65%
2801 010120 104002 ERROR 2 tttttttttttttt'TEST 30 = ERROR 2nrettatnnnevere
2802 RO SHOULD BE ZERO
2803 010122 005701 65%: TST R1 CHECK R1=0
2804 010124 001401 BEQ 663
2805 010126 104003 ERROR 3 sennnnnnnnnnenssTEST 30 = ERROR Jrvensenennevnen
2806 R1 SHOULD BE ZERO
2807 010130 005702 66%: TST R2 JCHECK R2=0
2808 010132 001401 BEQ 67%
280y 010134 104004 ERROR 4 'ttttﬁttt'tttt'TES‘l’ 30 = ERROR 4reeetanantennny
2810 S"%D 8E ZERO
2811 010136 005703 678: TST R3 CHE
2812 010140 001401 8EQ 68$
2813 010142 104005 ERROR 5 sannnnnnrnnneanaTEST 30 - ERROR Seeevvcennneense
2814 sR3 SHOULD BE ZERO
2815 010144 020467 170504 68s$: P R4 DSTLN JCHECK R4 UNCHANGED
2.16 010150 001401 8EQ 698 ;B8R IF OK
2817 010152 104006 ERROR 6 sennnnannnenaendaTEST 30 « ERROR Grteennsesanenne
2818 'R‘ CHANGED
2819 R S D STILL EQUAL CONTENTS OF 'FILL'
2820 010154 020567 170476 698: (0, 4 R5,DSTAD CHEC UNCHANGED
2821 010160 001401 BEQ 70$
2822 010162 104007 ERROR 7 sovananennnnstnsTEST 30 - ERROR 7evserenneneenes
2823 RS HANGED
2824 :RS SHOULD STILL EQUAL CONTENTS OF 'DSTAD''
2825 010164 023706 000702 708: P a#SAVRG, SP VERIFY STACK POINTER IS RESTORED
2826 010170 001403 8EQ 718 BR IF 0K
2827 010172 010637 000704 MoV SP ,a¥BADRS ;COPY BAD SP VALUE
2828 010176 104010 ERROR 10 """“""'"TEST 30 = ERROR 10rvaanaanenateny
2 STACK POINTER NOT RESTMED 8y INSTRUCTIN
28 EXPECTED SP 1S STORED AT ''SAVR6'' .
2831 ERRMEOUS SP VALUE IS AT 'BADRé’

2832 010200 718:
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000404

070
066
064
162

000004

000250
076052

106767
042767
023767
001401
104001

005700
001401
104902

005701
001401
104003

095702
001401
104004

005703

SZ-JAN-SZ 08:50_ PAGE
730

004512

004606
004514

170420
177400 170412

000700

170404

S1730:

S$2730:

55

c S

TEST *‘CMPN'* WITH IDENTICAL NON-ZERO MAGNITUDES, POSITIVE SOURCE2, NEGATIV SEQ 0054

.BYTE
.BYTE
.BYTE
.BYTE

.BYTE
.BYTE

.EVEN

TST31 sBR TO NEXT TEST
;SOURCE1 STRING
zg :MOST SIGNIFICANT DIGIT
64
162
:SOURCE2 STRING
gg ;MOST SIGNIFICANT DIGIT
% |
62

XTI T 2333332222222 a2 et adddsddddiidaitsdsdstididdiidts

'crssr 3

ttttttttttttt'ttttttttt'tttttttttttt.ttttttttttttt.tttttttttttt

75731

648:

65%:

66%:

67%:

SCOPE
JSR

TEST ''CMPN'* WITH +SRC1 & =-SRC2, S1L = S2L, /81/ .GT. /S2/ I

R5 ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
:SOURCET LENGTH
S1731  :SOURCE? ADDRESS
2 OURCE? LENGTH
213 SOURCEZ ADDRESS
377 *STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY "‘CMPN' IN
336XPSH
PC,GENR sSET UP GENERAL REGISTERS

;SET UP THE COMPLEMENT OF EXPECTED (CC'S

CCODES :STORE RESULTANT PSW
#177400,CCODES ;CLEAR UNUSED BITS
ngXPPSH.CCODES :CHECK PSW AGAINST EXPECTED VALUE

:BR,

1 sanannnnnansasnaTEST 31 - ERROR Inrensvecsevecne
:PSW_ERROR

:EXPECTED PSW IS STORED AT ‘‘SAVR6'

:ERRONEOUS SP VALUE IS AT 'BADR6'

ggs ;CHECK RO=0
2 sanannananasnaaaTEST 31 - ERROR 2vrnrenrencneree
:RO_SHOULD BE ZERO

22& $CHECK R1=0

3 senanannannenaneTEST 31 = ERROR 3nrernrereneneee
:R1_SHOULD BE ZERO

R; ;CHECK R2=0

673

sennannnnnnaneneTEST 31 - ERROR 4reevevanrvnnnny

:R2 SHOU D BE ZERO
R3 ;CHECK R3=0
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; CVKAJB. P11 22=~JAN-82 0 TEST ‘CMPN'' WITH +SRC1 & -SRC2, SIL = S2L, /S1/ .GT. /S¢/ SEQ 0055
889 010322 001401 BEQ 68s
890 010324 104005 ERROR b cennnnnnneneneneJEST 31 = ERROR Stentsnnsnentnne
891 RS SHOULD BE ZERO
2892 010 56 020467 170322 68$: (MP R4, DSTLN CHECK R& UNCHANGED
289% 010332 001401 BEQ 69% :BR IF OK
2894 010334 104006 ERROR 6 tttttttttttttttTEST 31 = ERROR Ornnnsnennsentne
2895 Rlo CHANGED
28 Rlo SHOULD STILL EQUAL CONTENTS OF "FILL'
2897 010336 020567 170314 69%: (%, 4 RS5,DSTAD ;CHECK R5 UNCHANGED
2898 010342 001401 BEQ 708
2899 010344 104007 ERROR 7 sennnnnanennnanadTEST 31 = ERROR 7tnantsasttanans
2900 *RS CHANGED
2901 RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD
%%% 010346 023706 000702 708: CNP SNSAVRG, SP VERIFY STACK POINTER IS RESTORED
010352 001403 BEQ 718 :BR IF OK
2904 010354 010637 000704 MOV SP ,3/BADR6 ;COPY BAD SP VALUE
2905 010360 104010 ERROR 10 senanansennrannsTEST 31 - ERROR 10tensnensenneee
2906 STACK POINTER NOT RESTORED BY INS‘IRUCTIN
2907 EXPECTED SP IS STORED AT °'‘SAVR6'’
2908 ERRMEWS SP VALUE IS AT 'BADRéG'’
2909 010362 718:
2910 010362 000402 8R TST32 :BR TC NE)(T TEST
2911 010364 S1T31: SO\RCH TRING
2912 010364 o7 BYTE 71 MST SIGNIFICANT DIGIT
2913 010365 066 .BYTE 66
2914 010366 S$2131: :SOURCE2 STRING
2915 010366 066 BYTE 66 sMOST SIGNIFICANT DIGIT
2916 010367 1”7 BYTE 17N
2917
2918 .EVEN
5920
2921 LTS L LT T L] L L A diduiviaividaivinidaibiai i irtbaidiubidobodeduiadobdadedodndl
2922 tTESI 32 TEST *‘CMPN'* WITH -SRC1 & +SRC2, SIL = S2L, /S1/ .GT. /S2/
2923 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
2924 010370 000004 75132 SCOPE
2925 010372 004567 004334 JSR RS NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
2926 010376 000003 3 *SOURCET LENGTH
2927 010400 010542 S1732  ;SOURCE1 * ADDRESS
2928 010402 000003 3 ;SOURCE? LENGTH
29% 010404 010545 ;732 SO\RCE ADDRESS
29 010406 000377 7 SI(RE NON=-ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN'’ IN
2931 010410 004567 004430 JSR RS, XPSW
29%; 010414 000210 .WoRD 210
29 010416 004767 004336 JSR PC,GENR :SET UP GENERAL REGISTERS
2934 010422 000267 +SEV!SEZ!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
53;2 010424 000250 CLN
228% 010426 076052 CMPN
2939 010430 106767 170242 MFPS CCODES :STORE RESULTANT PSW
2940 010434 042767 177400 170234 8IC #177400,CCODES *CLEAR UNUSED BITS
2941 010442 023767 000700 170226 CMP SNVEXPPSHW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
2945 010450 001401 BEQ 648 .BR. IF EQUAL
294 010452 104001 ERROR 1 ttnttttttttnttfst 32 = ERROR 1arasnsasanennnyr

2944 :PSW ERROR
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(VKAJB.P11 22-JAN-82 08:49 132 TEST "'CMPN'' WITH =SRC1 & +SRC2, SI1L = S2L., /S1/ .GY. /S82/ SEQ 0056
2945 SEXPECTED PSW IS STORED AT ‘SAVRQ”
2946 JERRONEOUS SP VALUE IS AT 'BADRéE’
2947 010454 668 :
2948 010454 005700 TST RO ;CHECK RO=0
2949 010456 001401 BEQ 65%
950 010460 104002 ERROR P sannnannnnnateasTEST 32 = ERROR 2tteestnannnnnee
51 RO SHOULD BE ZERO
2952 010462 005701 65%: TST R1 ;CHECK R1=0
2953 010464 001401 BEQ 663
2954 010466 104003 ERROR 3 sannnnnnannanttaTEST 32 « ERROR Jrenensnnnnnenny
2955 ;R1 SHOULD BE ZERO
2956 010470 005702 668$: TST R2 ;CHECK R2=0
2957 010472 001401 8EQ 678
2958 010474 104004 ERROR 4 sennnnnnnnnasandTEST 32 =~ ERROR 4ronnnnnesnaneer
2959 RZ SHOULD BE ZERO
2960 010476 005703 67%: TST R3 $CHECK R3=0
2961 010500 001401 8EQ 68%
2 010502 104005 ERROR S sunnnnnnnnenneetTEST 32 « FRROR Stenneannenennnne
296 R3 SHOULD BE ZERO
2964 010504 020467 170144 68$: CMP R4 ,DSTLN ;CHECK R4 UNCHANGED
2965 010510 001401 BEQ 698§ :BR IF OK
2966 010512 104006 ERROR 6 sensennsannnanssTEST 32 = ERROR fresntssassestens
2967 R4 CHANGED
2968 R4 SHOULD STILL EQUAL CONTENTS OF °*¥FILL'
2969 010514 020567 170136 698: cMpP RS,DSTAD CHECK RS UNCHANGED
2970 010520 001401 8EQ 708
2971 010522 104007 ERROR 7 sesnnnnnnnsanedaJEST 32 - ERROR 7tttvsnvntnsenesr
2972 RS CHANGED
2973 RS SHOULD STILL EQUAL CONTENTS Of ‘DSTAD'’
2974 010524 023706 000702 708: Cmp @#SAVRG, SP JVERIFY STACK POINTER IS RESTORED
2975 010530 001403 BEQ 718 BR IfF 0K
2976 010532 010637 000704 MOV SP ,a#BADRG ;COPY BAD SP VALUE
2977 010536 104010 ERROR 10 tttttttttttttttTEST 32 = ERROR 10ttrennnssrenens
2978 STACK POINTER NOT RESTORED BY INSTRUCTION
2979 :EXPECTED SP IS STORED AT '‘SAVRG'®
2980 ERRONEOUS SP VALUE IS AT ‘BADR6
2981 010540 718:
2982 010540 000403 B8R YST33 sBR TO NEXT TEST
2983 010542 S1132: :SOURCE! STRING
2984 010542 070 BYTE 70 JMOST SIGNIFICANT DIGIT
2985 010543 063 BYTE 63
2986 010544 161 BYTE 161
2987 010545 §2T132: ;SOURCE2 STRING
2988 010545 061 BYIE 61 JMOST SIGNIFICANT DIGIT
2989 010546 063 BYTE 63
2990 010547 070 BYTE 70
2991
2992 .EVEN
2993
2995 JIRRARRAAAAEEEAAAARANARARAAAEAARACEARAAIARAAEAARAAAAEENERARAAARAR RS
2996 s*TEST 33 TEST "'CMPN’' WITH S1L = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE IS GREAT
2997 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

2998 010550 $6733:  SCOPE
%33 31 52 004567 004154 JSR RS NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
010556 000004 4 *SOURCET LENGTH
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3001 010560
300% 010562
3003 010564
3004 010596
3005 010570
3006 010574
3007 010576
3008 010602
3009 010604
3010
3011 010606
3012
3013 010610
30145 010614
3015 010622
3016 0106
3017 010632
3018
3019
3020
3021 010634
302% 010634
3023 010636
3024 010640
3025
3026 010642
3027 010644
3028 010646
30¢9
3030 010650
3031 010652
3032 010654
3033
3034 010656
3035 010660
3036 010662
3037
3038 010664
3039 010670
3040 010672
3041
304§
3043 010674
3044 010700
3045 010702
3046
3047
3048 010704
3049 010710
3050 010712
3051 010716
305

5

5S4
3055 010720
3056 010720

010722
000004

010726
000377
004567

22-JAN~-82 08:50_ PALE 58
08:49 133

004250
004156

170062
177400
000700

167764

167756

000702
000704

170054
170046

64%:

65%:

66$:

67$%:

68%:

69%:

708 :

718:

F 5

TEST "'CMPN'' WITH S1L = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE IS GREATE SEQ 0057

ERROR

cHP
8EQ

ERROR

S1T33  ;SOURCE1 ADDRESS
4 OURCE? LENGTH

$2133 SOURCEZ ADDRESS

377 :STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY '‘CMPN'’
g?OXPSU

PC.GENR ;SET UP GENERAL REGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC'S

CCODES ;STORE RESULTANT PSW
#177600,CCODES ;CLEAR UNUSED BITS
SNEXPPSW,CCODES CHECK PSW AGAINST EXPECTED VALUE
648 BR IF EQUAL
tttttttttttttttTEST 33 ~ ERROR Intsnnannnttenns
:PSW ERROR
EXPECTED PSW IS STORED AT '‘SAVR6''
ERRONEOUS SP VALUE IS AT 'BADRG"’

ggs sCHECK RO=0

b sonnnnannnnanataTEST 33 = ERROR 2nannvenntneense
;RO _SHOULD BE ZERO

gzs :CHECK R1=0

3 sennnnnnananeasdaTEST 33 = ERROR Invennsenvvennee
sR1 _SHOULD BE ZERO

ggs ;CHECK R2=0

4 cennnnnnnnnneadaTEST 33 - ERROR Lnannvnnnvnannny
:R2 SHOg%D BE ZERO

ggs s CHECK

S jennnnnnnnnantsaTEST 33 - ERROR Stevnvenvneenner
:R3 SHOULD BE ZERO

R4 DSTLN sCHECK R4 UNCHANGED

69$ :BR IF OK

é sennnanennneanaasTEST 33 - ERROR Greveenvnnsenaese
:R4 CHANGED
R4 S D STILL EQUAL CONTENTS OF 'FILL''

§g£DSTAD s CHECK UNCHANGED

7 sennaneeannaa vt TEST 33 ~ ERROR 7vvevtenventeten
:RS CHANGED
;RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'

SNSAVRE, SP ;VERIFY STACK POINTER IS RESTORED

718 :BR IF OK

SP,a#BADR6 :COPY BAD SP VALUE

10 tttttttttttttttTEST 33 ~ ERROR 10teterastxexnerne
:STACK_POINTER NOT RESTORED BY INSTRUCTION
SEXPECTED SP IS STORED AT '‘SAVRé''
:ERRONEOUS SP VALUE IS AT 'BADR6'’

TST34 ;BR TO NEXT TEST
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CVKAJB.P11 22-JAN-82 08:49 T33  TEST "CMPN' WITH SIL = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE 1S GREATE SEQ 0058

3057 0722 S1733: sSOURCE1 STRING

01
3058 0107 ; 067 BYTE (7 ;MOST SIGNIFJICANT DIGIT
3059 01072 066 BYTE 66
3060 010724 065 BYTE 65
3061 010725 064 BYTE 64
306% 010726 §2T33: ;SOURCE2 STRING
306 010726 067 .BYTE 67 sMOST SIGNIFICANT DIGIT
3064 010727 066 BYTE 66
3065 010730 065 BYTE 65
3066 010731 065 .BYTE 65
3067
3068 .EVEN
22
3021 R T e e L At iy
3072 ;*TEST 34 TEST ‘‘CMPN'* WITH S2L .GT. S1L, SUCCESSFUL COMPARE
3073 Rt e L e A T e T e et et e L e
5074 010732 000004 TST34: SCOPE
3075 010734 004567 003772 JSR RS _NPREP SPREPARE ARGUMENTS FOR INSTRUCTION TEST
307¢ 010740 000002 2 sSOURCET LENGTH
3077 010742 011104 $17134 ;SOURCE1 ADDRESS
3078 010744 000004 4 :SOURCEZ2 LENGTH
3079 010746 011106 $2134 sSOURCE2 ADDRESS
3080 010750 000377 377 :STORE NON-ZERDO VALUE TO TEST R4 UNAFFECTED BY ‘CMPN’’ IN
3081 010752 004567 004066 JSR RS, XPSW
3082 010756 000204 LWORD 204
3083 010760 004767 003774 JSR PC,GENR ;SET UP GENERAL REGISTERS
3084 010764 000277 SCC sSET UP THE COMPLEMENT OF EXPECTED CC'S
3085 010766 000244 L2
3087 010770 076052 CMPN
3089 010772 106767 167700 MFPS CCODES ;STORE RESULTANT PSW
3090 010776 042767 177400 167672 81C #177600,CCODES :CLEAR UNUSED BITS
3091 011004 023767 000700 167664 cmp SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
3092 011012 001401 BEC 648 ;BR, IF EQUAL
309 011014 104001 ERROR 1 centnnnnannnaedsTEST 34 = ERROR 1antentnnsnntnen
3094 ;PSW ERROR
3095 SEXPECTED PSW 1S STORED AT "SAVR.6"
3096 JERRONEOUS SP VALUE IS AT 'BADRG'’
3097 011016 64$:
3098 011016 005700 TST RO ;CHECK RO=0
3099 011020 001401 8EQ 65%
§1oo 011022 104002 ERROR 2 sennnanennnnanseTEST 34 - ERROR 2evsntnnanennens
101 ;RO SHOULD BE ZERO
3102 011024 005701 65$: TST R1 ;CHECK R1=0
103 011026 001401 BEQ 66$
106 0110 1046003 ERROR 3 sennsanseneennesTEST 34 ~ ERROR 3resnennensnnnee
3105 :R1 S D BE ZERO
3106 011032 005702 668: TST Rg :CHECK R2=0
3107 011034 001401 BEQ 67%
3108 011036 104004 ERROR 4 ;enennnansseannsTEST 34 = ERROR 4eesnensnennntnn
3109 JR2 S D BE ZERO
gno 811040 005703 67%: TST R3 ;CHECK R3=0
m 11042 001401 8EQ 68$
3112 011044 104005 ERROR S JeesnsnnnnenrasJEST 34 =~ ERROR Senesnennantenne
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020467
001401
1046006

H 5
gZ-JAN-82 08:50_ PAGE 60
08:49 T34 E

TEST "'CMPN'' WITH S2L .GT. S1L, SUCCES3FUL COMPARE SEQ 0059
;R3 SHOULD BE ZERO
167602 68s$: (4, 4 R4 DSTLN ;CHECK R4 UNCHANGED
BEQ 69% ‘BR IF OK
€ERROR 6 sunanannnananswsTEST 34 - ERROR Gervcannennanans
;R6 CHANGED
R4 SHOULD STILL EQUAL CONTENTS OF ‘F¥ILL'
167574 69%: gg ;3‘DSTAD ;s CHECK RS UNCHANGED
ERROR 7 senseseannnaeeedTEST 34 - ERROR 7tnnnessnnseenes
;RS CHANGED
;RS SHOULD STILL EQUAL CONTENTS OF 'DSTAD’’
000702 708: cMpP @#SAVRG, SP :VERIFY STACK POINTER 1S RESTORED
BEQ 718 JBR IF 0K
000704 MOV SP,a#BADRG ;COPY BAD SP VALUE
ERROR 10 JannnenanennnnasTEST 34 =~ ERROR 10taesassesnnnss
;STACK POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED SP IS STORED AT '‘SAVRG''
7s ;ERRONEOUS SP VALUE IS AT °‘BADRG
B8R TST3S ;BR TO NEXT TEST
S1734: :SOURCE1 STRING
BYTE 67 :MOST SIGNIFICANT DIGIT
BYTE 7N
§2T34: ;SOURCEZ2 STRING
BYTE 60 :MOST SIGNIFICANT DIGIT
.BYTE 60
BYTE 67
BYTE 7N
.EVEN
L L L L e L L L L L Ll L L L nbdvininiaidabrintr bbbk
:«TEST 35 TEST *‘CMPN'’ WITH NEGATIVE OPERANDS & SRC2 LENGTH .GT. SRC1 LENGTH, NON-Z
éé;;;tttzzggttt'tttttttttttttttttttttttttttttttttttttttttttttttt
003612 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
2 :SOURCE1 LENGTH
S1T35  ;SOURCE! ADDRES
4 sSOURCE2 LENGTH
$2135 ;SOURCEZ ADDRESS
377 :STORE NON=ZERO YALUE TO TEST R4 UNAFFECTED BY 'CMPN'' IN
003706 JSR RS XPSW
.WORD 200
003614 JSR PC,GENR ;SET UP GENERAL REGISTERS
SCC JSET UP THE COMPLEMENT OF EXPECTED CC'S
CMPN
167522 MFPS CCODES SSTORE RESULTANT PSW
177400 167514 8I1C #177400,CCODES ;CLEAR UNUSED BITS
000700 167506 cMP QNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
8EQ 643 JBR, IF EQUAL
ERROR 1 sensenenanenneesTEST 35 - ERROR 1eeeavevevenennn

:PSW _ERROR
;EXPECTED PSW IS STORED AT °‘SAVR6'
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MAIN. MACY1Y 30(1046) 22 JAN-82 08:50_ PAGE 61

(VKAJB.PVY 20-JAN-82 08:¢ T35 TEST '‘CMPN'‘ WITH NEGATIVE OPERANDS & SRC2 LENGTH .GT. SRC1 LENGTH, NON-ZE SEQ@ 0060
3169 :ERRONEQUS SP VALUE IS AT 'BADRG'’
3170 011174 648
3177 011376 005700 TST RO s CHECK R0O=0
3172 011176 001601 BEQ 658
3173 011200 104002 ERROR ¢ reenanansnnnasedTEST 35 = ERROR 2enntnnnntwnnntnn
3174 RO SHOULD BE ZERO
3175 011202 005701 65%: TST R1 ;CHECK R1=0
3176 011206 001401 BEQ 263
3177 011206 104003 ERROR seennnnannneaensTEST 35 - ERROR Jeannvnennanesen
3178 R1 SHOULD BE ZERO
3179 011210 005702 66S: TST R2 CHECK R2=0
3180 011212 001401 BEQ 678
3181 011214 104004 ERROR & sentnnannnneeassTEST 35 « ERROR 4rovenananennnny
3182 R2 SHOULD BE ZERO
3183 011216 005703 67%: TST R3 .C ECK R3=0
3184 011220 001401 B8EQ 68$
3185 011222 104005 ERROR 5 sennnnannnnenessTEST 35 ~ ERROR Sevveenennncaner
3186 RS SHOULD BE ZERO
3187 011224 020467 167424 688$: CMP R4, DSTLN CHECK R4 UNCHANGED
3188 011230 001401 BEQ 69% :BR IF OK
3189 011232 1046006 ERROR 6 tttttttttttttttTEST 35 « ERROR 6arsnansssnnnneye
3190 Rl. CHANGED
3191 Rlo SHOULD STILL EQUAL CONTENTS OF 'FI.L'
3192 011234 020567 167416 69%: CMpP RS ,DSTAD CHECK RS UNCHANGED
3193 011240 001401 BEQ 708
%192 011242 104007 ERROR 7 t;tt"t"tt"t-TEST 35 = ERROR 7trtsanssnnnseny
19 ;R ED
3196 RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'
3197 011244 023706 000702 708 : cMP SNSAVRG, SP VERIFY STACK POINTER IS RESTORED
3198 011250 001403 BEQ 718 BR IF
3199 011252 010637 000704 mov SP,a#BADRS ; COPY BAD SP VALUE
3200 011256 104010 ERROR 10 """"t"tt"TEST 35 = ERROR 10vtresannnnnnnsy
3201 'STACK POINTER NOT RESTMED 8y INSTRUCTI(N
3202 SEXPECTED SP IS STORED AT °SA VR6.
3203 E RONEOUS SP VALUE ]S AT ‘BADR6'’
3204 011260 71%:
3205 011260 000403 B8R TST36 :BR 10 'EKT TEST
3206 011262 S1T35: sSOURCET S
3207 011262 070 .BYTE 70 'MST SIGNIFICANT DIGIT
3208 011263 161 .BYTE 161
3209 011264 §2T135: ;SOURCE2 STRING
3210 011264 061 BYTE 61 MST SIGNIFICANT DIGIT
3211 011265 060 .BYTE 60
3212 011266 070 .BYTE 70
3213 011267 161 BYTE 161
3214
3215 .EVEN
3517
3218 R L L L R LA A A L LA LA L Lt S L b dviainiainbadaindaintaiuiaiuidaiviad
3219 *TEST 36 TEST "'CMPN’'' WITH POSITIVE OPERANDS & SRC2 LENGTH .GT. SRC1 LENGTH, NON-?
3220 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
3221 011270 000004 TST36 SCOPE
3222 011272 004567 003434 JSR RS _NPREP :PREPARE ARGLHENTS FOR INSTRUCTION TEST
3223 011276 000002 2 SOURCE1 LENGTH
3226 011300 011442 S1T36 SOURCEl ADDRESS
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MAIN. MACYIT 30(1046)  22-JAN-82 08:50, PAGE 62 .. .
08:49 136 TEST “'CMPN'* WITH POSITIVE OPERANDS & SRC2 LENGTH .GT. SRC! LENGTH, NON-2E SEQ 0061

CVKAJB.P11 22-JAN-82

3225 011302 000004 4 ;SOURCE2 LENGTH
3§26 on 011445 $2736 ;SOURCEZ2 ADDRESS
c%? 011%06 000377 377 :STORE NON-ZERO VALUE TO TEST R& UNAFFECTED BY ‘‘CMPN'’ IN
3228 011310 004567 003530 JSR RS XPSW
3229 011314 000210 .WoRD 210
3230 011316 004767 003436 JSR PC.GENR ;SET UP GENERAL REGISTERS
3231 011322 000277 SCC ;SET UP THE COMPLEMENT OF EXPECTED (CC'S
;2; 011324 000250 (LN
gggg 011326 076052 CMPN
3339 011330 106767 167342 MFPS CCODES ;STORE RESULTANT PSW
323 011%24 0462767 172400 167334 BIC #177400,CCODES ;CLEAR UNUSED BITS
238 011342 023767 000700 167326 CMP ANEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
3239 011350 001401 BEQ 6493 :BR, IF EQUAL
3260 011352 104001 ERROR 1 snnnnanennnawaaaTEST 36 - ERROR 1erevensensnvenn
3241 ;PSW ERROR
3242 EXPECTED PSW IS STORED AT ‘'SAVR6''
3243 ;ERRONEOUS SP VALUE IS AT 'BADRG"’
3244 011354 64$:
3245 011354 005700 TST RO :CHECK RO=0
3246 011356 001401 BEQ 65$
3247 011360 1064002 ERROR 2 sennnnnnnnansasdTEST 36 -~ ERROR 2enevennnnsnnnne
3248 ;RO SHOULD BE ZERO
3249 011362 005701 658$: TST R1 ;CHECK R1=0
3250 011364 001401 BEQ 663
3251 011366 104003 ERROR 3 cannnnnnnnnnnananTEST 36 = ERROR 3Jrtnannnsnasnnny
3252 ;R1 SHOULD BE ZERO
3253 011370 005702 6683 : TST R2 :CHECK R2=0
32564 011372 001401 BEQ 67%
3255 011374 104004 ERROR & sannnnnnnnnaasatTEST 36 ~ ERROR Lrevvnanannanene
3256 ;R2 SHOULD BE ZERO
3257 011376 005703 67%: TST R3 :CHECK R3=0
3258 011400 001401 BEQ 68$%
3256 011402 104005 ERROR 5 sennengennnananaEST 36 = ERROR Stannnnnsnnnnenne
3260 ;R3 SHOULD BE ZERO
3261 011404 020467 167244 68$: o, R4 DSTLN ,CHECK R4 UNCHANGED
3262 011410 001401 BEQ 69% :BR IF OK
3263 011412 104006 ERROR 6 ;tttttttttttttttTEST 36 = ERROR Gtrescnnnnnnanene
3264 ;R4 CHANGED
3265 sR&4 SHOULD STILL EQUAL CONTENTS OF ‘FILL"'
3266 011414 020567 167236 69%: cmp RS ,DSTAD ;CHECK RS UNCHANGED
3267 011420 001401 BEQ 708
3268 011422 104007 ERROR 7 :tttttttttttttttTEST 36 - ERROR 7ressnnnsesnnnne
3269 :RS CHANGED
3270 :RS SHOULD STILL EQUAL CONTENTS OF 'DSTAD'’
3271 011424 023706 000702 708 : WP a#SAVRG, SP :VERIFY STACK POINTER IS RESTORED
3272 011430 001403 BEQ 718 ;BR IF OK
3273 011432 010637 000704 “ov SP,a#BADRG ;COPY BAD SP VALUE
3274 011436 104010 ERROR 10 ;tttttttttttttttTEST 36 = ERROR 10tresnanannnnnny
3275 :STACK POINTER NOT RESTOREP BY IN§TRUCTION
3276 :EXPECTED SP 1S STORED AY .SAVRé
77 sERRONEOUS SP VALUE IS AT 'BADRéG'’
3278 011440 718:
3279 011440 000403 BR 1ST37 ;BR TO NEXT TESY
3280 0114642 S1736: ;SOURCET STRING
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49 136

$2736:

.BYTE
.BYTE
.BYTE

.BYTE
.BYTE

.EVEN

K 5

TEST "'CMPN'* WITH POSITIVE OPERANDS & SRC2 LENGTH .GT. SRC1 LENGTH, NON-ZE SEQ 0062

70 ;MOST SIGNIFICANT DIGIT
61
:SOURCE2 STRING
98 “MOST SIGNIFICANT DIGIT
61
S S I e ezt iatadddididsdtiadadadaddstadadlsd)
TEST ''CMPN'' WITH S1L .GT. S2L, SUCCESSFUL COMPARE

tTEST 37

tttttttttttttt'ttittttttttttttttttttttttt'ttttttttttttttt'tt"t

TST37

64$:

65$:

66%:

67%:

68$:

SCOPE
JSR

TST
8EQ
ERROR
TST
ERROR
TST
ERROR
TST
8EQ
ERROR
CMP
BEO

RS ,NPREP PREPARE ARGUMENTS FOR INSTRUCTION TEST

4 SOURCE1 LENGTH

$1737  ;SOURCE1 ADDRESS

2 ; SOURCE?2 LENGTH

S2137 : SOURCE2 ADDRESS

377 *STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY '‘CMPN'" IN
gngPSU

PC,GENR ;SET UP GENERAL REGISTERS
:SET UP THE COMPLEMENT OF EXPECTED CC'S

CCODES ;STORE RESULTANT PSW

#177600,CCODES  :CLEAR UNUSED BITS

ngXPPSH.CCODES gng% PSH AGAINST EXPECTED VALUE

1 tt;ttttttttttttTEST 37 = ERROR 1xnnsnnntantnnnes
:PSW_ERROR
SEXPECTED PSW IS STORED AT '‘SAVR6'
:ERRONEOUS SP VALUE IS AT ‘BADRG'

zgs :CHECK RO=0

2 sunananannxwnessTEST 37 = ERROR 2ntnnnnsnnnrnees
:RO_SHOULD BE ZERO

2;3 :CHECK R1=0

3 sannnnnnennssassTEST 37 - ERROR Jreanantnesnenne
:R1_SHOULD BE ZERO

2%3 : CHECK R2=0

4 cunnannnnsnansnsTEST 37 - ERROR Lrrenrennnsnenen
:R2 SHOULD BE ZERO

zgs ;CHECK R3=0

S sanannanananstsaTEST 37 = ERROR Stawsnnceanwnnne
:R3_SHGULD BE ZERO

R4 DSTLN :CHECK R4 UNCHANGED

69% :BR IF OK
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CVKAJB.P 22~-JAN-82 08:4 137 TEST ''CMPN'' WITH S1L .GT. S2L, SUCCESSFUL COMPARE SEQ 0063
3337 011572 104006 ERROR 6 nttttttttttttttTEST 37 = ERROR Otrnxnvannnnantat
3338 R4 CHANGED
3339 R4 SHOULD STILL EQUAL CONTENTS OF ‘F¥ILL''

330 011574 020567 167056 69%: CMP RS ,DSTAD CHECK RS UNCHANGED
3341 011600 001401 BEQ 70§
3342 011602 104007 ERROR 7 sennnnnnnasananaTEST 37 = FRROR 7etrernnennnnane
3343 RS CHANGED
3344 RS SHOULD STILL EQUAL CONTENTS OF °'DSTAD'’
3345 011604 023706 000702 708: CMpP a#SAVRG,SP VERIFY STACK POINTER IS RESTORED
3346 011610 001403 BEQ 718 IF 0K
3347 011612 010637 000704 MOV SP,3#BADR6 COPY BAD SP VALUE
3348 011616 104010 ERROR 10 """"""“'TEST 37 = ERROR 10%eennsasvnnnnnen
3349 STACK POINTER NOT RESTORED BY INSTRUCUW
3350 EXPECTED SP IS STORED AT “SAVR6
3351 ERRONEOUS SP VALUE IS AT ‘BADR6'’
3352 011620 718:
3353 011620 000403 8R TST40 :BR TO NEXT TEST
2354 011622 S1737: ;SOURCE1 STRING
335 011622 060 .BYTE 60 HOST SIGNIFICANT DIGIT
3356 011623 060 .BYTE 60
3357 011624 o7 .BYTE 4
3358 011625 070 BYTE 70
3359 011626 S27137: :SOURCE2 STRING
3360 011626 on BYTE 7N HOST SIGNIFICANT CLIGIT
3361 011627 070 .BYTE 70
3362
3363 -EVEN
336
3366 PR T L L kit iuuiisiuiiainiduiaiaiviidniubviiubdabuin ik
3367 'TEST 40 TEST *'CMPN'* WITH S1L .GT. S2L, NEGATIVE SOURCE1, NON-ZERO IN EXCESS
3368 ttttttttttttttttttttttitttttttttttt'ttttttttttttttttttttttttttt
3369 011630 000004 TST40 SCOPE
3370 011632 004567 003074 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
3371 011636 000004 4 SOURCE1 LENGTH
3372 011640 012002 $1T40  ;SOURCE1 " ADDRESS
3373 011642 000002 2 ;SOURCEZ2 LENGTH
3374 011644 012006 SZT‘oO SOURCEZ ADDRESS
3375 011646 000377 377 STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY "'CMPN'' |
33726 011650 004567 003170 JSR RS XPSW
3377 011654 000210 .WoRD 210
3378 011656 004767 003076 JSR PC,GENR ;SET UP GENERAL REGISTERS
3379 011662 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
ggg? 011664 000250 CLN
§§g§ 011666 076052 CMPN
3384 011670 106767 197002 MFPS CCODES sSTURE RESULTANT PSU
3385 011674 042767 177400 166774 BIC #177400,CCODES CLEAR UNUSED BITS
3386 011702 023767 000700 166766 CMP SNEXPPSW,CCODES ; *CHECK PSW AGAINST EXPECTED VALUE
3387 011710 001401 BEQ 643 BR IF EQUAL
3388 011712 104001 ERPROR 1 SentnsnnsnnecaanTEST 40 ~ ERROR Twesnnreneennnne
3389 :PSW_ERROR , .
§390 EXPECTED PSW IS STORED AT. 'SAVR.é.
391 ERRONEOUS SP VALUE IS AT 'BADRé6

3392 011714 64$:




LMAIN,  MACYIY
(VKAJB.P11
3393 (0i1714
3394 011716
3395 011720
396
3397 011722
3398 011724
3399 011726
3400
3401 011730
3402 011732
3403 011736
3404
3405 011736
3406 011740
3407 011742
3408
3409 011744
3410 011750
3411 011752
3412
3413
34146 011754
3415 011760
3416 011762
3417
3418
3419 011764
3420 011770
3421 011772
3422 011776
3423
3424
3425
3426 012000
3427 012000
3428 012002
3429 012002
34,30 012003
3431 012004
3432 012005
3433 (012006
3434 012006
3435 012007
3436
3437
3438
3439
3440
3441
3442
3443 012010
3644 012012
3445 012016
3446 012020
3447 012022
3448 012024

30(1046)
22-JAN-82 08:4

005700
001401
104002

104004

005703
001401
104005

020467
001401
104006

020567
001401
104007

023706

104010

000403

000004
004567
000004
012160
000002
012164

166704

166676

000702
000704

002714

ZZ-JAN-BZ

08:50 OPAGE 65

65%:

66$:

67%:

68$:

69%:

708 :

718:

S1T40:

§2T40:

TST
BEQ
ERROR

TST
8EQ
ERROR

TST
8EQ
ERROR
TST
BEQ
ERROR
CMP
8tQ
ERROR
CMP
8EQ
ERROR
CMP
8EQ

MOV
ERROR

BR

.BYTE
.BYTE
.BYTE
.BYTE

.BYTE
.BYTE

.EVEN

n s

TEST "'CMPN'' WITH SIL

653
2

R1
663
3
R
678
4
R3
68%
5

R4 ,DSTLN
296

R5,DSTAD
708

@NSAVR6 , SP
718
SP,a#BADR6
10

TST4
61

167

63
167

.GT. S2L, NEGATIVE SOURCET,

:CHECK RO=0

JannnnnnkanaenaaTEST 40

;RO SHOU%DOBE ZERO

;CHECK R

uannnnnnnwsanaeTEST 40

:R1_SHOULD BE ZERO
R2=0

: CHECK

cannnnnnnssanavaTEST 40

:R2 SHOULD BE ZERO
;CHECK R3=0

sanannnnnnnnnnadTEST 40

:R3_SHOULD BE ZERO
;CHECK R4 UNCHANGED

:BR IF OK

NON-ZERO IN EXCESS

SEQ 0064

ERROR 2etttansannantny

ERROR 3trwnannnantnnane

ERROR 4avsannnsnnntsann

ERROR Sttannnnnenannans

tttttttttttttttTEST 40 = ERROR 6nrenantnnntanns

;R4 CHANGED

tR4 SHOULD STILL EQUAL CONTENTS OF ‘FILL'

:CHECK R5 UNCHANGED

sunnnnnanaanatttTEST 40 = ERROR 7tnensnsannnnnnse

RS CHANGED

:RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD’
XSR{FY STACK POINTER IS RESTORED

F OK
:COPY BAD SP VALUE

tttttttttttttttTEST 40 = ERROR 10t vtnanannnennns
:STACK POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED SP IS STORED AT 1SAVRG'’

:ERRONEOUS SP VALUE IS AT 'BADR6’

:BR TO NEXT TEST

:SOURCE1 ST

RING
:MOST SIGNIFICANT DIGIT

:SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

tttltttttttttttttttttttt'ttttlttﬁtttttﬁtttttttttttltﬁttt.ttttt'

TEST *"CMPN'* WITH S1L .GT. S2L, POSITIVE SOURCE1, NON-ZERO IN EXCESS

*TEST 4

tttttttttttttttttttttttt'tttttttﬁttﬁ'ttttt'ttltttttttt'ttt't't'

;PREPARE ARGUMENTS FOR INSTRUCTION TEST

TST‘l

SCOPE
JSR

QS.NPREP
$1741

2

S2141

:SOURCET LENGTH
: SOURCE1 ADDRESS

URCE2 LENGTH
SOURCEZ ADDRESS
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0377

076052

106767
042767
023767
001401
104001

005700

005701
001401
104003

104004

005703
001401
104005

020467
001401
104006

020567
001401
104007

02370

003010
002716

166624
177400
000700

166526

166520

000702
000704

82 08: 50 PAGE 66

648:

65%:

66S$:

67%:

68%:

698:

708:

718:
S1T41:

NS

TEST 'CMPN'* WITH S1L .GT. S2L, POSITIVE SOURCE1, NON-ZERO IN EXCESS SEQ 0065
377 :STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN'' IN
JSR RS XPSW
_WORD 200
JSR PC,GENR :SET UP GENERAL REGISTERS
ScC JSET UP THE COMPLEMENT OF EXPECTED CC'S
CMPN
MFPS CCODES JSTORE RESULTANT PSU
8IlC #177400,CCODES CLEAR UNUSED BITS
CMP aN#EXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
8EQ 648 BR. IF EQUAL
ERROR 1 kakannanananenseTEST 41 « ERROR Teenanennansnnne
PSU ERROR
EXPECTED PSW IS STORED AT '‘SAVR6''
:ERRONEOUS SP VALUE IS AT 'BADRG'’
TST RO :CHECK RO=0
BEQ 65%
ERROR 2 sennnnnnneseneasTEST 41 = ERROR 2vensnsneennnnny
RO SHOULD BE ZERO
TST R1 ;CHECK R1=0
BEQ 66$
ERROR 3 saneennntnassnnsTEST 41 ~ ERROR R ITITITIITIIT 22 2
;R1 SHOULD BE ZERO
TST R2 ; CHECK R2=0
BEOQ 67%
ERROR 4 snnanananenaneaaTEST 41 = ERROR Lunnnnnsssnnaren
:R2 SHOULD BE ZERO
TST R3 ;CHECK R3=0
BEQ 68s
ERROR S sunnnnennnnannaTEST 41 - ERROR Saannnnnsasvnnayn
R3 SHOULD BE ZERO
CMp R4 ,DSTLN JCHECK R4 UNCHANGED
BEQ 69$ :BR IF OK
ERROR 6 sunnnnnknennntssTEST 41 ~ ERROR Orranereeannenne
R4 CHANGED .
R4 SHOULD STILL EQUAL CONTENTS OF 'FILL'
ggg ;3§DSTAD JCHECK RS UNCHANGED
ERROR 7 .tttttttttttttttTEST 41 = ERROR 7trntessetntansy
:RS CHANGED .
RS SHOULD STILL EQUAL CONTENTS OF 'DSTAD''
CMpP S#SAVRG,SP .VERIFY STACK POINTER IS RESTORED
BEQ 718 JBR IF 0K
Mov SP,a#BADRG :COPY BAD SP VALUE
ERROR 10 tttttttttttttttTEST 4] = ERROR 10arrennssavrnnsy
STACK POINTER NOT RESTORED BY lNSTRUCTlON
EXPECTED SP 1S STORED AT °'‘SAV R6"
ERRONEOUS SP VALUE IS AT 'BADRS
B8R TST42 :BR TO NEXT TEST
SOURCE1 STRING
BYTE 61 HOST SIGNIFICANT DIGIT
BYTE 6
BYTE 6
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P11 22~JAN=82 0 EST “'CMPN'’ WITH S1L .GT. S2L, POSITIVE SOURCE1., NON-ZERO IN EXCESS SEQ 0066
012163 067 .BYTE 67
012164 S2T41: :SOURCEZ2 STRING
012164 063 .BYTE 63 :MOST SIGNIFICANT DIGIT
012165 067 .BYTE 67
.EVEN
;;-nntntnnnntnnnnnnn"-tnnn"nn"onnnnnn
eTEST 42 TEST '"'CMPN'* WITH POSITIVE OPERANDS, /S1/ .GT. /82/
;;tnnnnnnntnnnnnnnn"nnnnnnn"nnn"n"n
012166 000004 TST42: SCOPE
012170 004567 002536 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
012174 000003 3 :SOURCE1 LENGTH
012176 012336 $1T42  ;SOURCE1 ADDRESS
012200 000003 3 :SOURCE2 LENGTH
012202 012341 §$2T42 ;SOURCE2 ADDRESS
012204 000377 377 :STORE NON-2ERC VALUE TO TEST R4 UNAFFECTED BY "‘CMPN'" IN
012206 004567 002632 JSR RS  XPSW
012212 000200 _WORD 200
012?14 004767 002540 JSR PC,GENR :SET UP GENERAL REGISTERS
012220 000277 SCC ;SET UP THE COMPLEMENT COF EXPECTED CC*'S
012222 076052 CMPN
012224 106767 166446 MFPS CCODES :STORE RESULTANT PSW
012230 042767 177400 166440 81C #177400,CCODES ;CLEAR UNUSED BITS
012236 023767 000700 166432 CMpP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
012244 (01401 BEQ 649 :BR, IF EQUAL
012246 104001 ERROR 1 ;ttttttttttttt'tTEST 42 = ERROR 1nnstnssatesenne
;PSW ERROR
JEXPECTED PSW IS STORED AT "SAVRq
;ERRONEOUS SP VALUE IS AT 'BADRG
012250 648:
012250 005700 TST RO :CHECK RO=0
012252 001401 BEQ 6598
012254 104002 ERROR p.d ;ttttttttttntttTEST 42 - ERROR 2avrratatssseneet
;RO SHOULD BE ZERO
012256 005701 65%: TST R1 ;CHECK R1=0
012260 001401 8EQ 663
012262 104003 ERROR 3 senansenenannasaTEST 42 -~ ERROR Jttasnsssnveneny
:R1 SHOULD BE ZERO
012564 005702 66%: IS8T R2 ;CHECK R2=0
012266 001401 8EQ 67%
012270 104004 ERROR 4 ;-nnnnnnnrfst 42 - ERROR 4evsssensannnney
. :R2 SMO%D B8E ZERO
012272 005703 678: TST R3 ;CHECK R3=0
012274 001401 BEQ 68%
012276 104005 ERROR 5 ;nnnnntnntfst 42 -~ ERROR Stesosnsnnnnenes
:R3 SHOULD BE ZERO
012300 020467 166350 68S$: (0,4 R4 _DSTLN ;CHECK R& UNCHANGED
012304 001401 BEQ 69$ :BR IF OK
012306 104006 ERROR 6 ;nnnnnntntfst 42 - ERROR Gtrtassanssnsnny
R4

;R4 CHANGED
:R4 SHOULD STILL EQUAL CONTENTS OF "FILL"
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{ VKAJB.PI1 22-JAN=-82 08:4 142 TEST '""CMPN'' WITH POSITIVE OPERANDS, /S1/ .GT. /S2/ SEQ 0067

3561 013% 020567 166342 69%: 0, RS ,DSTAD :CHECK RS UNCHANGED

3562 012314 001401 BEQ 70$

%%22 012316 104007 ERROR 7 ;;-Eat-agsttt-tTEST 42 = ERROR 7Tennvsnnnsntannn
3565 SRS SMOULD STILL EQUAL CONTENTS OF 'DSTAD'’

3566 012320 023706 000702 708 : cMP SNSAVRG,SP SVERIFY STACK POINTER IS RESTORED

3567 012324 001403 BEQ 718 BR IF 0K

3568 0123;6 010637 000704 MOV SP,a#BADRG ;COPY BAD SP VALUE

3569 012332 104010 ERROR 10 SusssnnnnseeneneTEST 42 - ERROR 10teeenenanennnns
3570 STACK POINTER NOT RESTORED 8Y INSTRUCTIM

3571 EXPECTED SP IS STORED AT '‘SAVRéG''

57 ERRONEOUS SP VALUE IS AT 'BADRG''

S73 012334 71%:
3574 01%334 000403 BR TST43 ;BR 10 NEXT TEST
3575 012336 $1742: ;SOURCE1 STRING
357 012339 067 BYTE 67 HOST SIGNIFICANT DIGIT
3577 01233 065 BYTE 65
3578 012340 064 .BYTE 64
3579 012341 §2T42: ;SOURCE2 STRING
3580 012341 067 .BYTE 67 HOST SIGNIFICANT DIGIT
3581 012342 065 .BYTE 65
3582 012343 063 .BYTE 63
3583
3584 .EVEN
By
3587 tttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

3588 'TEST 43 TEST '‘CMPN'' WITH NEGATIVE OPERANDS, /S1/ .GT. /Se/

3589 ttttttttt'ttttttttttttttttttttt'ttttt'tt'tttttttttt'ttt'tttt'tt

3590 012344 000004 TST43 SCOPE
3591 012346 004567 002360 JSR R5 ,NPREP PREPARE ARGUMENTS FOR INSTRUCTION TEST

35692 012352 000003 3 :SOURCE1 LENGTH
3593 012%54 012514 S1T43  ;SOURCE1 ADDRESS
3594 012356 000003 3 OURCE2 LENGTH

3595 012360 012517 S$2T43 SOURCEZ ADDRESS

3596 012362 000377 377 'STORE NON~2ERO VALUE TO TEST R4 UNAFFECTED BY ‘CMPN’’' IN
3597 012364 004567 002454 JSR RS ,XPSW
3598 012370 000210 WORD 210
3599 012372 004767 002362 JSR PC,GENR :SET UP GENERAL REGISTERS

3%68(1) 012376 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC*'S
gggg 012400 076052 CMPN
3604 1%402 106767 166270 MFPS CCODES :STORE RESULTANT PSW

3605 012406 042767 177400 166262 BIC #177400.CCODES :CLEAR UNUSED BITS

3606 012414 023767 000700 166254 P SNEXPPSY. CCODES :CHECK PSW AGAINST EXPECTED VALUE

3607 012422 001471 B8EQ 643 ‘BR, IF EQUAL

3608 012424 104001 ERROR 1 tttttttttttttttTEST 43 - ERROR 1tezansanernnnne
3609 :PSW_ERROR ,

3610 SEXPECTED PSW IS STORED AT ° ‘SAVR6'

3611 ERRG‘EOUS S”? VALUE IS AT 'BADRS"’

3612 012426 648:

3613 012426 005700 TST RO :CHECK RO=0

3614 0154 001401 BEQ 658

3615 012432 104002 ERROR 2 tttttttttttttttTEST 43 - ERROR 2¢tnsrancesstese
3616 RO SHOULD BE ZERO
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KSR

42

005701
001601
104003

067
163

000004
105777
100535
026767
001007
032767
001403

005767
001122

166172

166164

000702
000704

166010
166012
000001
166016

166124
166036

gZ-JAN-BZ 08:50 3PAGE 69

65%:

66%:

67%:

68S$:

698:

708:

718:
S1T43:

S2T43:

TST
BEQ
ERROR

TST
BEQ
ERROR
TST
BEQ
ERROR
(4 4
BEQ
ERROR
P
BEQ
ERROR
cMP
BEQ

MoV
ERROR

b 6

TEST 'CMPN'' WITH NEGATIVE OPERANDS, /S1/ .GT. /S2/

zgs :CHECK R1=0

3 sennnenenenanensEST 43 = ERROR Jevenenanenennes
iR1S D BE T*RO

2;3 : CHECK R2=0

4 JannnnnnnanneaesTEST 43 = ERROR 4errancennnnnnnnn
R2 S D BE ZERO

s ek 10

S sennnenannanenteTEST 43 - ERROR Seeveneenenenense
:R3_SHOULD BE ZERD

R4, DSTLN sCHECK R4 UNCHANGED

69% :BR IF OK

6 sevannsnnnennensTEST 43 - ERROR Grevnennennencen
;R4 CHANGED
;R4 SHOULD STILL EQUAL CONTENTS OF 'FILL'

§8§DSTAD :CHECK RS UNCHANGED

7 senennnnennvaneeTEST 43 - ERROR g1 222
;RS CHANGED
:R5 SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'’

;1§AVR6,SP ;SR{FYOETACK POINTER IS RESTORED

SP,34BADR6 ;COPY BAD SP VALUE

10 -tttntttttttttttfs. 43 - ERROR 10tesasensnencens
:STACK _POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED SP IS STORED AT '‘SAVRG''
:ERRONEOUS SP VALUE IS AT 'BADRG''

TST44 ;BR TO NEXT TEST
:SOURCET STRING

g; :MOST SIGNIFICANT DIGIT

164
sSOURCE2 STRING

g; *MOST SIGNIFICANT DIGIT

163

M '.tt...ttttt.tttttt....ttttt....t.ttttQttttttttttttttttttttttt'

SATEST 44

CANNANNRANARN RN RA AR A N AN R ANNNAR AN A AARRAANRAANANRARARCRAREEROOARONY

144

T44CONT:

TEST INTERRUPTABILITY OF "‘CMPN'’

aSWR STEST BIT 7 OF S
TST45 ;SKIP TO NEXT TEST IF SET
$TPS,TCSR :IS SLU USED FOR INTERRUPTS THE CONSOLE?
T44CONT :BR, IF NOT & PERFORM INTERRUPTABILITY TEST
#8170,SENV ;IFYES, IS PROGRAM UNDER APT?
44 CONT ;BR, IF NOT
$PASS sIF YES,CHECK IF NOT ON FIRST PASS
TST4S ;1F NOT, BR ¢ SKIP TEST

SEQ 0068
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VKA. P <2~JAN~-82 08:4 TEST INTERRUPTABILITY OF ''CMPN'’ SEQ 0069
3673 012500 004567 002146 JSR RS .NPREP PREPARE ARGUMENTS FOR INSTRUCTION TEST

26 012564 000004 4 ;SOURCE1 LENGTH

3675 012566 013002 S1T44  ;SOURCE1 ADDRESS

3676 012570 000004 4 ;SOURCE2 LENGTH

3677 012572 013 2144 “SOURCE2 ADDRESS

3678 012574 (0037 3?7 :STORE NON-ZERO VALUE TO TEST R& UNAFFECTED BY ‘'CMPN'’ IN
3679 312576 012767 012656 166070 MOV #CMPNPC ,PCI *STORE PC OF TEST INSTRUCTION

3680 012604 012777 015114 166056 MOV #INTR,QTVECT JPOINT TTY VECTOR TO INTERRUPT ROUTINE

3681 012612 0€05077 166054 CLR STPSW ALLOU INTERRUPTS AFTER TTY INTERRUPT

3682 012616 004767 002246 JSR PC,TDONE :WAIT FOR SLU READY

3683 012655 013777 000554 166036 mov aENULL,@TBUF  :SEND NULL CHARACTER

3684 0126 004567 002210 JSR RS, XPSW :STORE EXPECTED PSW

3685 012634 000000 .WORD 0

3686 012636 106427 000000 MTPS ;ALLOW INTERRUPTS

3687 012642 052777 000100 166014 8IS lIOO.iTCSR SENABLE TTY INTERRUPTS

2688 012650 004767 002104 RECMPN: JSR PC,GENR SSET UP GENERAL REGISTERS

%238 012654 000277 SCC JSET UP THE COMPLEMENT OF EXPECTED CC'S

ggg; 012656 076052 CMPNPC: CMPN

3693 012660 106767 166012 MFPS CCODES :STORE RESULTANT PSW

3694 012664 032777 000100 165772 BIT #100,8TCSR :IF INTERRUPTS ARE DISABLED, INSTRUCTION WAS INTERRUPTED
3695 012672 001366 BNE RECMPN “BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED
3696 012674 042767 177400 165774 8IC #177400,CCODES :CLEAR UNUSED BITS

3697 012702 023767 000700 165766 CMP SNEXPPSWY,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

3698 012710 001401 BEQ 64% *BR, IF EQUAL

3699 012712 104001 ERROR 1 nnnnnnntTEST 44 - ERROR 1ttsensensnnnnten
3700 ;PSW ERROR .

372C1 SEXPECTED PSW IS STORED AT L USAVRE,

1702 :ERRONEOUS SP VALUE IS AT ‘BADR6

3703 012714 64$:

3704 012714 005700 TST RO s CHECK RO=0

3705 012716 0014601 8EQ 65%

3706 012720 104002 ERROR 2 nn"tnn"tﬂ’EST 44 - ERROR 2t ttannntansnnns
3707 ;RO SHOULD BE ZERO

3708 012722 005701 65%: TST R1 “CHECK R1=0

3709 012724 001401 8EQ 663

3710 012726 104003 ERROR 3 sannnnnunnanneatTEST 44 ~ ERROR 3wennanennneeenn
3711 R1 S D B8E ZERO

3712 012730 005702 66%: TST R; CHEC =0

3713 012732 001401 8€EQ 67%

3714 012734 104004 ERROR & sonnnnannnawatdaTEST 44 - ERROR Lrvnnnannesvannny
3715 R2 S D BE ZERO

3716 012736 005703 678: TST R3 ;CHECK R3=0

3717 012740 001407 BEOQ gas

3718 012742 104005 ERROR tnnnnnnntfsr 44 - ERROR Stanawentusttany
3719 *R3 SHOULD BE ZERO

3720 012744 020467 165704 68$: CMp R4 ,DSTLN :CHECK R4 UNCHANGED

3721 012750 001401 B8EQ 69$ :BR IF OK

3722 012752 104006 ERROR 6 sennnnnnnnnansttTEST 44 -~ ERROR Grnnvreanntnnnen
3723 *R4 CHANGED .

3724 ‘R § D STILL EQUAL CONTENTS OF ‘FILL'

3725 012754 020567 165676 69%: (W, RS5,DSTAD CHECK UNCHANGED

3726 012760 001401 8EQ 70$

3727 012762 104007 ERROR 7 senannannnnanataTEST 44 ~ ERROR 7ettesnnenenneee

3728 RS CHANGED




F 6
MAIN,  MACY11 30(1046) 22-JAN-82 08: 50 PAGE n

CVKAJB.P11 22-JAN-82 08:49 TEST INTERRUPTABILITY OF ''CMPN'' SEQ@ 0070
3729 ;RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'
3730 012764 023706 000702 708: P SFSAVRG, SP SVERIFY STACK POINTER 1S RESTORED
3731 012770 00140 B8EQ 718 *BR IF 0K
3732 012772 010637 000704 MOV SP,a/BADRG :COPY BAD SP VALUE
3733 012776 1046010 ERROR 10 SenaannnennennasTEST 44 -~ ERROR 10teesennsennenes
3734 ;STACK_POINTER NOT RESTORED BY INSTRUCTION
1738 :EXPECTED SP IS STORED AT ''SAVRG'

37 *ERRONEOUS SP VALUE IS AT 'BADR6

3737 013000 718:

3738 013000 000404 BR ENDT44 :BR TO END or THIS TEST

3739 013002 S1T44: *SOURCET STRING

37240 O1 g on BYTE 71 sMOST SIGNIFICANT DIGIT

3741 01300 070 BYTE 70

3742 013004 067 .BYTE 67

3743 013005 066 .BYTE 66

3744 013006 S2T44: ;SOURCE2 STRING

3745 013006 o7 BYTE :MOST SIGNIFICANT DIGIT

3746 013007 070 .BYTE 70
37247 013010 .BYTE 67

3748 013011 065 .BYTE 65

3749
3750 .EVEN
3751 013012 016777 165654 165650 ENDT44: MOV TPSW,RTVECT

g;gg 013020 106427 000200 MTIPS  #200
3754
3756 tttttttlttttttttttttttttttttttttttttttttttttttttttttttttttttttt

3757 -resr 45 TEST “‘CVINL'' WITH SRC = +2,147,483,647

3758 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

3759 (13024 000004 $8745:  SCOPE

gm 013026 004567 001700 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
761 013032 000012 12 *SOURCE LENGTH

3762 013034 013164 ST4S *SOURCE ADDRESS

3763 013036 177777 1727777 *STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
3764 013040 177777 127777

gns 013042 000377 377 :STORE A NON-ZERO VALUE TO TEST R4 UNAFFECTED BY "‘CVTZL"
769 013044 004567 001774 JSR RS, XPSW

3767 013050 000200 LWORD 200

3768 013052 004767 001702 JSR PC,GENR :SET UP GENERAL REGISTERS

%;gg 013056 000277 SCC “SET UP THE COMPLEMENT OF EXPECTED CC'S
;Ew 013060 076053 CVTNL

3773 013062 106767 165610 MFPS  CCODE :STORE RESULTANT PSW

776 01 042767 177400 165602 BIC nmoo CCODES :CLEAR UNUSED BITS

775 013074 85 767 000700 165574 cMP SEXPPSU, CCODES ;CHECK PSW AGAINST EXPECTED VALUE

3776 013102 001401 BEQ 64$ *BR, IF EQUAL

3777 013104 104001 ERROR 1 ttttttttttttttttfs‘[ 45 = ERROR 1rtannssassnsnce
3778 *PSW ERROR ) N
3779 :EXPECTED PSW IS STORED AT ‘‘SAVRE

3780 *ERRONEOUS SP VALUE IS AT 'BADR6

781 013106 64$:

782 013106 005700 ST RO :CHECK RO=0

3783 013110 0071401 BEQ 65$

3784 013112 104002 ERROR 2 ;ttttttttttt'tt'TEST 45 - ERROR 2ttrtetnssssunnvese
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8:49 T45

{ VKAJB.P11 22-JAN-82 0 TEST "'CVINL'' WITH SRC = +2,147,483,647 SEQ 0071
3785 ;RO SMOULD BE 2ERO
3786 013114 005701 65$: TST R1 :CHECK R1=0
3787 013116 001401 8EQ 663
3788 013120 104003 “RROR 3 JunnnnansnreenasTEST 45 = FRROR Jewanetvannnnnns
3789 :R1 SHOULD BF ZERO
3790 013132 020227 077777 66%: (mpP R2 ,#077777 :CHECK UPPER WORD OF ANSWER
3791 013126 001401 BEQ 67% :BR IF 0K
379 013130 104004 ERROR 4 :'ttttttt'ttttt'TEST 45 < FRROR 4Lerennnnsneaneny
379 JUPPER WORD OF ANSWER IS IN ERROR
3794 :EXPECTED VALUE IS 077777
3795 ;ERRONEOUS ANSWER VALUE IS IN R?
3796 013132 020327 177777 67%: CMpP R3 177777 JCHECK LOWER WORD OF ANSWER
3797 013136 001401 BEQ 68$ :BR IF OK
3798 013140 104005 ERROR 5 ;ttttttttt'tttttTEST 4S5 -~ ERROR Swwssnssnstnnnnw
3799 ;LOWER WORD OF ANSWER 1S IN FRROR
3800 EXPECTED VALUE 1S 177777
3801 ;ERRORNEOUS ANSWER IS IN R3
3802 013142 020467 165506 68S8: CMp R4 ,DSTLN :CHECK R& UNCHANGED
3803 013146 001401 BEQ 69%
3806 013150 104006 ERROR 6 JannnannnnnnnnnTEST 45 - ERROR Greaxtannnnanans
3805 ;R4 CHANGED
3806 ;R4 SHOULD STILL FQUAL TH CONTENTS OF "FILL"
3807 013152 020567 165500 698 : CMp RS .DSTAD ;CHECK RS UNCHANGED
3808 013156 001401 BEQ 708 :BR IF OK
3809 013160 104007 ERROR 7 sanannnnenswnennTEST 4S5 = ERROR 7tttaecnsntsanry
3810 ;RS CHANGED
3811 :RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD"
3812 013162 708:
3813 013162 000405 B8R TST46 :BR TO NEXT TEST
31814 013164 ST4S: :SOURCE STRING
3815 017164 062 .BYTE 62 :MOST SIGNIFICANT DIGIT
3816 013165 061 BYTE 61
3817 013166 BYTE 64
3818 013167 067 .BYTE 67
3819 013170 BYTE 64
3820 013171 070 .BYTE 70
3821 01317% 063 .BYTE 63
382§ 01317 - .BYTE
3823 013174 BYTE
3824 013175 067 BYTE 67
3825
6
3308
2 ARRAERRRNAAARARRA AR AR RN AN AN RRARARANRARANANARARRRARRRNNRRRRN Y
g S*TEST 46 TEST “'CVINL'' WITH SRC= +2,687,483,648, OVERFLOW WITH CORRECT SIGN
31 e AR NRARARARNARRNRARRAARAARAAREARARARANRRRAAARA AR RRRARRNARNRNRRAN
sasg 013176 ooogoa t5146: scope
3833 013200 004567 001526 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
3834 013504 ooggzz 12 sSOURCE LENGTH
3835 (13206 01 9 ST4 :SOURCE ADDRESS
3836 013210 17777 177777 :STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
3837 013212 177777 177777
3838 013214 000377 377 :STORE A NON-ZERO VALUE TO TEST R4 UNAFFECTED 8Y evTZL
3839 013216 004567 001622 JSR RS XPSW
3840 013222 000202 LWORD 208
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004767
000277
000242

076053

106767
0462767
023767
001401
104001

005700
001401
104002

005701
001401
104003

020227
001401
104004

020327
001401
104005

020467
001401
104006

020567
001401
104007

000405

001530

165434
177400 1654
1654

26
000700 20

014631

031462

165332

165324

T46

648:

65%:

66$:

67%:

68$:

69%:

70$:
S$T46:

PAGE 73

H 6

TEST "‘CVINL'' WITH SRC= +2,687,483,648, OVERFLOW WITH CORRECT SIGN

JSR
SCC
CLv

CVINL

PC.GENR ;SET UP GENERAL REGISTERS
JSET UP THE COMPLEMENT OF EXPECTED CC'S

CCODES ;STORE RESULTANT PSW
#177400,CCODES ;CLEAR UNUSED BITS
SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
648 :BR, IF EQUAL
JunknnnnnannnanaTEST 46 - ERROR 1tnsnsssssnnnnene
:PSW ERROR
JEXPECTED PSW IS STORED AT.'SAVR6”
:ERRONEOUS SP VALUE IS AT 'BADRG"’

zgs :CHECK RO=0

2 ;tttttttttttttttTEST 46 = ERROR 2tssarsnnnnanense
;RO SHOULD BE ZERO

228 :CHECK R1=0

3 sanenenansenanaaTEST 46 = ERROR Jennnsncennnenee
sR1 SHOULD BE ZERO

R2 ,#014631 ;CHECK UPPER WORD OF ANSWER

67$ :BR IF OK

4 sennannnnnnanaaaTEST 46 - ERROR 4ennreernnnenvee
;UPPER WORD OF ANSWER IS IN ERROR
;EXPECTED VALUE IS 014631
;ERRONEOUS ANSWER VALUE IS IN R2

R3,#031462 :CHECK LOWER WORD OF ANSWER

68$ :BR IF OK

S ;tttttttttttttttTEST 46 ~ ERROR Sesnrttnrsnennrn
;LOWER WORD OF ANSWER IS IN ERROR
:EXPECTED VALUE IS 031462
:ERRORNEOUS ANSWER IS IN R3

23‘DSTLN ;CHECK R& UNCHANGED

6 ;tttttttttttttttTEST 46 =~ ERROR Orsrsasnnsnnnnny
;R4 CHANGED
:R& SHOULD STILL EQUAL TH CONTENTS OF 'FILL''

;g§DSTAD :ggffg RS UNCHANGED

7 EtttttttttttttttTEST 46 = FRROR 7tvraanntasnntee
:RS CHANGED
:RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD’

15747 :BR TO NEXT TEST
:SOURCE STRING

gg ;MOST SIGNIFICANT DIGIT

71

4
1

66

67

62
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MAIN., MACYN 30(1046) g?-.MN-GZ 08:50 6l"A(iE 74

(VKAJB.P11 22=-JAN-82 TEST "'CVINL'® WITH SRC= +2,687,483,648, OVERFLOW WITH CORRECT SIGN SEQ 0073
3897 013350 o .BYTE 4
3898 013351 066 .BYTE 66
3899
3901
3902 O T Lt ittt e e T L T R L L L L A f d 2l )
1903 tTEST 47 TEST *‘CVTNL'® WITH SRC = ¢2,147,483,648, OVERFLOW
3904, --nnnnnn"nnn""nnn"nt"n"tnnnnnt"nn"
3905 013352 000004 7§747:  SCOPE
3006 013354 004567 001352 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
3907 013360 000012 12 :SOURCE LENGTH
3908 013362 013514 ST47 SO\RCE ADDRESS
3909 013364 177777 17272777 STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
3010 013366 177777 1727777
3911 013370 000377 377 ;STORE A NON-ZERO VALUE TO TEST R4 UNAFFECTED BY evrzL
3912 013372 004567 001’46 JSR RS XPSW
3913 013376 000212 LWORD 212
3914 013400 004767 001354 JSR PC,GENR :SET UP GENERAL REGISTERS
3915 013404 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
23;9 013406 000242 cLv
gg}g 013410 076053 CVINL
3920 013412 106767 165260 MFPS CCODES ;STORE RESULTANT PSW
2921 013416 042767 177400 165252 BIC #177400,CCODES CLEM UNUSED BITS
3922 013424 023767 000700 165244 mp aNEXPPSW,CCODES ; CHECK PSW AGAINST EXPECTED VALUE
3923 013432 001401 BEQ 648 BR IF EQUAL
3924 013434 104001 ERROR 1 '"""""""TEST 47 = ERROR 1ntesananannnnnse
3925 PSU ERROR ,
3926 EXPECTED PSW IS STORED AT "SAVR.Q '
3927 ERRG‘EwS SP VALUE IS AT 'BADRS
3928 013436 64S$:
3929 013436 005700 TST RO ;CHECK RO=0
3930 013440 001401 BEQ 65%
3931 013442 104002 ERROR 2 ttntntnnt"tESt 47 - ERROR 2tnttnsssanntenet
3932 RO SHOULD BE ZERO
3933 013444 005701 65%: TST R1 :CHECK R1=0
3934 013446 001401 B8EQ 663
3935 013450 104003 ERROR 3 jentnnnnannnnneaTEST 47 - ERROR Jenvantsnnanannr
3936 R1 SHOULD BE ZERO
3937 13452 020227 100000 66$: cMpP R2,4100000 CHECK UPPER WORD OF ANSWER
3938 013456 001401 BEQ 67% :BR IF
39039 013460 1064004 ERROR 4 nnt"tnn" CTEST 47 ~ ERROR 4nntnssnnnnnnnnns
3940 LPPER WORD OF MSWR 65 IN ERROR
3941 EXPECTED VALUE IS 1
942 RRONEOUS ANSWER VALUE IS IN R2
93 013462 020327 000000 678: (P R340  ;CHECK Lbuea WORD OF ANSWER
3964 013466 001401 BEQ 688 BR IF OK
3945 013470 104005 ERROR 5 ,t"n"tn"nttESt 47 = ERROR Savansesnnnntene
3946 :LOWER WORD OF ANSWER IS IN ERROR
3947 EXPECTED VALUE IS O
3948 ERRMNEOUS ANSVER IS IN R3
3949 013472 020467 165156 68$: cmpP R4 ,DSTLN CHECK R4 UNCHANGED
3950 013476 001401 BEQ 698
3051 013500 104006 ERROR é seansasannannanaJEST 47 - ERROR 6Gttavasnsnsreneyn

3952 ;R4 CHANGED
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3953

3954 013502 020567 165150
3955 013506 001401

395¢ 013510 104007

3957

3958

%959 013512

3960 013512 000405

31961 013514

3962 013514 062

3963 013515 06"

3964 013516 064

3965 013517 067

3966 013520 064

31967 013521 070

3968 013522 063

3969 013523 066

3970 013524 064

3971 013525 070

3972

3973

3974

3975

3976

1977

3978 013526 000004

3979 013530 004567 001176
3980 013534 000012

3981 013536 013670

3982 013540 177777

3983 013542 177777

3984 013544 000377

3985 013546 004567 001272
3986 013552 000210

3987 013554 004767 001200
3988 013560 000277

3989 013562 000250

3990

3991 013564 076053

3992

3993 013566 106767 165104
3094 013572 042767 177400 165076
3995 013600 023767 000700 165070
3996 013606 001401

3997 013610 104001

3998

3999

4000

4001 013612

4002 013612 005700

4003 013614 001401

4004 013616 104002

4005

4 013620 005701

4007 013622 001401

4008 013624 104003

SZ-JAN-BZ 08:50 PAGE 75
149 T4?

69%:

70%:

ST47:

J 6

TEST "'CVINL'' WITH SRC = +2,147,483,648, OVERFLOW

CMP
BEQ
ERROR

.BYTE

;RG SHOULD STILL EQUAL TH CONTENTS OF 'FILL'’

RS, DSTAD ;CHECK RS UNCHANGED
708 :BR [F OK
7 tttttttttttttttTEST 47 = ERROR 7stesnsnssassetne
RS HANGED
RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD'’
TST50 ;BR TO NEXT TEST
;SOURCE STRING
g% JMOST SIGNIFICANT DIGIT
64
67
64
70
63
66
64
70

SHNAAAAAAANRRNAARAARARRAAASARAAANRARAARSARRARANARAARANRAAARANRNAS

-TEST 50

CARRRRRRAARNAARAAARRRARRANANRRARARAERANRAAAARAAAARARRAAARAAARAARRAAY

TST$0:

64%:

65$:

SCOPE
JSR

TEST *‘CVINL’' WITH SRC = =2,147,483,648

R5 .NPREP :PREPARE GUHENTS FOR INSTRUCTION TEST

12 s SOURCE LE

ST50 ; SOURCE ADDRESS

};;;;; :STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS

377 ;STORE A NON-ZERO VALUE TO TEST R4 UNAFFECTED BY “‘CvTaL"
ggOXPSU

PC.GENR sSET UP GENERAL REGISTERS

;SET UP THE COMPLEMENT OF EXPECTED CC'S

CCODES :STORE RESULTANT PSW
#1,7400,CCODES  :CLEAR UNUSED BITS
SNEXPPSW,CCODES :CHECK PSW AGAINST EXPECTED VALUE
648 :BR, IF EQUAL

Q
_ttttttttttttttttfst 50 - ERROR 1trttnanentetten

PSW_ERROR
:EXPECTED PSW IS STORED AT ''SAVR6"
;ERRONEOUS SP VALUE IS AT 'BADRG'’

zgs ; CHECK RO=0

2 senannnnnsnsansTEST 50 - ERROR 2eeveeeennensane
;RO SHOULD BE ZERO

ggs ;CHECK R1=0

3 cunnnnnanntennt e TEST 50 - ERROR Jeeneenannnverne
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22-JAN=-82 08:4 TEST "'CVINL'' WITH SRC = =2,147,4B3,648 SEQ o
;R1 SHOULD BE ZERO
020227 100000 66S$: CMP R2,#100000 ;CHECK UPPER WORD OF ANSWER
001401 BEQ 67§ :BR IF 0K
106004 ERROR 4 suannnannnnnnasaTEST S50 = ERROR 4rescannraennny
UPPER WORD OF ANSWER 1S IN ERROR
EXPECTED VALUE IS 100000
ERRONEOUS ANSWER VALUE IS IN R2
020327 000000 67%: {mpP R3 40 s CHECK LOWER WORD OF ANSWER
001401 BEQ 68§ ;BR IF OK
104005 ERROR 5 sasannnnnnnnnnnsTEST SO ~ ERROR Sannnnvnannnnene
LOUER WORD OF ANSWER IS IN ERROR
EXPECTED VALUE IS 0
ERRORNEOUS ANSWER IS IN R>
020467 165002 68$: CMP R4 ,DSTLN ;CHECK R4 UNCHANGED
001401 BEQ 69%
104006 ERROR () sunkannsnranaxasTEST 50 ~ FRROR 6rtrannannnnnntns
R4 CHANGED
R4 SHOULD STILL EQUAL. TH CONTENTS OF 'FILL*'
020567 164774 69%: CmwpP RS ,DSTAD ;CHECK RS UNCHANGED
001401 8EQ 70$ BR IF 0K
104007 ERROR ,tttttttttttttttrfst 50 ~ ERROR 7ttaatanaankantn
;RS CHANGED
708 :RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD'’
000405 B8R TSTS1 ;BR TQO NEXT TEST
ST50: ;SOURCE STRING
062 BYTE 62 JMOST SIGNIFICANT DIGIT
061 BYTE 61
064 BYTE 64
067 BYTE 67
064 BYTE 64
070 BYTE 70
063 .BYTE 63
066 BYTE 66
064 BYTE 64
170 BYTE 170
IINARARNANARNA N AR AR AR AN IR AR RR AR AR RA AN A A RO AAARAARANANRARCRS
'TEST 51 TEST *‘CVINL'® WITH SRC = =2,147,483,649, OVERFLOW
t;;*tt;za;;ttttttttttt*tttttttttttttttttttttttttttttttttttttttt
TST
004567 001022 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
000012 12 SSOURCE LENGTH
016044 ST51 .SOURCE ADDRESS
};;;;; };;;;; ;STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
00037 377 :STORE A NON-ZERO VALUE TO TEST R4 UNAFFECTED BY ‘<CVTZIL®
004567 001116 JSR RS, \PSW
00020 WORD 20
004767 001024 JSR PC,GENR ;SET UP GENERAL REGISTERS
00026 +SEZ!SEC ;SET UP THE COMPLEMENT OF EXPECTED CC'S
000252 +CLN!CLV
076053 CVTNL
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(VKAJB. P11 22-JAN=-82 08:49 T51 TEST ‘"CVINL'' WITH SRC = =2,147,483,649, OVERFLOW SEQ 0076
4065
4066 013762 106767 164730 MFPS CCODES ;STORE RESULTANT PSW
4067 013746 042767 177400 164722 BIC #177600,CCODES CLEAR UNUSED BITS
4068 013754 023767 000700 164714 CMP SNEXPPSW,CCODES CHECK PSW AGAINST EXPECTED VALUE
4069 013762 001401 BEQ 648 .BR, IF EQUAL
4070 013764 104001 ERROR 1 tttttttttttttttTEST 51 = ERROR 1tssxeseannnnnns
L4071 PSU ERROR
407¢ EXPECTED PSW IS STORED AT ''SAVRG''
4073 ERRONEOUS SP VALUE IS AT °'BADRS''
4074 013766 64%:
4075 013766 005700 TST RO :CHECK RO=0
4076 013770 001401 BEQ 65%
4077 013772 104002 ERROR 2 snnnnnnancenstssTEST §S1 - ERROR 2¢nvtvnenannnnen
4078 RO SHOULD BE Z2ERO
4079 013774 005701 658: TST R1 CHECK R1=0
4080 013776 001401 BEQ 663
4081 014000 104003 ERROR 3 sennnnnnnnnnnassTEST 51 = ERROR Jeewesnnnnvnnnne
408 R1 SHOULD BE 2ERO
4083 014002 020227 077777 668 : CMpP R2 077777 CHECK UPPER WORD OF ANSWER
4084 014006 001401 BEQ 67§ ‘BR IF OK
4085 014010 104004 ERROR & sunnnnnnnntattttTEST 51 = ERROR 4nvevncevavanene
4086 UPPER WORD OF ANSWER IS IN ERROR
4087 JEXPECTED VALUE IS 077777
4088 ERRONEOUS ANSWER VALUE IS IN R2
4089 014012 020327 177777 67%: cMP R3 M177777 CHECK LOWER WORD OF ANSWER
4090 014016 001401 BEQ 68$ ‘BR IF OK
4091 014020 104005 ERROR 5 sennnnnnnsnnnatsTEST S1 - ERROR Stnnneneenneneesn
4092 LOHER WORD OF ANSWER IS IN ERROR
4093 EXPECTED VALUE IS 177777
4094 ERRORNEOUS ANSWER IS IN R3
4095 014022 020467 164626 68$: cMpP R4 ,DSTLN JCHECK R4 UNCHANGED
4096 014026 001401 8EQ 69%
4097 014030 104006 ERROR 6 sennnnnnnannantaTEST 51 = ERROR Grennnnnnnnnnnee
4098 R4 CHANGED
4099 R4 SHOULD STILL EQUAL TH CONTENTS OF °FILL"
4100 014032 020567 164620 698 : cMp RS ,DSTAD CHECK RS UNCHANGED
4101 014036 001401 BEQ 70§ :BR IF OK
4702 01464040 104007 ERROR 7 sunnnnnnenannsaaTEST 51 - ERROR 7annvannnnnnnnan
103 ;RS CHANGED
4104 ;RS SHOULD STILL EQUAL THE CONTENTS OF °DSTAD''
4105 0146042 708 :
4106 014042 000405 BR TST52 :BR TO NEXT TESY
4107 014044 ST51: :SOURCE STRING
4108 014044 062 BYTE 62 ;MOST SIGNIFICANT DIGIT
4109 014045 061 BYTE 61
4110 014046 064 BYTE 64
4111 0146047 067 .BYTE 67
4112 014050 064 BYTE 64
4113 014051 070 BYTE 70
4114 014052 063 BYTE 63
4115 014053 066 BYTE 66
4116 014054 064 BYTE
4117 014055 17 .BYTE 171
4118
4119
4120
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mAIN,  MACY11_30(1046) 22-JAN-82 08:50 PAGE 78
08:49 152

(VKAJB.P11 22-JAN-82 TEST *'CVINL'' WITH SRC LENGTH = 1, SOURCE= 60,60 sEQ 0077
4121 DINRRARRA R RN AN A AR AN AR R AR AR AR AR AR R ARACRRAARRARR OO
4122 SaTEST 52 TEST "'CVINL'' WITH SRC LENGTH = 1, SOURCE= 60,60
4123 :;ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
4124 014056 000004 $§152: SCOPE
4125 014060 004567 000646 JSR RS.,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
4126 014064 000002 2 *SOURCE LENGTH
4127 016066 0146220 ST52 *SOURCE ADDRESS
4128 014070 177777 177777 *STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
4129 014072 177777 177777
4130 014074 000377 377 ;STORE A NON-ZERO VALUE TO TEST R4 UNAFFECTED BY '‘CVTZL
4131 014076 006567 000742 JSR R5,XPSW
413§ 0164102 000204 LWORD 204
4133 014104 004767 000650 JSR PC.GENR ;SET UP GENERAL REGISTERS
4134 014110 000277 SCC ‘SET UP THE COMPLEMENT OF EXPECTED CC'S
2};2 014112 000244 Lz
2};; 014114 076053 CVINL
4139 014116 106767 164554 MFPS  CCODES ;STORE RESULTANT PSW
4140 014122 0462767 177600 164546 BIC #177400,CCODES :CLEAR UNUSED BITS
4141 014130 023767 000700 164540 cMP SNEXPPSW,CCODES :CHECK PSW AGAINST EXPECTED VALUE
4162 014136 001401 BEQ 648 :BR, IF EQUAL
4143 014140 104001 ERROR tavtanennnansaasTEST 52 -~ ERROR Itenseenesesesnen
4144 :PSW ERROR
4145 :EXPECTED PSW iS STORED AT ‘'‘SAVRG'’
4146 *ERRONEOUS SP VALUE IS AT ‘BADR6''
4147 014142 648 :
4148 014142 005700 ST RO ; CHECK RO=0
4149 014144 001401 BEQ 65$
4150 014146 104002 ERROR 2 ;enananenennsaesTEST 52 ~ ERROR 2eesesnsensnenss
4151 *RO SHOULD BE ZERO
4152 014150 005701 658:  TST R1 *CHECK R1=0
4153 014152 001401 BEQ 663
4154 014154 104003 ERROR 3 seeneneaannaeansJEST 52 = ERROR 3eeseteseeensene
4155 *R1 SHOULD BE ZERD
4156 014156 020227 000000 668: (WP R2,#0 :CHECK UPPER WORD OF ANSWER
4157 014162 001401 BEQ 678 :BR IF OK
4158 014164 1046004 ERROR 4 ;tttttttttttttttTEST 52 = ERROR 4rrnntnatanatvey
4159 SUPPER WORD OF ANSWER IS IN ERROR
4160 *EXPECTED VALUE IS 0
4161 *ERRONEOUS ANSWER VALUE IS IN R2
4162 014166 020327 000000 678: (P R3,#0 :CHECK LOWER WORD OF ANSWER
4163 014172 001401 BEQ 68$ :BR IF OK
4164 014174 104005 ERROR S tasenrasrnsnensneTEST 52 - ERROR Statvsvesvesnene
4165 *LOWER WORD OF ANSWER IS IN ERROR
4166 *EXPECTED VALUE IS 0
4167 *ERRORNEOUS ANSWER IS IN R3
4168 014176 020467 164452 688:  (MP R4 ,DSTLN SCHECK Ré UNCHANGED
4169 016202 001401 BEQ 698
4170 014204 104006 ERROR 6 sennennnenanesasTEST 52 ~ ERROR Genevenanananene
6171 *R4 CHANGED
6172 ‘R4 SHOULD STILL EQUAL TH CONTENTS OF "FILL'
4173 014206 020567 164444 698:  CMP RS,DSTAD *CHECK RS UNCHANGED
4174 014212 001401 BEQ 70$ ‘BR IF OK
4175 014214 104007 ERROR 7 ‘enernarveeaasaaTEST 52 - ERROR 7essensssnenenee

4176 *RS CHANGED
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MACY11 30(1046) . "
P11 22=-JAN=-82 0 TEST "'CVINL'' WITH SRC LENGTH = 1, SOURCE= 60,60 EG 0078
:RS SHOULD STILL EQUAL THE CONTENTS OF 'DSTAD"’
014216 70$:
014216 000401 8R TST53 sBR TO NEXT TEST
014220 ST52: sSOURCE STRING
014520 060 .BYTE 60 ;MOST SIGNIFICANT DIGIT
014221 060 .BYTE 60
R L L e e e e I Ly
'TEST 53 TEST INTERRUPTABILITY OF °‘'CVINL''
R L e e P T Y
014222 000004 TSTS3 SCOPE
0142%4 105777 164310 TST8B asSWhR ;TEST BIT 7 OF SWR
014230 100532 BM] SEOP ;SKIP TO NEXT TEST IF SET
0146232 026767 164312 164424 CMP $TPS,TCSR IS SLU USED FOR INTERRUPTS THE CONSOLE?
014240 001007 8NE CVTCONT :BR, ]F NOT & PERFORM INTERRUPTABILITY TEST
014242 032767 000001 164336 BIT #BITO,SENV s IF YES. IS PRGCGRAM UNDER APT?
014250 001403 BEQ CVTCONT BR IF NOT
014252 005767 164316 TST $PASS ;1F YES,CHECK IF NOT ON FIRST PASS
014256 001117 BNE $EOP 1 NOT, BR & SKIP TEST
014260 CVTCONT:
016260 004567 000446 JSR RS ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
014264 000012 12 :SOURCE LENGTH
0146266 014472 ST53 SOURCE ADDRESS
014270 177777 122777 STORE ALL ONES TO LOAD INTO RZ2 & R3 REGJISTERS
014272 177777 1727777
016274 000377 377 ;STORE A NON-2ERO VALUE TO TEST R4 UNAFFECTED BY “‘CvTZL'
0146276 012767 014356 164370 MOV #CVTPC,PCI STORE PC OF TEST INSTRUCTION
01464304 012777 0151146 164356 MoV #INTR,STVECT POINT TTY VECTOR TO INTERRUPT ROUTINE
014312 005077 164354 CLR aTPSV ALLOU INTERRUPTS AFTER TTY INTERRUPT
014316 767 000546 JSR PC,TDONE .UAIT FOR SLU READY
014322 013777 000554 164336 MoV 30§NULL.378UF JSEND NULL CHARACTER
014330 004567 000510 JSR R5.XPSHW JSTORE EXPECTED PSW
014334 000000 JLMORD 0
014375 106427 000000 MTPS #0 sALLOW INTERRUPTS
014342 052777 000100 164314 8IS #100,8TCSR JENABLE TTY INTERRUPTS
014350 004767 000404 RECVIN: JSR PC,GENR +SET UP GENERAL REGISTERS
014354 000277 SCC JSET UP THE COMPLEMENT OF EXPECTED (C'S
014356 076053 CVTPC: CVINL
014360 106767 164312 MFPS 8 ;STORE RESULTANT PSW
4364 032777 000100 164272 81T '1 0 QTCSR J1F INTERRUPTS ARE DISABLED, INSTRUCTION WAS INTERRUPTED
14372 01369 BNE g .BR § DO TEST AGAIN, IF INSfRUCTION WAS NOT INTERRUPTED
14374 042767 177400 164274 8IC #177400,CCODES ;CLEAR UNUSED BITS
14402 023767 000700 164266 CMP alEXPPSU CCODES :CHECK PSW AGAINST EXPECTED VALUE
14410 001401 8EQ 648 .BR. IF EQUAL
0144612 104001 ERROR 1 senknnennnteerddTEST 53 = ERROR Tennanenanennvee
PSU ERROR
EXPECTED PSW IS STORED AT 'SAVRb"
*ERRONEOUS SP VALUE IS AT ‘BADRG'
144614 648
144614 5700 TST Rg ;CHECK RO=0
1441 1401 8EQ $
1442 104002 ERROR -ttttttttttttttl’fst 53 «~ ERROR 2veerntnnnvennnne

:RO SHOULD BE ZERO
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MATN,  MACYTY 30(1046) 22 JAN -82 08:50 PAGE 80

CVKAJB.P11 22-JAN-82 08:4 53 TEST INTERRUPTABILITY OF "‘CVINL"
4233 014422 005701 658: TST :CHECK R1=0
4236 014424 001401 BEQ 66S
4235 016426 104003 ERROR 3 ------------'--resr 53 - ERROR 3tasesnssansnans
4236 *R1 SHOULD BE ZERO
4237 014430 020227 052525 668 : P R2 ,#052525 : CHECK uppen WORD OF ANSWER
4238 014436 001401 BEQ 67§ ‘BR IF
4239 014436 104004 ERROR & "'"“n"'"'TEST 53 = ERROR 4rrananennnanace
4240 ‘UPPER WORD OF ANSWER IS IN ERROR
4241 *EXPECTED VALUE IS 052525
6242 *ERRONEOUS ANSWER VALUE IS IN R2
4043 014440 020327 125252 678: CMP R3,#125252 *CHECK LOWER WORD OF ANSWER
4244 014444 001401 BEQ 68$ ‘BR IF OK
4245 014446 104005 ERROR 5 taeanenasensnneeTEST 53 - ERROR Steeeneveenanene
4246 ‘LOWER WORD OF ANSWER IS IN ERROR
6247 SEXPECTED VALUE IS 125252
4248 *ERRORNEOUS ANSWER 1S IN R3
4249 014450 020467 164200 68$: cMP R4 ,DSTLN ‘CHECK R& UNCHANGED
4250 01445¢ 001401 BEQ 69%
4251 014456 104006 ERROR 6 sevansenarnnenaeTEST 53 - ERROR Geteevnnnnensvee
4252 “R4 CHANGED
4253 ‘R4 SHOULD STILL EQUAL TH CONTENTS OF °“FILL"
4056 014460 020567 164172 69$: CMP RS ,DSTAD “CHECK RS UNCHANGED
4255 016464 001401 BEQ 708 :BR IF OK
4256 016466 104007 ERROR 7 tetartevcenaeneeTEST 53 - ERROR 7teveenasatenens
4257 *RS CHANGED
4258 *R5 SHOULD STILL EQUAL THE CONTENTS OF 'DSTAD'
4959 014470 708 :
4260 014470 000405 ENDTS3 ;BR TO END OF THIS TEST
4261 016472 $T53: *SOURCE STRING
4262 014472 061 .BYTE 61 *MOST SIGNIFICANT DIGIT
4063 014473 064 .BYTE 64
4264 014474 063 .BYTE 63
4265 014475 061 BYTE 61
4266 014476 066 .BYTE 66
457 014477 067 .BYTE 67
4268 014500 067 .BYTE 67
4269 014501 066 .BYTE 66
4270 014502 061 .BYTE 61
25;1 014503 060 .BYTE 60
4273 014504 016777 164162 164156 ENDTS3: MOV TPSW,3TVECT
4274 014512 106427 000200 MTPS  #200
25;2 .SBTTL END OF PASS ROUTINE
4277 B R A LI T I L L b dbhbibitinhihbhbb bbbl bbb L LA L b b
4278 -xncnenfnr THE PASS NUMBER (SPASS)
4279 “«]F SW12=1 INMIBIT TRACE TRAP
4280 “«]F THERES A nonxroa GO 10 IT
253} *«IF THERE ISN'T JUMP TO BEGIN
4283 014516 SEOP:
4284 014516 000004 SCOPE
4285 014520 005067 163756 CLR STSTNM ;;ZERO_THE TEST NUMBER
4286 01‘553 005267 164044 INC SPASS : INCREMENT THE PASS NUMBER
4287 014530 042767 100000 164036 BIC £100000,8PASS - -DON'T ALLOW A NEG. NUMBER
488 014536 005327 DEC (PC)+ *:LOOP?

SEQ 0079
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;CVKAJB.PH 22-JAN~-82 08:49 END OF PASS ROUTINE
! 4289 014540 000001 $EOPCT: .WORD 1
4290 014542 0030%4 86T $DOAGN JJYES
4291 014544 012737 MoV (PC)+,8(PO)+ J;RESTORE CCUNTER
4292 014546 000001 $ENDCT: ,WORD 1
4293 014550 014540 $EOPCT 3
4294 014552 104401 014664 TYPE, ENDMSG ;TYPE "END PASS
4295 014556 013700 000042 $GET4L2: MOV ar62 RO ..GET MON]TOR ADDRESS
6296 014562 001414 BEQ $DOAGN :BRANCH IF NO MONITOR
4297 014564 005046 CLR -(SP) ..INSURE THE *'T°' BIT 1S CLEAR
4298 014566 012746 014574 MOV #$CLR.T,~(SP) ;;SETUP FOR AN RTI OR RTT
4299 014572 000426 B8R SRTRN GO DO AN RTI OR R‘TT TO LOAD THE FoW
4300 ..UITH A CLEARED 'T'* BIT
4301 014574 $CLR.T:
4302 014574 013700 000042 MOV a#62 RO ::INSURE RO CONTAINS THE MONITORS
4303 014600 001405 BEQ $DOAGN :;RETURN ADDRESS
4305 014602 000005 RESET ;sCLEAR THE WORLD
4305 014604 004710 SENDAD: JSR PC.(RO) ;G0 TO MONITOR
4306 014606 000240 NOP JsSAVE ROOM
4307 014610 000240 NOP s-FOR
4308 014612 000240 NOP siACTN
4309 014614 $DOAGN:
4310 014614 104400 TRAP 2:PUSH OLD P§H .AND PC ON STACK
4311 014616 042716 000020 BIC #20, (SP) ::CLEAR THE ‘T'* BIT
4312 014622 032777 010000 163710 BIT IBInZ 8SWR ..RW WITH TRACE TNAP?
4313 014630 001005 BNE 18 ;BR IF NO
4314 014632 005167 000020 COM $18IT ..IS IT TIME FOR TRACE TRAP
4315 014636 100402 BM] 18 :BR IF NO
«316 014640 052716 000020 BlS #20, (SP) ..SET TRACE TRAP
4317 014644 012746 014652 18: Moy #SLOOP,~(SP) ::JUMP TO START OF TEST
4318 014650 000002 SRTRN: RT] ..RETW—-THIS IS CHANGED TO
4319 AN "RTT'" IF 'RTT"" IS A LEGAL
4320 s INSTRUCTIW
4321 014652 $LOOP:
4322 014652 000137 JMP a(PC)+ ;sRETURN
4323 014654 001300 SRTNAD: .WORD BEGIN ,
4324 014656 000000 $18IT: .WORD O :2°T' BIT STATE INDICATOR
4325 014660 377 377 000 SENULL: .BYTE ~-1,-1,0 :3NULL CHARACTER STRING
4326 014664 .EVEN
4327 014664 005015 047105 020104 ENDMSG: .ASCIZ <15><12>/END PASS /
4328 014672 040520 051523 020040
4329 014700 000
4330 014702 .EVEN
4t
433 ROUTINE TO REPORT UNEXPECTED TRAPS TO LOCATION O
433% 014702 011637 000706 TZE : MoV (SP) ,8#0LDP( PC+2 WHERE UNEXPECTED TRAP OCCURRED
4335 014706 104200 ERROR 200 """""ERROR 200rseannnnee
4336 lNEX ECTED TRAP TO LOCATION 0
4337 'ULDPC" CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
2%%8 014710 000000 HALT PROGRM MUST BE RESTARTED AT THIS POINT
4340
4341 ROUTINE TO REPORT UNEXPECTED TRAPS TO LOCATION &
434 014712 011637 000706 TI : MOV (SP) ,8#0LDPC :GET PC+2 WHERE UNEXPECTED TIMEOUT TRAP OCCURRED
L34 014716 104204 ERROR 204 ttttttttttERROR 204rnenanannn
(344 WEXPECTED TRAP TO LOCATION &

o YVOV
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CVKAJB.P1? 22-JAN-82 08:49 END OF PASS ROUTINE SEQ 0081
Aﬁ ;'"'OLDPC'' CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
43’46 014720 000000 HALT ;PROGRAM MUST BE RESTARTED AT THIS POINT
4348
4349 :ROUTINE TO REPORT UNEXPECTED TRAPS TO LOCATION 10
4350 C14722 011637 000706 ILLIRP MOV (SP) ,e8#0LDPC JGET PC+2 WHERE UNEXPECTED ILLEGAL INSTRUCTION TRAP OCCU
4351 014726 104210 ERROR 210 ienananasesERROR 210 vsnsnansn
435 ;UNEXPECTED TRAP TO LOCATION 10
435 S"OLDPC'" CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
23;3 014730 000000 HALT *PROGRAM MUST BE RESTARTED AT THIS POINT
4356
(357
4358
:gzg ;SUBROUTINE TO SET OPERAND VALUES
4361 014732 012567 163706 NPREP: MOV (RS)+,SILN ;STORE INSTRUCTION TEST ARGUMENTS
4362 014736 012567 163706 MOV (R5)+.S1ADR
6363 014742 012567 163702 MOV (R5)+.S2LN
4364 014746 012567 163700 MOV (RS)+,SIADR
4365 014752 012567 163676 MOV (R5)+.DSTLN
4366 014756 000205 RTS RS
$3e8
2§93 ;SUBROUTINE TO SET UP GENERAL REGISTERS
4371 014760 016700 163660 GENR: MOV S1LN,RO ;TRANSFER INSTRUCTION TEST ARGUMENTS TO
4372 014764 0167201 163656 MOV S1ADR,R1 *  THE GENERAL REGISTERS
4373 014770 016702 163h54 MOV S2LN,R2
4374, 014774 016703 163652 MOV S2ADR,R
4375 015000 016704 163650 MOV DSTLN.R%

4376 015004 016705 163646 MOV DSTAD.RS

4377 015010 010637 000702 MOV SP, a#SAVRG ;COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
4378 015014 062737 000002 000702 ADD oz MSAVRG *ADJUST SAVED SP BECAUSE OF JSR TO THIS ROUTINE
4379 015022 000207 RTS

4380

4381

438%

43y ;SUBROUTINE TO CLEAR BUFFER AREA

3384 015024 012700 017044 CLBUF: MOV #8UF ,RO ;POINT RO TO BUFFER AREA

4385 015030 012701 000020 MOV #20,R1 *STORE aurrea LENGTH IN R!

4386 015034 oosgzo 18: CLR (noS+ *CLEAR BUFFER

4387 015036 005301 DEC R1 *DECREMENT BUFFER LENGTH

4388 015040 001375 BNE 18 *BR IF NOT FINISHED

gg«g 015042 000207 RTS PC *RETURN

4391 suaaourxue TO RECORD EXPECTED PSW

4392 015044 012537 000700 XPSW: (R5)+,3#EXPPSW :STORE EXPECTED PSW VALUE IN 'EXPPSW'’

4393 015050 106700 ans RO *GET PRESENT PSW

4394 015052 032700 000020 BIT #TBIT.RO :1S T-BIT SET?

4395 015056 001403 BEQ 18 *BR IF NOT

43 815060 052737 000020 000700 8IS XTBIT, 3#EXPPSW >OTHERWISE SET T~BIT IN EXPECTED PSW VALUE
2?33 15066 000205 18: RTS RS *RETURN

4399
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(VKAJB.PI1  22-JAN-82 08:4 END OF PASS ROUTINE SEQ 008
[N}
4407 ;SUBROUTINE TO TEST FOR TRANSMIT DONE FLAG
4603 015070 005037 000710 TDONE: CLR MNTENP ;CLEAR TIMER
4404 015076 105777 163564 1$: TSTB  BTCSR *1S SLU READY?
4405 015100 100434 8M] RETN *BR IF READY
4406 015102 005237 000710 INC MNTEMP *OTHERWISE INCREHENT TIMER
46407 015106 001372 BNE 18 ‘B8R IF NOT TIMED OUT
4408 015110 104300 ERROR 300 JussseneensssansERROR 300seasannenntrene
4409 NEVER GOT TRANSMIT DONE FLAG
22}? 015112 000207 RETN:  RTS PC *RETURN
441
441 sSUBROUTINE TO HANDLE TTY INTERRUPTS IN INSTRUCTION
22}; S INTERRUPTABILITY TESTS
4416 015114 INTR:
4417 015114 021667 163554 P (SP).PCI :WAS PC AT INSTRUCTION UNDER TEST?
4418 015120 001003 BNE SEND *BR, IF NO
4419 015122 032704 177400 CKR4: BIT 2177400 ,R4 *IF YES, CHECK UPPER BYTE OF Ré
4420 01S1§6 001004 BNE CLRINT *1F ZERO, INSTRUCTION WAS NOT INTERRUPTED=TRY AGAIN
421 015130 013777 000554 163530 SEND: MOV SFSNULL .aTBUF  -SEND ANOTHER CHARACTER
4622 015136 000002 RTI *RETURN
4423 015140 042777 000100 163516 CLRINT: BIC #100,aTCSR *IF NON-ZERO, CLEAR INTERRUPT ENABLE
225; 015146 000002 RTI *CONTINUE INSTRUCTION
4426
4427
22%3 .SBTTL SCOPE HANDLER ROUTINE
4‘30 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
4431 %THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
4432 S«AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>>
4433 ‘«AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
4434 *«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
4435 teSW14=1 LOOP ON TEST
4436 : +SW09=1 1.004p ON ERROR
4437 s #SW08=1 LOOP ON TEST IN SWR<S:0>
4438 *«CALL
4439 : * SCOPE ::SCOPE=]10T
4440
4441 015150 $SCOPE :
4642 015150 032777 04000C 163362 18: BIT l81714.a$UR :;LOOP ON PRESENT TEST?
4443 015156 001065 BNE SOVER “YES IF SWi4=1
4444 cccccsrAar OF CODE FOR THE XOR iésreappcpp
4445 015160 000416 $xTS 6 ;:1F RUNNING ON THE "XOR'’ TESTER CHANGE
4446 SSTHIS INSTRUCTION TO A 'NOP'' (NOP=240}
4447 015162 013746 000004 MOV SWERRVEC.-(SP) --SAVE THE CONTENTS OF THE ERROR VECIOR
4448 015196 o1§737 015206 000004 MoV 453 ;ﬁ ERRVEC :3SET_FOR rxnsouv
4449 015174 go 737 177060 ST 127060 *TIME OUT ON XOR?
4450 015382 12637 000004 MGV (SP)+, SWERRVEC ..assroae THE eanon VECTOR
4451 015 ogo436 B8R $SVLAD *:60 TO THE NEXT TESY
4452 015 0 6§9 58: 1) o (SP)+, (SP)+ *:CLEAR THE STACK AFTER A TIME OUT
4453 015210 012637 000004 MOV (SP)+.3#ERRVEC ..aestoae THE ERROR VECTOR
4454 015214 22 B8R 78 :LOOP ON THE PRESENT TEST
4455 015216 68::ARNNAEND OF CODE FOR THE XOR *SESTERRNIOR
4456 015216 032777 000400 163314 BIT #81708,aSWR ::LO0P ON SPEC. TEST?
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CVKAJB.P11  22-JAN-82 08:4 SCOPE HANDLER ROUTINE SEQ 0083
4457 015224 001407 BEQ 28 ::BR IF NO
458 015336 017746 163306 ROV  SSWR,=(SP) “2SET DESIRED TEST NUM. FROM SWR
c459 015033 042716 000300 BIC FSSORMK (SP)  --STRIP AWAY UNDESIRED BITS
4460 015 129667 163240 EMPB  (SP)+,$TSTNM  ::DN THE RIGHT TEST?
4461 015342 001433 BEQ  SOVER “'8R IF YES
2662 015344 105767 163233 28: TSTB  SERFLG 12HAS AN ERROR OCCURPED?
| 4468 015250 001412 BEQ $SVLAD i8R IF
. 446k 015352 032777 001000 163260 BIT  #BIT09.3SWR  -:LOOP ON ERROR?
| 4465 015260 001404 BEQ 48 ::BR IF
il 015562 016767 163222 163216 78: MOV  SLPERR.SLPADR  ::SET LOOP ADDRESS TO LAST SCOPE
4467 015270 000420 BR SOVER
468 015372 105067 163205 48: CLRB  SERFLG .:7ERO THE ERROR FLAG
2469 015976 105267 163200 SSVLAD: INCB  STSTNM 1ICOUNT TEST NUMBERS
2470 015302 116767 163176 163262 MOVB  STSTNM.STESTN  ::SET TEST NUMBER IN APT MAILBOX
c471 015310 011667 163172 MOV (SP),SLPADR ~ -:SAVE SCUPE LOOP ADDRESS
c472 015314 011667 163170 MOV (SP)'SLPERR  -:SAVE ERROR LOOP ADDRESS
4473 015320 005067 163234 CLR  SESCAPE “:CLEAR THE ESCAPE FROM ERROR ACDRESS
474 01533 112767 000001 163163 MOVE  #1,SERMAX IONLY ALLOW ONE(1) ERROR ON NEXT TEST
7S 013333 016777 163144 163202 SOVER: MOV STSTAM,SDISPLAY ::DISPLAY TEST NUMBER
476 015340 016716 163142 MOV  SLPADR. (SP)  FUDGE RETURN ADDRESS
{477 013344 000002 RTI S:FIXES PS
$79 .SBTTL POWER DOWN AND UP ROUTINES
4‘81 ".'.'.."..'.......'...."'."'.......'.'..'...'.....'...........t
4482 *POWER DOWN ROU'TINE
<85 015346 012737 015530 000026 SPWRDN: MOV ASILLUP,@#PWRVEC ;;SET FOR FAST UP
4484 015354 012737 000340 000026 MOV #340,#PWRVEC+2 ; -PRIO:7
4485 015362 010046 MOV  RO,-(SP) 1:PUSH RO ON STACK
4486 015366 010146 MOV  R1.-(SP) 1PUSH R1 ON STACK
487 015366 010246 MOV RZ-(SP) IPUSH R2 ON STACK
4488 015370 010346 MOV  R3.~(SP) 1IPUSH RS ON STACK
4489 015372 010446 MOV  Ré.-(SP) IPUSH R4 ON STACK
4490 015374 010546 MOV  RS.-(SP) 1:PUSH RS ON STACK
91 015376 017746 163136 MOV  @SUR,-(SP) 1iPUSH @SWR ON STACK
4492 015402 010667 000126 MOV  SP,SSAVR6 1:SAVE SP
249% 015406 012737 015420 000026 MOV WSPURUP,B#PWRVEC ::SET UP VECTOR
449 015414 000000 HALT
c498 015416 000776 2 ; :HANG P
1.497 ;."..'.'l""t""."""'.'.'l."'.".""..."""..".'....'..
2498 'POWER UP ROUTINE
499 015620 012737 015530 000026 SPWRUP: MOV #SILLUP,@#PWRVEC ;:SET FOR FAST DOWN
4300 013426 016706 000102 MOV  S$SAVR6,SP ;SGET SP
4501 015432 005067 000076 CLR  $SAVR6 1WAIT LOOP FOR THE TTY
4302 015436 005267 000072 18: INC  $SAVR6 T WAIT FOR THE INC
450% 015442 001375 BNE 18 1:0F  WORD
(504 01344k 005067 163032 CLR  STSTNM
4305 015450 012677 163064 MOV (SP)+,asWR .:POP STACK INTO aswR
4506 015454 012605 MOV (SP)+ R5 2ipOP STACK INTO RS
4507 015456 012604 MOV (SP) + Rk 1:pOP STACK INTO Ré
4508 015480 012603 MOV (SP)+.R3 1:poP STACK INTO R
4509 015462 012602 MOV (SP)+°R2 1pOP STACK INTO R
4510 015464 012601 MOV (SP)+.RT 2ipOP STACK INTO R1
4311 015466 012600 MOV (SP)+°RO 1:POP STACK INTO RO
4512 015470 012737 015346 000024 MOV #SPWRDN.FPWRVEC’ :;SET UP THE POWER DOWN VECTOR
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85
POWER DOWN AND UP ROUTINES

SPURMG:
$SPWRAD :

SILLUP:

$SAVR6:
SPOMER:

.SBTTL

;*SAVE THE ERROR ITEM

LASCIZ
.EVEN

#340,3#PWRVEC+2

$POWER
(PC)+,(SP)

sLooP
#20,2(SP)
s$18IT

=2
<15><12>''POWER"’

ERROR HANDLER ROUTINE

tttttttttt.ttt...ttttittttttttttttttttttttittttittttitttttttttt

tTHIS ROUTINE WILL INCREHENT THE ERROR FLAG AND THE ERROR COUNT,

:;PRIO:7
RE PORT THE POWER FAILURE
;POWER FAIL MESSAGE POINTER
..RESTART AT $SLOOP
;RESTART ADDRESS
;:CLEAR “T*' BIT
;:CLEAR THE 'T°' BIT FLAG

;s THE POMER UP SEQUENCE WAS STARTED
s: BEFORE THE POWER DOWN WAS COMPLETE
:;PUT THE SP HERE

R AND THE ADDRESS OF THE ERROR CALL

*«AND TYPE OUT THE PC OF THE ERROR INSTRUCTION
$xTHE _SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

T _ON ERROR
INHIBIT ERRg: TYPEOUTS

;eSW15=1
;«SW13=1
;=SWO9=1
;*CALL

$SERROR:
7%:

208:

218:
22%:
28:

3s:

LOOP ON ERR
N : ;ERROR=EMT AND N=ERROR ITEM NUMBER
SERFLG ;:SET THE ERROR FLAG
78 TIDON'T LET THE FLAG GO TO ZERO
STSTNM,3DISPLAY ::DISPLAY TEST umn AND ERROR FLAG
SERTTL SSINC THE ERROR C
§§Pit§5§'cm $:GET ADDRESS OF sanoa INSTRUCTION
aSERRPC.SITEMB :;STRIP AND SAVE THE ERROR ITEM CODE
#BIT13.3S 15SKIP TYPEOUT [F SET
208 11SKIP TYPEOUTS
$CRLF
$ERRPC,-(SP)  ;;SAVE SERRPC FOR TYPEOUT

1 :ERROR ADDRESS

1160 TYPE=~OCTAL ASCII(ALL DIGITS)
LS$CRLF
SAPTENV.SENV  ::RUNNING IN APT MODE
28 1IN0, SKIP APT ERROR REPORT
snem 21s 2SSEf ITEM NUMBER AS ERROR NUMBER
SC LSATY *SREPORT FATAL ERROR TO APT
0
228 ::APT ERROR LOOP
aSWR *:HALT ON ERROR
3% :3SKIP IF CONTINUE

SSHALT ON ERROR'

#81T09,3SWR *1LOOP ON ERROR SWITCH SET?
48 S8R IF NO

SEQ 0084
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CVKAJB.P11 -JAN-82 0 ERROR HANDLER ROUTINE
4569 015702 016716 162602 MOV SLPERR, (SP) ;:FUDGE RETURN FOR LOOPING
4570 01570% 005767 162646 48: TST $ESCAPE ::CHECK FOR AN ESCAPE ADDRESS
4571 015712 001402 BEQ ] ::BR IF NONE
zg; 8}%;}8 016716 162640 53 MoV $ESCAPE, (SP) :sFUDGE RETURN ADDRESS FOR ESCAPE
6574 0157%0 022737 014604 000042 cHP #SENDAD ,a#42 ssACT=11 AUTO-ACCEPT?
4575 015726 001001 BNE 63 s ;BRANCH IF NO
4576 015730 000000 HALT s YES
£577 015732 68:
22;3 015732 000002 RTI s :RETURN
2;3? .SBTTL TYPE ROUTINE
4582 R Lttt e L L et
4583 tROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A 0 BYIE,
4584 s*THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.
4585 ;*NOTE1: SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.
4586 : *NOTE2: SFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
zggg tNOTE3 SFILLC CONTAINS THE CHARACTER TO FILL AFTER.
4589 CAL
4590 '1) USING A TRAP INSTRUCTION
459N TYPE ,MESADR ;;MESADR IS FIRST ADDRESS OF AN ASCIZ STRING
4592 'OR
4593 H TYPE
4594 :' MESADR
$3% 2
4597 015734 105767 162617 STYPE: TSI8 $TPFLG ..IS THERE A TERMINAL?
4598 015740 100002 8PL 1% s:BR IF Y
4599 015742 000000 HALT SIHALT HERE IF NO TERMINAL
4600 015744 000430 B8R 3% ssLEAVE
4601 015746 010046 18: MoV RO,~(SP) ::SAVE RO
4602 015750 017600 000002 MOV @2(sP) ,RO ..GET ADDRESS OF ASCIZ STRING
4603 015754 122767 000001 162624 CMP8 #APTENV , SENV s sRUNNING IN APT MODE
4604 015762 00101 BNE 62% NO GO CHECK FOR APT CONSOLE
4605 015764 132767 000100 162615 8lT8 lAPTSPOOL.SENVH POOL MESSAGE TO AP
4606 015772 001405 8EG 62% GO CHECK FOR CONSOLE
4607 015774 010067 000004 MoV RO,618 SEfUP MESSAGE ADDRESS tOR APT
4608 016000 004767 000520 JSR PC,SATY3 : SPOOL MESSAGE TO AP
4609 016004 000000 61%: MWORD O HESSAGE ADDRESS
4610 016006 132767 000040 162573 628%: 8ITs #APTCSUP ,SENVM ..APT CONSOLE SUPPRESSED
4611 016014 001003 BNE ¢0s JYES,SKIP TYPE OUT
4612 016016 112046 2s: move (RO)*.~(SP) : :PUSH CHARACTER T0 BE TYPED ONTO STACK
4613 016020 001005 BNE ::BR IF IT ISN'T THE TERMINATOR
4616 016022 005726 TST (SP)# :IF TERMINATOR POP IT OFF THE STACK
4615 016024 012600 608 : MOV (SP)+,RO ..RESTORE RO
4616 016026 062716 000002 3s: ADD #2,(SP) ,.ADJUST RETURN PC
4617 016032 000002 RTI sRETURN
4618 016034 122716 000011 4$: CMPB #HT, (SP) ..BRANCH IF <HT>
4619 016040 001430 8EQ 8s
4620 016042 122716 000200 CMPB #CRLF, (SP) ;;BRANCH IF NOT <CRLF>
4621 016048 001006 BNE 5%
4622 016050 005726 TST (SP)+ :;POP_ <CR><LF> EQUIV
4623 016052 104401 TYPE s:TYPE A CR AND LF
4624 016054 000563 SCRLF
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PN 22-JAN-82 08:49 TYPE ROUTINE
016056 105067 000202 CLRB
016062 755 BR
016064 004767 000056 5%: JSR
016070 126726 162462 6s: CMP8
016074 001350 BNE
016076 016746 162452 MoV
016102 105366 000001 78: DECB
016106 002770 8LT
016110 004767 000032 JSR
016114 105367 000144 DECB
016120 000770 BR
;HORIZONTAL TAB
016122 112716 000040 8s: MOV8
016126 004767 000014 9s: JSR
016132 132767 000007 000124 elrs
016140 001372 BNE
016142 005726 1ST
016144 000724 BR
016146 $STYPEC:
016146 105777 162372 1ST8
016152 100022 8PL
016154 017746 162366 MOV
016160 042716 177600 8Ic
0161 122716 000023 CMP8
016170 001012 BNE
016172 101$:
016172 105777 162346 1ST8
016176 100375 BPL
016200 117716 162342 MOVB
016204 042716 177600 8lC
016210 122716 000021 CMPB
016214 001366 BNE
016216 1028:
016216 005726 18T
016220 108:
016220 105777 162324 1ST8
016224 100375 8PL
016226 116677 000002 162316 Move
016234 122766 000015 000002 CMPB
016242 1003 BNE
016244 105067 000014 CLRB
016250 06 B8R
016252 122766 000012 000002 1$: cMP8
016260 140; 8tQ
016262 10522 INCB
016264 SCHARCNT : ,WORD
016266 (€00207 $TYPEX: RTS

.SBTTL BINARY TO OCTAL (ASCII)

$CHARCNT
23

PC,STYPEC
SFILLC,(SP)+

2%

SNULL ,=(SP)
1(SP)

$

6
PC,STYPEC
S$CHARCNT
78

PROCESSOR

£, (SP)
Pc.$TYPEC
#7.$CHARCNT

(13

(SP)+

23

asTKS

108

asTK8, - (SP)
2177600, (SP)

#SXOFF , (SP)
102%

as$TkB, (SP)
2177600, (5P)
#SXON, (SP)
101$%

(SP)+
asTPS

108
2(SP) ,a$TPB
1CR.2(SP)

#LF,2(SP)
STYPEX
(PC)+

0

PC

JsCLEAR CHARACTER COUNT

T NEXT CHARACTER
E THIS CHARACTER
TIME FOR FILLER CHARS.?
GO GET NEXT CHAR.
OF FILLER CHARS. NEEDED
3 E HAR.
;sDOES A NULL NEED TO BE TYPED?
;sBR IF NO=--GO POP THE NULL OFF OF STA{K
+c60 TYPE A NULL
::DOOgOT COUNT AS A COUNT

:sREPLACE TAB WITH SPACE
JsTYPE A SPACE

: ;BRANCH IF NOT AT
J:TAB STOP

:sPOP SPACE OFF STACK
::GET NEXT CHARACTER

::CHAR IN KYBD BUFFER?
IF NOT

::GET CHAR

:STRIP EXTRANEOUS BITS
;s WAS CHAR XOFF

::8R IF NOT

;sWAIT FOR CHAR

J;GET CHAR
;:STRIP IT
:WAS T XON?
;:BR IF NOT

soFIX STACK
;sWAIT UNTIL PRINTER IS READY

::LO0AD CHAR TO BE TYPED INTO DATA REG.
:21S CHARACTER A CARRIAGE RETURN?
:sBRANCH IF NO

::E;?;-CLEAR CHARACTER COUNT

2:1S CHARACTER A LINE FEED?

;:BRANCH [F YES

;2COUNT THE CHARACTER

s sCHARACTER COUNT STORAGE

AND TYPE

cogttttttttttt Rt Attt deR Rt RRRR R RRARARRRAROARARARARARRRCARNANNAND

;*THIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6=DIGIT
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PN 22=-JAN-82 08:49 BINARY TO OCTAL (ASCII) AND TYPE SEQ 0087

;*OCTAL (ASCII) NUMBER AND TYPE 1T,
:«$TYPOS--~ENTER HERE TO SETUP SUPPRESS IcROS AND NUMBER OF DIGITS TO TYPE

;eCALL:

v Mov NUM,-(SP) ::NUMBER TO BE TYPED

13 TYPOS :sCALL FOR TYPEOUT

o™ .BYTE N ::N=1 TO 6 FOR NUMBER OF DJGITS TO TYPE
o BYTE M ::M=1 0RO

;¥ ::1=TYPE LEADING ZEROS

L :20=SUPPRESS LEADING ZEROS

* %

;*$TYPON-~--ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
;*$TYPOS OR $TYPOC

;«CALL:

v MOV NUM, = (SP) ; :NUMBER TO BE TYPED

J® TYPON ::CALL FOR TYPEOUT

L

:t%;ztoc---ENtER HERE FOR TYPEOUT OF A 16 BIT NUMBER

o ¥ :

i MOV NUM, = (SP) : :NUMBER TO BE TYPED

‘e TYPOC SSCALL FOR TYPEOUT
016270 017646 000000 $TYPOS: MOV a(sP),=(SP) ::PICKUP THE MODE
016274 116667 000001 000211 MOVB  1(SP).SOFILL  ::LOAD 2ERO FILL SWITCH
016302 112667 000207 MOVB  (SP)+.SOMODE+1 ::NUMBER OF DIGITS TO TYPE
016306 062716 000002 ADD #2, (SP) $:ADJUST RETURN ADDRESS
016312 000406 BR $TYPON
016316 112767 000001 000171 S$TYPOC: MOVB  #1,SOFILL ::SET THE ZERO FILL SWITCH
016322 112767 000006 000165 MOVB  #6.$OMODE+1 *SSET FOR SIX(6) DIGITS
016330 112767 000005 000154 STYPON: MOVB  #5,SOCNT S:SET THE ITERATION COUNT
016336 010346 MOV R3.=(SP) {3SAVE R3
016340 010446 MOV Ré .~ (SP) SSAVE Ré&
016342 010546 MOV RS.~(SP) $3SAVE RS
016344 116704 000145 MOVB  SOMODE+1,.Ré4 13GET THE NUMBER OF DIGITS TO TYPE
016350 005404 NEG R4
016352 062704 000006 ADD #6.,R% ::SUBTRACT IT FOR MAX. ALLOWED
016356 110467 000132 MOVB  R&.SOMODE “3SAVE IT FOR USE
016362 116704 000125 MOVB  SOFILL.R& SSGET THE ZERO FILL SWITCH
016366 016605 000012 MOV 1§(sp>.ns TIPICKUP THE INPUT NUMBER
016372 005003 CLR R 1SCLEAR THE OUTPUT WORD
016374 006105 1$: ROL RS *SROTATE MSB INTO ‘'C**
016376 000404 8R 33 1560 DO MSB
016400 006105 2s: ROL RS *SFORM THIS DIGIT
016402 006105 ROL RS
016404 006105 ROL
016406 010503 MOV RS ,R3
016410 006103 38: ROL R3 ::GET LSB OF THIS DIGIT
016412 105367 000076 DECB  SOMODE LSTYPE THIS DIGIT?
016416 100016 _ BPL 78 S8R IF NO
016420 042703 177770 8IC #177770.R3 $SGET RID OF JUNK
016424 001002 BNE 4 SSTEST FOR O
8164§8 835704 ST R4 * *SUPPRESS THIS 0?

164 1403 8EQ 58 ‘:BR IF YES

016432 005204 48: INC R4 * DON'T SUPPRESS ANYMORE 0'S
016434 052703 000060 8IS #'0,R3 TIMAKE THIS DIGIT ASCII
016440 052703 000040 58: 8IS 2R3 TSMAKE ASCII IF NOT ALREADY
016444 110367 000040 Mov8  R3.83 *3SAVE FOR TYPING




K 7

JMAIN.  MACY1T 30(1046) 22-JAN-82 08:50 PAGE 89
LVKAJB. P 22~JAN-82 0. 9 BINARY TO OCTAL (ASCII) AND TYPE SEQ {.uor
4737 0166450 104401 016510 TYPE 8s ;260 TYPE THIS DIGIT
4738 016454 105367 000032 78: DECB  $OCNT : :COUNT BY 1
4739 016460 003347 BGT 2$ ;:BR IF MORE T0 DO
4740 016462 002402 BLY 53 ;:BR IF DONE
4741 016464 005204 INC R4 2 INSURE LAST DIGIT ISN'T A BLANK
4742 016466 000744 B8R 2% 2260 DO THE LAST DIGIT
4743 016470 012605 6$: MOV (SP) +,RS ;;RESTORE RS
4744 0166472 012604 MOV (SP) + R4 ;:RESTORE R4
4745 016474 012603 MOV (SP)+,R3 ;:RESTORE R3
4746 016476 016666 000002 000004 MOV 2(SP) ,4(SP) ::SET THE STACK FOR RETURNING
4747 016504 012616 MOV (SP)+,(SP)
4748 016506 000002 RT! :;RETURN
4749 016510 000 8s: BYTE 0 ;2STORAGE FOR ASCI] DIGIT
4750 0165N1 000 BYTE 0 ;;TERMINATOR FOR TYPE ROUTINE
4751 016512 000 $OCNT: .BYTE O ;;0CTAL DIGIT COUNTER
4752 016513 000 SOFJLL: .BYTE O ::ZERO FILL SWITCH
2;22 016514 000000 SOMODE: .WORD O :JNUMBER OF DIGITS TO TYPE
2;22 .SBTTL APT COMMUNICATIONS ROUTINE
4757 I RAAARRR RN AN AR AR E RN RRNAAA AN RR AR RANRRRRN RS
4758 016516 112767 000001 000236 $ATY1: mMOVB #,3FFLG ;:T0 REPORT FATAL ERROR
4759 0165264 112767 000001 000226 SATY3: MOVB #1,8MFLG ::TO TYPE A MESSAGE
4760 016532 000403 BR SATY(
4761 016534 112767 000001 000220 $ATY4: MOVB #,SFFLG ;27O ONLY REPORT FATAL ERROR
4762 016542 SATY(:
4763 016542 010046 MoV RO,-(SP) ::PUSH RO ON STACK
4764 016544 010146 MOV R1,-(SP) ::PUSH R1 ON STACK
4765 0165646 105767 000206 TST8B SMFLG 2:SHOULD TYPE A MESSAGE?
4766 016552 001450 8EQ 5% :s]F NOT: BR
4767 016554 122767 000001 162024 CMP8 NAPTERV,SENV : :OPERATING UNDER APT?
4768 016562 001031 BNE 3s :;1F NOT: BR
4769 016564 132767 000100 162015 BIT8 #APTSPOOL ,SENVM ; ;SHOULD SPOOL MESSAGES?
4770 016572 001425 BEQ 3s ;:1F NOT: BR
4771 016574 017600 000004 MOV 84 (SP) ,RO :sGET MESSAGE ADDR.
4772 016600 062766 000002 000004 ADD #2,4(SP) ::B8UMP RETURN ADDR.
4773 016606 005767 161754 18: TST SMSGTYPE ;:SEE IF DONE W/ LAST XMISSION?
4774 016612 001375 BNE 1$ 2 1F NOT: WAIT
4775 016614 010067 161762 MOV RO ,SMSGAD :+PUT ADDR IN RMAILBOX
4776 016620 105720 2s: 1S18 (RO + ;sFIND END OF MESSAGE
4777 016622 001376 BNE 28
4778 0166%4 166700 161752 SuB $MSGAD RO ::SUB START OF MESSAGE
4779 016630 200 ASR RO :sGET MESSAGE LNGTH IN WORDS
4780 016632 010067 161746 MOV RO, SMSGLGT 1:PUT LENGTH IN MAILBOX
4781 016636 012767 000004 161722 MOV #4 ,8MSGTYPE :sTELL APT TO TAKE MSG.
4782 016644 000413 B8R b1 ]
4783 016646 017 000004 000016 3$: Mov 84(SP) ,4$ ::PUT MSG ADDR IN JSR LINKAGE
47846 016654 062766 000002 000004 ADD #2,4(SP) "9¥HP RETURN ADDRESS
4785 016662 016746 161110 MOV 179776,-(SP)  ;;PUSH 177776 ON STACK
4786 016666 004767 177042 JSR PC.STYﬁE 2:CALL TYPE MACRO
4787 016672 000000 48: LWORD O
4788 016674 5%:
4789 016674 105767 000062 108: 7518 $FFLG ::SHOULD REPORT FATAL EKROR?
4790 016700 001416 BEQ 12% ;e1F NOT: BR
4791 016702 005767 161700 TST SENV ;sRUNNING UNDER APT?
4792 016706 001413 BEQ 12% :sIF NOT: BR
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CVKAJB.P1T 22~JAN-82 08:4 T COMMUNICATIONS ROUTINE SEQ 0C89
l 4793 016710 005767 161652 118: TST SMSGTYPE ..FINISHED LAST MESSAGE?
4794 016714 001375 BNE 118 JJF NOT: WAIT
4795 016716 017667 000004 161644 MOV - 94(SP),SFATAL ,.GET ERROR #
4796 0167%4 062766 000002 000004 ADD #2,4(SP) ;:BUMP RETURN ADDR.
4797 016732 005267 16163 INC SMSGTYPE ;s TELL Aﬁ? TO TAKE ERROR
4798 016736 105067 000020 12$: CLRB $FFLG JsCLEAR FATAL FLAG
4799 016742 105067 000013 CLRB SLFLG 2sCLEAR LOG FLAG
4800 016746 105067 000006 CLRB SMFLG ;sCLEAR MESSAGE FLAG
4801 016752 012601 MOV {SP) +.R1 :sPOP STACK INTO R1
4802 016754 012600 MOV (SP)+,R0 .,POP STACK INTO RO
4803 016756 000207 RTS PC 2 sRETURN
4804 016760 000 $SMFLG: .BYTE O ;sMESSG. FLAG
4805 016761 000 SLFLG: .BYTE O ;:L0G FLAG
4806 016762 000 $FFLG: .BYTE O s FATAL FLAG
4807 016764 EVEN
4808 000200 APTSIZE-ZOO
4809 000001 APTENV=001
4810 000100 APTSPOOL=100
zg}g 000040 APTCSUP=040
2%}2 .SBTTL TRAP DECODER
4815 cARRARAARAREARARARNACAAAANAAAAANAANANANAANAANANAAAAANAN AN NN AN
4816 tTHIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE ‘‘TRAP'’ INSTRUCTION
4817 tAND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
4818 +«OF THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT WILL
23;3 tGO TO THAT ROUTINE.
4821 016764 010046 STRAP: MOV RO,=(SP) s 2SAVE RO
4822 016766 016600 000002 MOV 2(SP) ,RO :.GE TRAP ADDRESS
4823 016772 005740 TST =(R0O) s sBACKUP BY 2
4824 016774 111000 MOovV8 (RO) ,RO 2:GET RIGHT BYTE OF TRAP
4825 016776 006300 ASL RO PO JTION FOR INDEXING
4826 017000 016000 017020 MOV $TRPAD (RO) ,RO ..INDEX TO TABLE
23%5 017004 000200 RTS RO 260 TO ROUTINE
4829
23%? ;2THIS IS USE TO HANDLE THE ‘‘GETPRI‘' MACRO
4832 017006 011646 $TRAP2: MOV (SP) ,-(SP) ::MOVE THE PC DOWN
4833 017010 016666 000004 000002 MoV 4(SPS.2(sP) ;sMOVE THE PSW DOWN
23%; 017016 000002 RTI ;;RESTORE THE PSV
22%9 .SBTTL TRAP TABLE
4838 ;«THIS TABLE CpNTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
2323 tBY THE "‘TRAP'' INSTRUCTION.
232} H ROUIINE
4843 017020 017006 $TRPAD: .WORD  STRAP2
4844 017022 015734 STYPE  ;.CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE
4845 017024 016314 $TYPOC ;.;CALL=TYPOC IRAPO§(10440§) TYPE OCTAL NUMBER (W]ITH LEADING ZEROS)
4846 017026 016270 $TYPOS ;;CALL=TYPOS TRAP+3(104403) TYPE OCTAL NUMBER (NO LEADING ZEROS)
4847 017030 016330 $TYPON ,;CALL=TYPON TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
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(VKAJB.P11 22-JAN-82 08:49 TRAP TABLE SEQ 0090
4
4851 017032 005015 053103 040513 NAME:  .ASCIZ <15>¢12>/(VKAJB/
4852 017040 063112 000
2%?4 017044 .EVEN
4855 017044 000020 BUF: BLKW 20
4856 00001 .END
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ABASE = 1775%0
ACDWT = 000000
ACDW2 = 000000
ACPLOP= 000000
ADDN = 076050
ADONPC 006106
ADDWO = 000000
ADDW1 = 000000
ADDW10= 000000
ADDW11= 000000
ADDU1§= 000000
ADDW13= 000000
ADDW14= 000
ADDW15= 290000
ADDWZ2 = 000000
ADDW3 = 000000
ADDW4 = 000000
ADDWS = 000000
ADDWS = 000000
ADDW? =

ADDWS = 000000
ADDW9 = 000000
ADEVCT= 000000
ADEVM = 000000
AENV = 000000
AENVM = 000000
AFATAL= 000000
AMADR1= 000000
AMADRZ= 000000
AMADR3= 000000
AMADR4 =
AMANS1= 000000
AMAMS2= 000000
AMAMS 3= 000000
AMANSSL= 000000
AMSGAD= (000000
AMSGLG= 000000
AMSGTY= 000000
AMTYP1= 000000
AMTYP2= 000000
AMTYP3= 0
AMTYPL=

ANS10
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ANS §744
::g 1 70
i B
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ANS7 003420 1357 13774
APASS = 000000 605 610
APRIOR= 000000 605
APT(SU= 000040 4804 4610 48114
APTENV= 000001 4784 4557 4603 767 48054
APTS1Z= 000200 477K 734 48084
APTSPO= 000100 4794 4605 4769 48104
ASWREG= 000009 605 618
ATES (N= 000000 605 609
AUNIT = 000000 605 12
AUSWR = 000000 605 619
AVECT1= 000060 4894 605 644
AVECT2= 000000 605 645
BADR6 000704 6814 1195+ 1263+ 1350+ 1439+« 1526+ 1611«
2219+ 2313« 2400+ 2506+ 2602* 2676 2751«
3273« 3347+ 3421t 3494+ 3568« 3641+ 3732«
BLGIN 001300 739 7544 4323
B110 = 000001 4628 2157 2443 3668 6193
BIT00 = 000001 4524 462
BIT01 = 000002 W50 461
81102 = 000004 4504 460
BIT03 = 000010 449N 459
81104 = 000020 4484 458
BIT05 = 000040 “7n 457
BIT06 = 000100 446N 450
81107 = 000200 4450 455
81708 = 000400 444N 454 4456
BIT09 = 001000 463N 453 4464 4567
BIT1 = 000002 4614
BIT10 = 002000 4420
BIT11 = 004000 4ol
BIT12 = 010000 W08 4312
BiT13 = 020000 W398 4549
BIT14 = 040000 (384 4442
8IT15 = 100000 4374
BIT2 = 000004 4604
8113 = 000010 4594
BIT4 = 000020 4584
8IT5 = 000040 “574
8116 = 000100 4564
B117 = 000200 4554
8IT8 = 000400 4544
8119 = 001000 534
BPTVEC= 14 46
017044 67C 4384 48554
CCODES 000676 6784 1160+ 1161+ 1162 1228+ 1229+ 1230
1491+ 1492« 1493 1576« 1577« 1578 1660+
1817« 1818 1905« 1906+ 1907 1993« 1994+
2186 2278+ 2279+ 2;80 365+ 2366 2367
2839' 2640t 2641 2714 715« 2716 2790+
% 40 941 3013« 3014+ 015 3089« 3090+
238 310« 3311« 33712 §386' 3385« 3386
3806' 3605« 36 3693« 696 3697 3773«
‘255' 3922 3993« 3994« 3995 4066 4067+
CKRé 015122 44194

1695+
2827+
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CLBUF 015024
CLRINT 015140
(MPN = 076052
CMPNPC 012656
(R = 000015
CRLF = 000200
CVICON 01426
CVINL = 07605
CVIPC 014356
DDISP = 177570
DISPLA 000542
DISPRE 000174
DSTAD 000656
DSTLN 000654
DSWR = 177570
EMTVEC= 000030
ENDMSG 014
ENDTY 001552
ENDT2 002034
ENDT21 276
ENDT24 (007274
ENDT3 002316
ENDT’. 2600
ENDT44 013012
ENDTS3 (14504
ERRVEC= (00004
EXPPSW 100700
FILL 000660
GENR 014760
ONS = ARRNRY
HT = 000011
ILLTRP 014722
INTR 015114
10TVEC= 000020
LF = 000012
N = 000010
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0 PAGE 97
066 2162
149 3222
4125 4198
4342+ 4350+
2455« 3679+
708+ 4483«
718+ 725+
930 1026
2026 2113
3124 3197
2363 2467
730« 736+
4549 4564

4484w

£
n—-
O\
N

2352
3370

417

4493+

2439

2448
3444

4499+

3664

4512+
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SW10 = 002000 4140

sWwil = 004000 Y130

swi2 = 010000 4124

SW13 = 020000 4114

SWwi4 = 040000 4104

sWis = 100000 4094

SW = 000004 4320

SW = 000010 4%1#

Swé = 000020 4304

SWwS = 000040 4%9#

swé = 000100 4284

sW? = 000200 YL

sw8 = 000400 Lo6n

w9 = 001000 454

SIADR 000646 6664 43 887 983 1079 4362 4372
SILN 000644 6654 786 882 978 1074 6361 437
s1m C01550 764 844H

S1T10 003630 1392 14584

S1T11 004044 1479 15454

S1T1§ 004256 1564 16304

38 004442 1648 17024

S1T14 004650 1716 17824

S1T15 005066 1804 18704

S1T16 005304 1893 19594

S1117 005522 1981 20474

S1T12 002032 860 9404

S1120 005736 2068 2134

S17121 006260 2164 22384

S17122 006514 2266 23324

S1123 006730 2354 26194

S17126 007256 2450 25254

S17125 007460 2553 26094

S1126 7640 2627 268

S1127 010020 2703 27584

S113 002314 956 1

S1730 010202 2778 28344

S1731 010364 2855 29114

S1732 010542 2927 29834

S1133 010722 3001 30574

S17134 011104 3077 31334

S1135 011262 3151 32064

S1736 011445 3224 32804

S1137 01162 3298 33544

S174 002576 1052 11324

S17T40 012002 3372 34282

S1T41  0*2160 3446 35014

S1T4 012336 3520 35754

S1T4 012514 3593 36482

S1T44 013002 3675 37394

S175 00%772 1148 12024

S176 003176 1217 12824

S117 003412 1303 13694

S2ADR 000652 6684 801 897 993 1089 4364 4374
S2LN 50 Y 796 892 988 1084 4363 4373
ST 001551 766 8464

S2T10 003634 1394 14634
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S2T11 004046 1481 15484

$2112 00426 1566 16334

SeT13 00444 1650 17044

ST14 004653 1718 17864

$2T1S 005072 1806 18754

s2T16 005307 1895 19634

5T17 005525 1983 20514

s2T2 002033 862 94N

$2T20 005741 2070 21384

$2T21 06 2166 2243H

2122 006520 2268 23374

2123 006 2356 24234

SoT24 007262 2452 25304

S2T2S 007463 2555 26134

2126 007644 2629 26884

seT27 010024 2705 27634

saT3 002315 958 10384

2130 010206 2780 28394

s2T31 010266 2857  2914#

132 010345 2929 29874

2133 010726 3003 30624

S2T3%, 011106 3079 31364

2135 011264 3153 32094

2136 011445 3226  3284#

ST37 011626 3300 33594

soTh 002577 1054 11344

$2T40 012006 337, 34334

SoT41 012164 3448 35064

S2T42 012341 3522 3579#

S2T43 012517 3595 36524

s2T44 013006 3677 37440

s2TS 002773 1150 12044

s2T6 003202 1219 12874

SeT7 003414 1305 13724

TABLE 000662 6720

1BIT = 000020 4834 439 4396

TBITVE= 000014 4678 714 715e

TBUF 000666 6748  (wor  2173% 2459+  3683% 4208+  4421%

TCSR 000664 8738 744r 2155 2177+ 2183 2441 2463« 2470 3666 3687+ 3694 4191 4212¢
4219 4404 4423+

TDONE 015070 2172 2458 3682 4207 44034

TEWP 000710 6838 717r 725 4403+ 4406+

TEMP1 000712 6848 769 B50  B6S* 946 961 1042 1057+ 1138

TEMP2 000714 6854 770+ 851 866* 947 962+ 1043 1058+ 1139

TINTRP 014712 509 43424

TKVEC = 000060 4748

TPSW 000672 6764  751% 2171+ 2256 2457+ 2543 3681+ 3751 4206+ 4273

TPVEC = 000064 475K

TRAPVE= 000034 4738 705+ 706%

TRTVEC= 000014 4684

IST1_ 001304 7614

TST10 003424 1368 13894

1STI1 003640 1457 14764

ISTle 004052 1544 15614

TST1 264 1629 16454

IST14 004444 1201 17134
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TST15 662
1ST16 005100
1S117 005316
TSTZ 001536
TST20 005532
TS121 005746
15722 006310
TST23 006526
18124 006742
TST2S 007306
TST26 007466
1ST27 007650
TST 002050
1ST30 010030
TST31 010212
T1ST32 010370
TST33 010550
TST34 010732
1ST3S 011112
1136 011270
TST37 011450
1574 002332
TST40 011630
TST41 012010
S142 012166
TST43 012344
TST44 012522
TST4S 013024
TST46 013176
TET47 013352
TSTS 002614
1ST50 013526
TSTS1 013702
15152 014056
rST53 014222
ST6 002774
1S17 003206
TVECT 000670
TYPE = 104401
TYPOC = 104402
TYPON = 104404
TYPOS = 104403
TZERO 014702
L§] 001374
TI1CONT 001402

T2
T2CONT 1664
T21CON 006004
}§4CON 007000
T3CONT 002146
T4

T4CONT 002430
T44CON 012560

X = 000000
XPSwW 015044

22-JAN-82 08:50 PAGE

08:49

1

H 8

00
CROSS REFERENCE TABLE -- USER SYMBOLS

2263#

25504

37594

36724
965

1061

1153

1222

Hwe
~NON
~NO

1308

3751 4205« 4273+
4844N

1397

1484

1569

1653

2

SEQ 0098

1809
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1898 1986 2073 2174 2271 2359 2460 2557 2631 2707 2782 2859 2931
3005 3081 3155 3228 3302 3376 3450 3524 3597 3684 3766 3839 3912
3985 4058 AKY 4209 43924

SAPTHD 000400 545 5514

SASTAT=z taenee | 4789 4804

SATYC 016542 760 L7624

SATY1 01651 47584

SATYS 016524 4608 4759

SATYSL 0165 4560 L7614

SAUTOB 000534 S84n

$BASE S 6464 742

$SBDADR 0005% S794 827+ 923+ 1019+ 1115«

SBODAT 100526 S81#

SCHARC 016264 4625+ 4635+ 4642 4668 46734

SCKSWR= teenen | 4850

SCLR.T 014574 4298 43014

SCATAG 000500 5674 695

scm3 = 000000 5974

$CPUOP 000614 6204

SCRLF 000563 5994 4551 4555 4579 4624 4676

SOEVCT 000576 6114

SDOAGN 014614 4290 4296 4303 43094

SENDAD 014604 532 738 L3054 4574

SENDCT 014546 709 4292#

SENULL 014660 43254

SENV 000606 6164 2157 2443 3668 4193 4557 4603 4767 479

SENVR 000607 6174 734 4605 4610 4769

$EOP 014516 4190 4196 42834

SEOPCT 014540 709« 42894 4293

SERFLG 000503 5704 4433 4462 4468+ 4478 4542% 4579

SERMAX 000515 S764 711% 4474 4478

SERROR 015546 703 456414

SERRPC 000516 ST7TH 4546 4547+ 4548 4552 4579

SERRTB 000644 6634

SERTTL 000512 S744 4545+ 4579

SESCAP 000560 5974 710% 4473« 4570 4572 4579

SETABL 000606 6154

SETEND 000644 557 6474

SFATAL 000570 6084 690 4795+

$FFLG 016762 4758« 4761+ 4789 4798+ 48064

SFILLC 000556 5954 4628 4676

$FILLS 000555 5944 4676

$GDADR 000520 5784

SGDDAT 000524 5

$GET42 014556 42954

SGTSWR= taneee | 4849

SHIBTS 000400 5524

SICNT 000504 5714

SILLUP 015530 4483 4499 4521#

$INTAG 000535 5854

SITEMB 000514 S754 4548+ 4559 4579

SLF 000564 6004 4579 4676

SLFLG 016761 4799+ 4BOSA

$LOOP 014652 4317 43214 4517

SLPADR 000506 S724 727%  4466% 4471+ 4476 4478

$LPERR 000510 5734 728+ 4466 4472+ 4478 4569
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SMADR1 000620 6334

SMADR? 000624 6374

SMADR3 000630 6404

S$MADRS 000634 643N

SMAIL 000566 553 557 6064 4470 4557 4603

SMAMST 000616 6274

SMAMS2 000622 6354

SMAMS 3 0006%6 6384

SMANSSL 000632 G4l

SMBADR 000402 5534

SMFLG 016760 6759 4765 4800  4804¥

SMSGAD 000602 6134 4775+ 4778

$MSGLG 000604 6144 4780+

MSGTY 000566 6074 691 4773 4781« 4793 L4797+

SMTYP1 000617 6284

sMYYP2 000623 6364

MTYP3 000627 6394

sMTYPL 000633 6424

SNULL 000554 5934 2173 2459 3683 4208 4421 4630 4676

SNWTST= 000001 7584 8544 9504 10464 11424 12114 12974 13864 14734 15584 16424 17104 17984
18874 19754 20624 21494 22604 23484 Q358 25478 26214 26978 27724  2B49K 29214
29954 30714 31454 32184 32924 33664 440N 35144 35874 36604 37564 38294 39024
39754 40484 41214 41854

SOCNT 016512 4709 4738+ 47514

SOMODE 016314 4704t 4708+ 4713 4716% 4727+ 47534

SOVER 015332 44643 4461 4467 L4754

$PASS 000574 6104 733« 2159 2445 3670 4195 4286+ 4287+ 43264

SPASTA 000406 5554

SPOWER 015536 4515 L5244

$PWRAD 015512 L5174

SPURDN 015346 707 44834 4512

SPURMG 015506 45154

SPWRUP 015620 4493 TYed

SQUES 000562 5984 4579 4676

SRDOCHR= tanens | 4850

SRODE(C= wewenn | 4850

SROL IN= weveee | 4850

SRDOCT= sweene | 4850

SRTNAD 014654 43234

SRTRN 014650 714 716~ 722« 4299 3184

SR2A = teneen | 4850

S$SAVRE= teene | 4850

$SAVR6 015534 4492+ 4501+ 4502+ 45234

$SCOPE 015150 701 Lo 1n

$SETUP= 37 4928 4285 44642 4519 45642 4567 4574

$STUP = 177777 L4928

SSVLAD 015276 4451 4463 44698

$SVPC = S304 535

$SWR = 171400 4814 597 598 762 858 954 1050 1146 1215 1301 1396 1477 1562
1646 1714 180 1891 1979 2066 2153 2264 %352 2439 2551 2625 2701
2776 853 292 999 3075 3149 3222 3296 370 3444 3518 3591 3664
3760 833 3906 979 4052 4125 4189 4279 4286 4297 4310 4324 4434
4635 4436 4437 4442 4454 4456 4457 4462 4463 4464 4469 447¢ 4475
4478 4518 4533 4534 4535 4536 4537 4545 4549 4564 4567 4579

SSWREG 000610 6184 736

SSWRMK= 000300 4828 4437 4438 4458 4459
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$TBIT 014656
STESTN 000572
$TxB 000546
3TKS 000544
$IN = 000054

$1PB
STPFLG
$TPS
$TRAP
STRAP?
$TRP =
$TRPAD
$ISTM
$TSTAM
$TYPBN=
$7YPDS=
$1YPE
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S$TYPEX
$TYPOC
$TYPON
$TYPOS
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(326K 4519+
4470+

4654 4676
758 7624
8584 876
972 980

1076 1081

1175 1179

1255 1259

1351 1382

1473 14778

1580 1587

1675 1679

1755 1759

1852 1863

1975 19794

2084 2091

2199 2203

2301 2305

2396 2401

2518 2547

2643 2650

2733 2737

2822 2828

29254 2943

3008 3032

3116 3121

3218 32024

3321 3325

307 311

3495 3514

3608 3615

3714 3718

3809 3829

3931 3935

4024 4029

4143 4150

4245 425

4676

4676

2441 3666

4846H  4B4TH
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SUNIT 000600
SUNITM 000410
SUSWR 000612
SVECT1 000636
SVECT?2 40
$XOFF = Q0 %3
$XON = 000021
SXTSTK 015160

$$GET4= 000001
SOFILL 016513
S4L0CAT= ananan |)
. = 017104

SASTA= wrenene |J
.3X = 000400

717 7524

SO1x 5064
664 601
43304 4478

L 8

5164 5214 5254
698 727 728
4495 4522 4579

530
16394
4676

S31a
17954
48074

5334
18834
48534

5354
19724
48554

561
22554

SEQ@ (10,

5424
25424
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3518

3444
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3075
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2853
4052
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2776
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SETPRI 1 “77n

SETTRA  4B364  4B4S 4846 4847

SETUP 1 3364 “77N

SK1P 4 “774

SKPINT J44n 2153 2639 3664

SLASH L4 LN

SPACE “774

STARS ” 3364 L7278 528 538 540 547 562 601 604 758 760 854 856 950
952 1046 1048 1142 1144 121 1213 1297 1299 1386 1388 1473 1475 1558 1560
1642 1644 1710 1712 1798 1800 1887 1889 1975 1977 2062 2064 2149 2151 2260
2262 2348 2350 o435 24637 2547 2549 2621 2623 2697 2699 2772 2774 2849 2851
2921 2923 2995 2997 3on 3073 3145 3147 3218 3220 3292 3294 3366 3368 3440
3442 3514 3516 3587 3589 3660 3662 3756 3758 3829 3831 3902 3904 3975 3977

SWRS 404$‘ 42;9‘ G 4123 4185 4187 6277 4430 4481 4497 4530 4582 4679 4757 815

WRSU

TCVTAN 3564 3782 3856 3929 4002 4075 4148 4229

TRMTRP 48364

TSTANS 3538 1269 1356 1445 1532 1617 1769 1857 1946 2034 2121 2225 2319 2406 2512

1S1CC 3524 1160 1228 1315 1404 14N 1576 1660 1728 1816 1905 1993 2080 2182 2278
2365 2469 25¢5 2639 2714 2790 2867 2939 3013 3089 3162 3236 3310 3384 3457
3531 3604 3693 3773 3847 3920 3993 4066 4139 4218

TSTGR 3694 1169 1237 1324 1413 1500 1585 1669 1737 1825 1914 2002 2089 2193 2287
2374 2480 2574 2648 2723 279% 2876 2948 3022 3098 3N 3245 3319 3393 3466

TSTREG 3634 785 881 977 1073

TTY 3664 2169 2455 3679 4204
TYPBIN 1 “778

TYPDEC » “77n

TYPNAM 14 L77n

TYPNUM 1 W77

TYPOCS 14 W778

TYPOCT 14 G774 4552

TYPTXT 14 L774

$SCMRE S60#

SSCMTM S60#

$SESCA » W77

SSNEWT 1 L7740 758 854 950 1046 1297 1473 55 164 1710

1142 2n 1386 1558 2 1798
1887 1975 2062 2149 2260 2348 2435 2547 2621 2697 2772 2849 2921 2995 3071
3145 3218 3292 3366 3440 3514 3587 3 3829 3975 8 1

$SSET 48360 4845 4846 4847

$$SKIP 1 W778

.EQUAT 14 3364 367
.HEADE 1

KT 14

.SETUP 1 3364 492
. SWRHI 14

-SACT1 14 3364 526
.$APTB 14 6024

.SAPTH 14 3364 536
.SAPTY 19 3364 4755
.SASTA 14

$CATC 14 364 495
.SCATA ;i 3364 560
. 14

.$0IV 14
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.$EOP

.$ERRO
.SERRT
LIMULT
. SPOWE
. SRAMD
.SRDDE
. SRDOC
.SREAD
.SR2AZ
.$SAVE
.$5820
.$5820
.35C0P
.$S12E
.$SUPR
.STRAP
.$TYPB
.3TYPD
.STYPE
.$TYPO
.$40CA
1170
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ERKORS DETECTED: O

CVKAJB.BIN,CVKAJB.LST/CRF/SOL/NL: TOC=SYSMAC. SML,CVKAJB.P11
RUN-TIME: 19
RUN-TIME RAT]O: 115/42=2.7

CORE USED:

39«

4275
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6479
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	0000_fiche=1,x=00,y=00
	0001_fiche=1,x=00,y=01
	0002_fiche=1,x=00,y=02
	0003_fiche=1,x=00,y=03
	0004_fiche=1,x=00,y=04
	0005_fiche=1,x=00,y=05
	0006_fiche=1,x=00,y=06
	0007_fiche=1,x=00,y=07
	0008_fiche=1,x=00,y=08
	0009_fiche=1,x=00,y=09
	0010_fiche=1,x=00,y=10
	0011_fiche=1,x=00,y=11
	0012_fiche=1,x=00,y=12
	0013_fiche=1,x=01,y=00
	0014_fiche=1,x=01,y=01
	0015_fiche=1,x=01,y=02
	0016_fiche=1,x=01,y=03
	0017_fiche=1,x=01,y=04
	0018_fiche=1,x=01,y=05
	0019_fiche=1,x=01,y=06
	0020_fiche=1,x=01,y=07
	0021_fiche=1,x=01,y=08
	0022_fiche=1,x=01,y=09
	0023_fiche=1,x=01,y=10
	0024_fiche=1,x=01,y=11
	0025_fiche=1,x=01,y=12
	0026_fiche=1,x=02,y=00
	0027_fiche=1,x=02,y=01
	0028_fiche=1,x=02,y=02
	0029_fiche=1,x=02,y=03
	0030_fiche=1,x=02,y=04
	0031_fiche=1,x=02,y=05
	0032_fiche=1,x=02,y=06
	0033_fiche=1,x=02,y=07
	0034_fiche=1,x=02,y=08
	0035_fiche=1,x=02,y=09
	0036_fiche=1,x=02,y=10
	0037_fiche=1,x=02,y=11
	0038_fiche=1,x=02,y=12
	0039_fiche=1,x=03,y=00
	0040_fiche=1,x=03,y=01
	0041_fiche=1,x=03,y=02
	0042_fiche=1,x=03,y=03
	0043_fiche=1,x=03,y=04
	0044_fiche=1,x=03,y=05
	0045_fiche=1,x=03,y=06
	0046_fiche=1,x=03,y=07
	0047_fiche=1,x=03,y=08
	0048_fiche=1,x=03,y=09
	0049_fiche=1,x=03,y=10
	0050_fiche=1,x=03,y=11
	0051_fiche=1,x=03,y=12
	0052_fiche=1,x=04,y=00
	0053_fiche=1,x=04,y=01
	0054_fiche=1,x=04,y=02
	0055_fiche=1,x=04,y=03
	0056_fiche=1,x=04,y=04
	0057_fiche=1,x=04,y=05
	0058_fiche=1,x=04,y=06
	0059_fiche=1,x=04,y=07
	0060_fiche=1,x=04,y=08
	0061_fiche=1,x=04,y=09
	0062_fiche=1,x=04,y=10
	0063_fiche=1,x=04,y=11
	0064_fiche=1,x=04,y=12
	0065_fiche=1,x=05,y=00
	0066_fiche=1,x=05,y=01
	0067_fiche=1,x=05,y=02
	0068_fiche=1,x=05,y=03
	0069_fiche=1,x=05,y=04
	0070_fiche=1,x=05,y=05
	0071_fiche=1,x=05,y=06
	0072_fiche=1,x=05,y=07
	0073_fiche=1,x=05,y=08
	0074_fiche=1,x=05,y=09
	0075_fiche=1,x=05,y=10
	0076_fiche=1,x=05,y=11
	0077_fiche=1,x=05,y=12
	0078_fiche=1,x=06,y=00
	0079_fiche=1,x=06,y=01
	0080_fiche=1,x=06,y=02
	0081_fiche=1,x=06,y=03
	0082_fiche=1,x=06,y=04
	0083_fiche=1,x=06,y=05
	0084_fiche=1,x=06,y=06
	0085_fiche=1,x=06,y=07
	0086_fiche=1,x=06,y=08
	0087_fiche=1,x=06,y=09
	0088_fiche=1,x=06,y=10
	0089_fiche=1,x=06,y=11
	0090_fiche=1,x=06,y=12
	0091_fiche=1,x=07,y=00
	0092_fiche=1,x=07,y=01
	0093_fiche=1,x=07,y=02
	0094_fiche=1,x=07,y=03
	0095_fiche=1,x=07,y=04
	0096_fiche=1,x=07,y=05
	0097_fiche=1,x=07,y=06
	0098_fiche=1,x=07,y=07
	0099_fiche=1,x=07,y=08
	0100_fiche=1,x=07,y=09
	0101_fiche=1,x=07,y=10
	0102_fiche=1,x=07,y=11
	0103_fiche=1,x=07,y=12
	0104_fiche=1,x=08,y=00
	0105_fiche=1,x=08,y=01

